[2018]

Right Angle Reducers S5 %8R A E 32 8 5 & %

B8

]
L
@
5
i}
B
E'3
L]
i
pid
1%
&
B
%
@
&
X
fie
&
:F
g
b
bed
t

[ mozEmmrSssE /| REgOBESSE |



4 '7.-' ~ . h T,
’ J N [ " b =
», - - \ 4
? § \} i P S
> . oS N
» . i I -
J ’ F : \
> y / | | | 1
L & 2 7 i T i \ A

Quality First & Customer's Satisfaction

EERERHBER - SEE T MFIAZEE

Space can be more effectively used by right angle reducer

& LIMING

Vi




E m L5 MODEL

BEIRIRLE
1-Stage

SRR R LD
2-Stage

/)B4

Min. Backlash ~ &remn

B — R

i 4 arcmin
BRE(L

BHABRAANES
Max. Input Power

BEE I AR rom
Rated Input Speed P

B A AR
Max. Input Speed

Efficiency

2 36 42 70 74 80 98
123 2 151015 | 51015 | 51015 | 10 20 301 510~ 18
10~50 | 10~50 | 25~150 . . - |25-50- 100

<3 <10 <3 <3 <3 <8 <1

<2 <2 <2 <2 <2 <10 <2

22 0.4 22 11 11 15 15

2,000~3,000 | 2,000~3,000 | 2,000~3,000 700~4,000 = 700~4,000 2,000 3,000
3,000~7,500 7,000 | 4,500~8,000 3,000~6,000 3,000~6,000 3,000 | 4,500~6,000
94% ~ 98% | 94% ~ 98% | 93% ~96% | 93% ~96% = 296% | 55%~90%  =98%




ek

58m)83%=% HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST series

g R

Indication of Model Numbers
N

sTjoog F | N | B § -- PO

R T
Type

ST

AR
Model

65
75
90
110
140
170
210

ANFER
Input

F: AJEE
Input Flange

R44: &1 Reducer

1-Stage:
R44 - R62...
2-Stage:
R62S...
2-Stage (A-Type) :
R44A - R62A...

D: BANED (BR1E)
Single Input Shaft
(Keyway)

D1: EA DS (IR )
Single Input Shaft
(No Keyway)

Y: EADE (FBRE )
Double Input Shaft
(Keyway)

Y1: AN (BRE)
Double Input Shaft
(No Keyway)

HARR
Qutput

O: HAspzEdh
Hollow Output Shaft

N: EEREHME (ARE)
Single Clamping
(Keyway)

N1: BIERREE (BRE)

Single Clamping
(No Keyway)

M: EERRBWHE
Double Clamping

S: EHRANEL (BHE)
Single Output Shaft
(Keyway)

S1: B 80 (HEE )
Single Output Shaft
(No Keyway)

V: EH N0 (BHE)
Double Output Shaft
(Keyway)

VA EH D (HERE)
Double Output Shaft
(No Keyway)

P: 124830
Ball Screw (75#~210#)
PR AR R S Eh
Taper Bearing Only

@EE P H/ T

Bearing

B: IRIREHIH

Ball Bearing
(65#~210#)
(Ratio: 1~5)

T "R Eh K

Taper
Bearing
(75#~210#)
(Ratio: 2~5)

Ratio

EE 1-Stage
1,2,3,4,5

BECEER
TERERE
With 1-Stage
Planetary
Reducer

10 ~ 50

B EER
TTEmEH
With 2-Stage
Planetary
Reducer

75~ 500

Shaft
Direction

L: Z= 8

Left Shaft
R: AE

Right Shaft

1. BHAER

N STl
E#hm

Shaft direction
is optional for
output type N,
S.

2. BT P
= RE#E
Output type
P only for R
shaft.

BIREH
Backlash
Class

PO
P1
P2

The Model & Ratio Table of Bevel Gear Reducer Assembly Planetary Reducer

Ax b B A SR B R B 1T 22 OR) AR
ERERRAESR | (TR RS

Planetary
Reducer Model

A5 SIRLE—

BRITERIERIRLE
Ratio of 1-Stage

Planetary Reducer
5-10

EERATE R IRLD

Ratio of 2-Stage

Planetary Reducer
25-50-

100

75

90
110
140
170

210

aAroON -

44
62 P
90 62
90 80
120 90
142 120
180 142

R ERTERRMERRE
Ratio of Bevel Gear Recucer Fitted
with 1-Stage Planetary Reducer

10-15-20-25-30-40+50

BB RTERRMERRE
Ratio of Bevel Gear Recucer Fitted
with 1-Stage Planetary Reducer

75+100 ~

125~

150 ~ 200 -
250 ~ 300 -~ 400 - 500




Selection of Type

g4 X 3+ EE

adA] indino

EmixTUERE

A 71 # = Input Type

F ADER R JBLIR D E A
Input Flange Reducer Single Input Shaft

(0]
aapalskAy i
Hollow
Output
Shaft

N
B
RIRHE
Single
Clamping

M
iz
RIBME
Double
Clamping

S
E Ak
Single
Output Shaft

\
€ 1 E
Double
Output Shaft

P
2420

Ball Screw

1. B0 N ~ S o] BUEEIZE#E G - Shaft direction is optional for output type N, S.
2. HOfE P %4 R #@ - Output type P only for R shaft.

Y & A AED
Double Input Shaft




= 15 2 2 e AR B 8 ) 2 1%  HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

Rotating Direction
fie #3877 )7 AR

L
Shaft Direction

L B[
Shaft Direction

R @@
Shaft Direction

RATERIZEMER "1REHMD
Standard product is L shaft direction, R shaft direction is optional.

HE 2
Output Shaft 2

ki
Input Shaft 1

H 7 1
Output Shaft 1

A8 1
Input Shaft 1

H 78 1
Output Shaft 1

s 2
Output Shaft 2

A8 1
Input Shaft 1

- REEEEIE] B _EREER -

HEh 2
Output Shaft 2

]

AT 2 o by AT78 1
Input Shaft 2 ‘ Input Shaft 1

78 1

A8 2 o f : Y A8 1
[ i Input Shaft 1

HE 1
Output Shaft 1

s 2
Output Shaft 2

A8 2 I s P NCY
Input Shaft 2 r i Input Shaft 1




Selection Direction of Installation
LT O]

A8
Input Shaft

[Note 1]

[ Note 1] WA #hiImInEEERP LR HBEISHMEERSH-

Side 4 operation shall be avoid.




= 15 2 2 e AR B 8 ) 2 1%  HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

Features of ST Series
ST A5 E i,

SEAERETIER: J
e HWMRSHMNEHKERN  MEBBETS
AGMA12 FRIZEEDIA -

High precision grinded and carburized

spiral bevel gears

@ High precision grinded and carburized spiral
bevel gears to meet standard AGMA12.

RB(ERIERET N CAE DTl
o %P3 Gleason ZHEMR T - BARECEBEDENENLY - RETREBEURE/\RE -
o iFF3 3D-CAE BUESMIRE AATHRIN - WA RHEEAERIFESERETHN - WNERARAREOERSED -

Optimized Design and CAE Analysis

e Use Gleason's design software to design new spiral bevel gears. Through the ideal gear contact pattern for
application, achieve high permissible output torque.

¢ Employs 3D-CAE software for analysis and design, the software allows for analyzing the strength of the entire gear
reducer and helical teeth. Increasing the service life of gears and the gear reducer.




Features of ST Series
ST 4| Emi4FEL

=1

o {5 Gleason £ & m /L& -
MIMESRENVIRERER  BRE
Hhe - EIRE -

o BEE/NTZE 2 WO LUA -

Low Backlash

® Using Gleason high precision CNC
grinding machine to grinding the
spiral bevel gears.

e Torsional backlash depending on
design up to <2 arcmin.

ZERAE

o ZE/BMIEKEMSHRALE - BRAR

EERESD -

o AENEMRERFTTILUBRAREEIR

ERRBHNEX -

Mounting Position

® Multiple precision machined surface
is easy for assembly, suitable for

any optional mounting orientation.

® Qutput shaft and input shaft
are designed to suit for various

industries applications.

EERRIZELD

s SREMENBRR2ERELE SR
EERSTNWITELNEHRAIUIES
500:1 AR EREE

More High Gear Ratio

® High precision grinded and
carburized spiral bevel gears with
optimal designed planetary gear can
do ratio 500: 1.

RIRE
s ARBMATRBBEMH BES®
E -

No Maintenance
® |t features no maintenance and long
service life.

SHERE

o r;E%Et@%ﬁmﬁgﬁﬁ%%jtlﬂm@mﬁﬁ

o FEBEE EAMMARRE &
E2TE - ESEMNIBENR TEEETIR
SR ARRRELS

High Output Torque

® The gear box is one-piece
constructed to ensure the high
rigidity and corrosion-resistant
capability.

B AR

o AR BERNBERAREIIAYH
EHE - WA TFEDH - DIRERE
SEBABE NS TENEOENF
BE  REFRNOEBNEE -

Collet Locking Mechanism

® The input-end and the motor are
coupled through a collet locking
meshanism. It has passed
dynamical balance analysis to
assure concentricity and balance on
the connection and no backlash for
power transmission while running at
high speed.




S5 R e

¥R 3R %% HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

Characteristic of ST Series

ST 2SI EmfFHE

EEDRIZRT 1-Stage

os | EBAII
#11& Model No. -
1,300
2 24 42 68 150 330 544 1,220
X8 E#HHE / Rated Output Torque
Tox Nm 3 18 33 54 120 270 450 1,020
(Nominal output torque)
4 13 28 52 100 224 376 860
5 12 25 40 85 196 320 740
e ANRAKE / Max. Acceleration Torque [eS Nm 1~5 1.5 SEEEML AL 1.5 Times of Rated Output Torque
B AT IR / Max. Output Torque
_ T, Nm 1~5 3 [FEAEHI LR 3 Times of Rated Output Torque
={=1R%E / Emergency Stop Torque ot E ! Bkt
5 E 8 A B3R / Rated Input Speed Bivs rom 1~5 3,000 3,000 3,000 2,500 2,500 2,000 2,000
B A AR / Max. Input Speed g rpm 1~5 6,000 6,000 5,500 4,500 3,500 3,000 3,000
PO - <3 <3 <3 <3 <3 <3
# PR / Backlash arcmin | P1 <6 <6 <6 <6 <6 <6 <6
P2 <9 <9 <9 <9 <9 <9 <9
BFFEEA | Max. Radial Force
. Fon N 1~5 700 1,050 1,500 2,360 3,080 4,800 6,400
JRIKERX Ball Bearing
AETEIE Y / Max. Axial F
= ax. Axial Force Pl N | 15| 350 525 750 | 1180 | 1540 | 2400 | 3,200
SRER#H7 Ball Bearing
BEFE@EA / Max. Radial F
SRR (LTI Fas | N | 1~5 - 2,400 | 3,200 | 5000 | 6,500 | 9,100 | 13,000
TR 87K Taper Bearing
AETEIE Y] / Max. Axial F
= ax. Axial Force P | N | 1-5 ; 1,200 | 1,600 | 2500 | 3250 | 4550 | 6,500
R Taper Bearing
. . _ S5 FHAZE# : >30,000 (S1 E4EE# : >15,000 hrs)
/8 / Service Life = hr 1~5 S5 Cycle Operation: >30,000 (S1 Continuous Operation: >15,000 hrs)
v # | Efficiency n % 1~5 94% ~ 98%
/ Operating Temperature °C 1~5 -30°C ~ +100°C
bes| & / Lubrication 1~5 2 5B M Synthetic Oil
&2 & {8 / Noise Level dB 1~5 <65 <67 <71 <73 <74 <75 <77

Eﬁib Z & Mass Moments of Inertia (kgcm?)

——m—

0.51 1.79 4.93 12.5 36.8 85.9
2 0.44 0.95 2.78 7.41 15.6 39.3 123
3 0.43 0.78 2.34 6.18 10.9 28.5 841
4 0.43 0.72 2.18 5.71 9.19 245 69.9
5 0.43 0.69 2.10 5.48 8.32 22.6 62.7




Characteristic of ST Series

ST 2SI EmiFHE

EES R EE 2-Stage

on| BB | ZREG
#2118 Model No. . .
10 24 42 68 150 330 544 1,220
15 18 33 54 120 270 450 1,020
20 13 28 48 100 224 376 860
XA e 4B / Rated Output T
sl (Na © I” ptu t?rque : .| Nm | 25 12 25 40 85 196 320 740
ominal output torque
30 18 33 54 120 270 450 1,020
40 13 28 52 100 224 376 860
50 12 25 40 85 196 320 740
EANNZRAFE / Max. Acceleration Torquelii/s Nm | 10~50 1.5 fZREAEH LA 1.5 Times of Rated Output Torque
B AR / Max. Output Torque
Zﬁ%%ﬁ | Emergency Sfop Torzue Tmor| Nm | 10~50 3 fZREEH AR 3 Times of Rated Output Torque
NN rpm 10~50 | 3,000 3,000 3,000 3,000 3,000 3,000 3,000
N rpm 10~50 | 6,000 6,000 6,000 6,000 6,000 5,000 5,000
PO - <4 <4 <4 <4 <4 <4
P& / Backlash arcmin | P1 <7 <7 <7 <7 <7 <7 <7
P2 <10 <10 <10 <10 <10 <10 <10
B[ | Max. Radial Force
- . . N 1~5 700 1,050 1,500 2,360 3,080 4,800 6,400
YR IRER7E Ball Bearing
REFEE ] / Max. Axial Force
wi%ﬁﬁ;( Ball Beari Fop N 1~5 350 525 750 1,180 1,540 2,400 3,200
b all Bearing
RFFEEA / Max. Radial Force
S8 BH7A Taper Beari Fop N 1~5 - 2,400 3,200 5,000 6,500 9,100 13,000
=S er Bearing
REFEE) ] / Max. Axial Force
487 Taper Bearing F,» N 1~5 - 1,200 1,600 2,500 3,250 4,550 6,500
ok i
. . _ S5 ERAERE : >30,000 (S1 EAERE : >15,000 hrs)
2% / Service Life Ly | hr 110~50 | oo cyele Operation: >30,000 (S1 Continuous Operation: >15,000 hrs)
M * | Efficiency n % 10~50 90% ~ 94%
Ed & / Operating Temperature °C 10~50 -30°C~+100°C
¥ 3B/ Lubrication 10~50 2 EAUEBH Synthetic Oil
= {B / Noise Level dB 10~50 <68 <69 <73 <74 <75 <76 <78

)82 Mass Moments of Inertia (kgcm?®)

#REE Ratio
10

|65 | 75 | 9 | 110 | 140 | 170 | 210 _
8.9

0.05 0.15 0.18 0.41 0.56 3.25
15 0.05 0.15 0.18 0.41 0.56 3.25 8.9
20 0.05 0.15 0.18 0.41 0.56 3.25 8.9
25 0.05 0.15 0.18 0.41 0.56 3.25 8.9
30 0.05 0.15 0.16 0.38 0.53 3.09 8.4
40 0.05 0.15 0.16 0.38 0.53 3.09 8.4
50 0.05 0.15 0.16 0.38 0.53 3.09 8.4




S5 R e

Rl 2% HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-FO series

RATIO : 1.2.3.4.5 ( EEE% 1-Stage)

ANER - HAPZEH
Input Flange - Hollow Output Shaft

(Front & Back)

? B8 h7
o 1 e T
Yol
Ba e | T 2
<
| G E—— $
ﬁ} | | —N
8-B9
(Up & Down) \&“
B1
8-B9 oB3 B2
B4 B6

. D
w
| A1
(NIFD42(5)EE)
A1 D E

®42 | 12 | 453
48 | 14 | 51.8
55 | 16 | 59.3
unit: mm

10

S N I I R I R
A1 19-24 2224 28-32 42-48-55
A2 50-60-70 | 50-60-70 | 50-60-70 | 70-80-95-110 | 70-80-95-110 | 95110130 | 110130180 |{114.3-180-230

A A3 M4 -M5-M6{M4-M5-M6|M4-M5-M6, M5-M6-M8 M5-M6-M8 |M6-M8-M10| M8-M10-M12 M10~M12-M16
A4 70-75-90 | 70-75-90 | 70-75-90 [90:100-115-145|90-100-115-145|115-145-165| 145-165-200 | 200215265
A5 64-70-80 | 64-70-80 | 64-70-80 92-110-130 92-110-130 |122-130-150| 146~150-190 | 182-200-250
A6 M5 x P0.8 | M5xP0.8 | M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5
B1 110 110 115 148-162 177191 224 274 357-359
B2 45 45 40 5872 6781 84 104 147
B3 65 65 75 90 110 140 170 210
B4 52 52 60 72 88 110 134 170
B5 26 26 30 36 44 55 67 85
B6 36 36 36 51-65.5 51-65.5 68 84.5 117119
B7 7 7 7 9-23.5 9-23.5 10 9.5 14-16
B8 62 64 73 88 106 135 164 205
B9 M5 x P0.8 | M5xP0.8 | M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0
C1 84 89 100 118 144 174 204 250
Cc2 42 44.5 50 59 72 87 102 125
C3 42 44.5 50 59 72 87 102 125
C C4 2 2 2 2 2 2 2 2

C5 5 5 5 6 8 10 12 14
Ccé6 16.3 16.3 16.3 20.8 25.3 35.3 43.3 53.3
Cc7 14 14 14 18 22 32 40 50

E 17 17 24 43 71 14.9 24.5 46




ST-RO series

RATIO : 10.15.20.25.30.40.50 ( #8E% 2-Stage)
BETEREN - B P

Fitted with Planetary Reducer - Hollow Output Shaft %
A0
‘ ? B8 h7 ‘ N
\ | \
[ \ ]
|
o | e —
2 o =
32 | 'e)
oy —————@ Ly—t——H—1 <
O (%7777‘777%?\ O
Q:‘:L g
R | —
8-89 | '
(Up & Down) ‘ ®B8 h7
B1
oB3 B2
8-B9 B4 B6 C4
(Front & Back) B5 B7
1 c5
|
e z
HEes % (<2 ©
&
=1 &
— Q
8-B9 =
(Front & Back) 12 '77
)
<
unit: mm

S T T T T T
A1l 811 811 (14)~19 19-24 28-32
A2 30-40-50 | 30-40-50 | 50-60-70 | 50-60-70 | 50-70-80-95 | 70-80-95-110 | 95110130 | 110:130-180

A A3 M3-M4-M5|M3-M4~M5|M4~M5-M6| M4~ M5~ M6 M5~ M6 M5-M6 M8 M6-~M8-M10 | M8~ M10~M12
A4 46-60-63 | 466063 | 70-75-90 | 70-75-90 [70-90-100-115/90-100-115-145|115-145-165| 145165200
A5 4655 4655 64-70-80 | 64-70-80 80-92-110 92-110-130 122-130-150| 146-150~190
A6 M4 x P0.7 M4 x P0.7 | M5xP0.8 | M5xP0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5
B1 132 137 149 165 (191)-203 260 313 394
B2 67 62 74 75 (81)~93 120 143 184
B3 65 75 75 90 110 140 170 210
B4 52 60 60 72 88 110 134 170
B5 26 30 30 36 44 55 67 85
B6 26 26 33.5 33.5 (33.5)-45.5 59 67 85
B7 5 5 6 6 (6)~10 9 10 10
B8 62 73 73 88 106 135 164 205
B9 M5 x P0.8 M6 x P1.0 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0
C1 84 100 100 118 144 174 204 250
Cc2 42 50 50 59 72 87 102 125
C3 42 50 50 59 72 87 102 125
C C4 2 2 2 2 2 2 2 2

C5 5 5 5 6 8 10 12 14
Cc6 16.3 16.3 16.3 20.8 25.3 35.3 43.3 53.3
Cc7 14 14 14 18 22 32 40 50

EE 1.9 3.6 3.4 4.8 8.5 14.2 24 52

11




=152 IR e 25 e 8 Bl 3R % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-DO series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

12

BANEL - Az ; o )
Single Input Shaft - Hollow Output Shaft \ X . :
a @) \ y ‘ 2 g
‘ ?B10 h7 R \ 4
[ B B2 B1
< | 4 A2
& 4 -
Yo
@ t+-—e—-t-He= Q| ££
o @Al n7 A4
j"h | S | Q}
_ A-A SECTION
8-B11
(Up & Down) ‘ @ B10 h7
B3
oB5 B4
8-B11 B6
(Front & Back) B7 B8 C4
|
_ B9
NG C5
A —
® . -
N [(e]
_ _ - — 3
o I
® L A ®C;\ )
9 ¢ | 8-B11

(Front & Back)

unit: mm

B I T T T
14 14 16 18 22 32 40 50

A1
A2 5 5 5 6 6 10 12 14
A3 16 16 18 20.5 24.5 35 43 53.5
A4 | M5xP0.8 | M5xP0.8 | M5xP0.8 | M8xP125 | M8xP1.25 | MIOXP15 | M12xP175 | M12x P175
B1 2.5 2.5 25 5 5 5 5 5
B2 15 15 25 25 30 40 50 65
B3 127.5 127.5 143 168.5 207 250 300 375
B4 62.5 62.5 67.5 78.5 97 110 130 165
B5 65 65 75 90 110 140 170 210
B6 52 52 60 72 88 10 134 170
B7 26 26 30 36 44 55 67 85
B8 22 22 32 38 43 B 64 77
B9 20 20 30 35 40 50 60 75
B10 62 64 73 88 106 135 164 205
B11 | M5xP0.8 | M5xP0.8 | M5xP0.8 | M6xP1.0 | M8xP125 | MI0xP1.5 | M12xP1.75 | M16x P2.0
ct 84 89 100 118 144 174 204 250
c2 42 44.5 50 59 72 87 102 125
c3 42 445 50 59 72 87 102 125
c4 2 2 2 2 2 2 2 2
c5 5 5 5 6 8 10 12 14
c6 16.3 16.3 16.3 20.8 25.3 35.3 433 53.3
c7 14 14 14 18 22 32 40 50
g8 2.1 2.1 2.8 4.9 9 15.5 25 53




ST-YO

series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

LA - B

Double Input Shaft - Hollow Output Shaft

$B10n7

B1 B2 B2 B1
— , _
© | 4 A2
~ ‘ 1
@ S 2
0o J ! i o
B "=l U6
——— oat |\
7 N R E
L_| | $_
A-A SECTION
8-B11
(Up & Down) ‘ ?B10 n7
B3
B4 ‘ B4
\
oB5
B6
B8 | B7 B8 c4
B9 _ - _ B9
© @ | N\@ C5
A A
@ ® -
na | 77NN | I 5 o
O $ @ /\06 B
A A (DQ
| | &7 8-B11
8-B11 ' (Front & Back)

(Front & Back)

unit: mm

O N N T T T N P

N 14 14 16 18 22 32 40 50

A Y 5 5 5 6 6 10 12 14
A3 16 16 18 20.5 24.5 35 43 53.5
A4 | M5xP0.8 | M5xP0.8 | M5xP0.8 | M8xP1.25 | M8xP1.25 | MIOxP15 | M12xP1.75 | M12xP1.75
B1 25 25 2.5 5 5 5 5 5
B2 15 15 25 25 30 40 50 65
B3 190 190 210 247 304 360 430 540
B4 95 95 105 123.5 152 180 215 270
B5 65 65 75 90 110 140 170 210
B6 52 52 60 72 88 110 134 170
B7 26 26 30 36 44 55 67 85
B8 22 22 32 38 43 53.5 64 77
B9 20 20 30 35 40 50 60 75
B10 62 64 73 88 106 135 164 205
B11 | M5xP0.8 | M5xP0.8 | M6xP1.0 | M6xP10 | M8xP1.25 | MIOXxP15 | M12xP175 | M16xP2.0
Ct 84 89 100 118 144 174 204 250
c2 42 44.5 50 59 72 87 102 125
c3 42 445 50 59 72 87 102 125

C B 2 2 2 2 2 2 2 2
5 5 5 5 6 8 10 12 14
cé 16.3 16.3 16.3 20.8 25.3 35.3 433 53.3
c7 14 14 14 18 22 32 40 50

E 2.85 2.85 3.6 6.2 1.5 18 28 57

13




14

ST-FN series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

ANER - B

RIBHE

Input Flange - Single Clamping

B5

oB3
B4

8-B9
(Up & Down)

8-B9

(Front & Back)

A5

= ia 2 12 e 2R e R B R HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

+ 1 e
A
i I 777::4|F7
Ty
& -
R &
Shaft Direction
c1
Cc3 __ C2
c4
A3 AB
=
o %
% &
T
c5 R

(NITHP 42(2)AE)
A1 | D E
42 | 12 | 453
948 | 14 | 518
$55 | 16 |59.3

unit: mm

al e Jeman] e L e e |
1924 2224 2832 424855
A2 | 506070 | 506070 | 506070 | 70-80-95-110 | 708095110 | 95:110~130 | 110~ 130180 |114.3-180 230
AW A3 M4 M5-M6|M4 M5 M6|M4-M5-M6| M5-M6-M8 | M5 M6-M8 | M6:M8-M10|M8:M10+M12|MI0-M12+M16
A4 | 70-75-90 | 70-75-90 | 70-75-90 |90100 11514590100 115+ 145|115+ 145165 145165200 | 200215265
A5 | 64-70-80 | 64-70-80 | 64:70-80 | 92:110-130 | 92-110-130 |122130-150| 146150190 182200250
A6 | M5xP0.8 | M5xP0.8 | M5xP0.8 | M6xP1.0 M6xP1.0 | M8xP1.25 | M10xP1.5 | M10xP15
B1 110 110 115 148162 177191 224 274 357359
B2 45 45 40 5872 6781 84 104 147
B3 65 65 75 90 110 140 170 210
B4 52 52 60 72 88 110 134 170
B5 26 26 30 36 44 55 67 85
B6 36 36 36 51-65.5 51-65.5 68 84.5 17
B7 7 7 7 9-23.5 9:23.5 10 9.5 1416
B8 62 64 73 88 106 135 164 205
B9 | M5xP0.8 | M5xP0.8 | M6xP1.0 | M6xP1.0 M8xP1.25 | M10xP1.5 | M12xP175 | M16xP2.0
c1 104 109 120 138 169 202 240 285
c2 42 44.5 50 59 72 87 102 125
c3 62 64.5 70 79 97 15 138 160
c4 2 2 2 2 2 2 2 2
&5 110 13 124 142 171 202 242 288
C 5 5 5 6 8 10 12 14
c7 16.3 16.3 16.3 20.8 25.3 35.3 43.3 53.3
cs 14 14 14 18 22 32 40 50
co 22 22 22 28 34 44 52 65
10 6-M6 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8
S8 1.7 1.7 2.4 4.3 74 14.9 24.5 46




ST-RN series

RATIO : 10.15.20.25.30.40.50 ( #8E% 2-Stage)

BETEREN - EERRHE

Fitted with Planetary Reducer - Single Clamping

B3
B4
B5

8-B9

(Front & Back)

B2

B6

|

|
[ s e o e @
r”Tuqf‘— ?
L‘Fié 2
L FEETd o <

|

(Front & Back)

R &

C4

8-B9

unit: mm

0 I N I T I T T
A1l 811 811 14 14 (14)~19 19-24 2832 35
A2 30-40-50 | 30-40-50 | 50-60-70 | 50-60-70 | 50-70-80-95 | 708095110 | 95110130 | 110130180
A A3 M3-M4-M5| M3 M4~ M5 | M4-M5~M6 |M4-~M5 -~ M6 M5~ M6 M5~M6-M8 M6-M8-M10 | M8+ M10 - M12
A4 46-60-63 | 466063 | 70-75-90 | 707590 |70-90-100-115/90-100-115-145| 115-145-165 | 145-165-200
A5 46~ 55 4655 64-70-80 | 64-70-80 80-92-110 92-110-130 122-130-150 | 146~150~190
A6 M4 x P0.7 | M4 xP0.7 M5 x P0.8 | M5xP0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5
B1 132 137 149 165 (191)-203 260 313 394
B2 67 62 74 75 (81)-93 120 143 184
B3 65 75 75 90 110 140 170 210
B4 52 60 60 72 88 110 134 170
B5 26 30 30 36 44 55 67 85
B6 26 26 33.5 33.5 (33.5)-45.5 59 67 85
B7 5 5 6 6 (6)-10 9 10 10
B8 62 73 73 88 106 135 164 205
B9 M5 x P0.8 M6 x P1.0 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0
C1 104 120 120 138 169 200 240 285
Cc2 42 50 50 59 72 87 102 125
C3 62 70 70 79 97 113 138 160
C4 2 2 2 2 2 2 2 2
C5 118 124 124 142 171 202 242 288
C C6 5 5 5 6 8 10 12 14
Cc7 16.3 16.3 16.3 20.8 25.3 35.3 43.3 53.3
C8 14 14 14 18 22 32 40 50
Cc9 22 22 22 28 34 44 52 65
Cc10 6-M6 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8
E8 1.9 36 3.4 4.8 8.5 14.2 24 52

15



=152 IR e 25 e 8 Bl 3R % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-DN series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

BANEL - BEERREE
Single Input Shaft - Single Clamping

16

‘ ?B10 h7 ‘
| | | =
[ | ] B2 . B [ | ]
o o A2 s | e
|
© EL LA A
DDJ o f*f—? : %**7**75 S:) N - - : %7*7**7%
i X —T N
- SV R
? l____‘____J q} {D | S - $
T ]_ A-A SECTION T ]_
8-B11 ‘
(Up & Down)
| ?B10 h7 R
Shaft Direction
B4 C1
8-B11
(Front & Back) B8
clo ||
A o
1 i /l,%\\ AR
\ WM ©
I o DO -
A ®O . O@
8-B11
(Front & Back)

unit: mm
L o5 | os | 75 | so | w0 | w0 | m | 20
A1 14 14 16 18 22 32 40 50
A A2 5 5 5 6 6 10 12 14
A3 16 16 18 20.5 24.5 35 43 53.5
A4 M5 x P0.8 M5 x P0.8 M5 x P0.8 M8 x P1.25 M8 x P1.25 M10 x P1.5 M12 x P1.75 | M12 x P1.75
B1 25 2.5 2.5 5 5 5 5 5
B2 15 15 25 25 30 40 50 65
B3 127.5 127.5 143 168.5 207 250 300 375
B4 62.5 62.5 67.5 78.5 97 110 130 165
B5 65 65 75 90 110 140 170 210
B6 52 52 60 72 88 110 134 170
B7 26 26 30 36 44 55 67 85
B8 22 22 32 38 43 53.5 64 77
B9 20 20 30 35 40 50 60 75
B10 62 64 73 88 106 135 164 205
B11 M5 x P0.8 M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 xP1.25 | M10xP1.5 | M12xP1.75 | M16x P2.0
C1 104 109 120 138 169 202 240 285
c2 42 445 50 59 72 87 102 125
c3 62 64.5 70 79 97 115 138 160
c4 2 2 2 2 2 2 2 2
c5 110 113 124 142 171 202 242 288
C c6 5 5 5 6 8 10 12 14
c7 16.3 16.3 16.3 20.8 25.3 35.3 43.3 53.3
c8 14 14 14 18 22 32 40 50
Cc9 22 22 22 28 34 44 52 65
Cc10 6-M6 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8
=) 2.1 2.1 2.8 4.9 8.59 15.5 25 53




ST-YN series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)
AN - BB RRHE

Double Input Shaft - Single Clamping

?B10w By Ny
BI _ B2 | | B2 Bi /i

o i &[] A2 [+ | &[]
olol® BN A . N A
s (S L H S St -1
e care | =
FY l____i____J _¢_ _¢_ L___I____J _$_
— — A-A SECTION — —
8-B11
(Up & Down) REH}
Shaft Direction
B3
B4 ‘ B4
\
oB5
B6
B8 B7 B8
N
B9 _ _ B9
© @ | \®

~ @
®
@
N\@
[

8-B11
8-B11 (Front & Back)
(Front & Back) - Cs

unit: mm

I I T T I I N
Al 14 14 16 18 22 32 40 50
A2 5 5 5 6 6 10 12 14

A3 16 16 18 20.5 24.5 35 43 53.5
A4 M5 x P0.8 M5 x P0.8 M5 x P0.8 M8 x P1.25 | M8 x P1.25 M10xP1.5 | M12xP1.75 | M12x P1.75

B1 25 2.5 2.5 5 5 5 5 5
B2 15 15 25 25 30 40 50 65
B3 190 190 210 247 304 360 430 540
B4 95 95 105 123.5 152 180 215 270
B5 65 65 75 90 110 140 170 210
B6 52 52 60 72 88 110 134 170
B7 26 26 30 36 44 55 67 85
B8 22 22 32 38 43 53.5 64 7
B9 20 20 30 35 40 50 60 75
B10 62 64 73 88 106 135 164 205
B11 M5 x P0.8 M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10xP1.5 | M12xP1.75 | M16 x P2.0

c1 104 109 120 138 169 200 240 285
c2 42 445 50 59 72 87 102 125
c3 62 64.5 70 79 97 13 138 160
c4 2 2 2 2 2 2 2 2
cs 110 113 124 142 171 202 242 288
ceé 5 5 5 6 8 10 12 14
c7 16.3 16.3 16.3 20.8 253 35.3 433 53.3
c8 14 14 14 18 22 32 40 50
co9 22 22 22 28 34 44 52 65
c10 6-M6 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8

58 2.85 2.85 3.6 6.2 1.5 18 28 57

17




18

=152 IR e 25 e 8 Bl 3R % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-FM series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

ATVER - B2 R RME
Input Flange - Double Clamping

? B8 n7
/ﬁ
v | e 1
3 A
B3 - 3
- |
;Lf' .
8-B9 ;
(Up & Down)
? B8 h7
B1
0B3 B2
8-B9 B4 B6
(Front & Back) B5 B7
) N I (AP 42(2)UE)
| *‘j}"}\* 7le’7T°I° M| D | E
*@” LT e 942 | 12 | 453
L : 248 | 14 | 51.8
4 ¢S i [ #55 | 16 | 59.3
unit: mm
L6 ooy | o o | w | m | o
Al 14 14 14 1924 2224 2832 35 424855
A2 | 50-60-70 | 50-60-70 | 50-60-70 | 70-80-95-110 | 70-80-95-110 | 95-110-130 | 110-130-180 |114.3-180-230
A A3 [M4:M5-M6|M4-M5-M6|M4~M5-M6| M5-M6-M8 | M5-M6-M8 |M6-M8-M10| M8~ M10-M12 |M10-M12-M16
A4 70-75~90 | 70-75-90 | 70-75~90 [90-100:115-145/90-100-115-145/115-145-165| 145-165~200 | 200-215-265
A5 | 64-70-80 | 64-70-80 | 64-70-80 | 92110130 | 92-110-130 |122-130-150| 146150190 | 182200250
A6 | M5xP0.8 | M5xP0.8 | M5xP0.8 | M6xP1.0 M6 x P1.0 M8xP1.25 | M10xP1.5 | M10xP1.5
B1 110 110 115 148162 177191 224 274 357359
B2 45 45 40 5872 67- 81 84 104 147
B3 65 65 75 90 110 140 170 210
B4 52 52 60 72 88 110 134 170
B5 26 26 30 36 44 55 67 85
B6 36 36 37 51-65.5 51-65.5 68 84.5 117
B7 7 7 7 9-235 9-235 10 9.5 14-16
B8 62 64 73 88 106 135 164 205
B9 | M5xP0.8 | M5xP0.8 | M6xP1.0 M6 x P1.0 M8xP1.25 | MIOxP1.5 | MI2xP175 | M16xP2.0
c1 124 129 140 158 194 230 276 320
c2 62 64.5 70 79 97 15 138 160
C3 136 138 150 166 198 232 280 327
C c4 14 14 14 18 22 32 40 50
c5 22 22 22 28 34 44 52 65
c6 6-M6 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8
T 1.7 1.7 2.4 4.3 74 14.9 24.5 46




ST-RM series

RATIO : 10.15.20.25.30.40.50 ( #8E% 2-Stage)

BETEREW - @120 RMHE
Fitted with Planetary Reducer - Double Clamping

‘ $B8n7
[ ‘ ]
|
o —
ol 4| i 0
82 . e i | R e (o i
T |le=
[ ‘ ]
8-B9
WpdDown) /| =y
2 B8 h7
B1
oB3 B2
8-B9 B4 B6
(Front & Back) B5
B | B7
' | 1 T
- I“"[ \‘\\‘ | ;77 FHT |i,‘_ T
O L et
7 U= |10
- 8-B9
(Front & Back) J sz
unit: mm
B I I I I T T
A1 811 811 14 14 (14)-19 19-24 2832 35
A2 | 30-40-50 | 30-40-50 | 506070 | 50-60-70 | 50-70-80-95 | 70-80-95-110 | 95-110-130 | 110130180
A A3 |M3-M4-M5|M3-M4-M5|M4- M5~ M6| M4~ M5 M6 M5 - M6 M5-M6-M8 | M6 M8~ M10 |M8~M10~ M12
A4 | 46-60-63 | 46-60-63 | 70-75-90 | 70-75-90 |70~90-100115/90100+ 115145 | 115-145-165 | 145165200
A5 4655 46-55 | 64-70-80 | 64-70-80 | 80-92-110 92-110-130 | 122-130-150 | 146150190
A6 | M4xP0.7 | M4xP0.7 | M5xP0.8 | M5xP0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 | M10xP1.5
B1 132 137 149 165 (191)-203 260 313 394
B2 67 62 62 75 (81)-93 120 143 184
B3 65 75 75 90 110 140 170 210
B4 52 60 60 72 88 110 134 170
B5 26 30 30 36 44 55 67 85
B6 26 26 26 335 (33.5)-45.5 59 67 85
B7 5 5 5 6 (6)~10 9 10 10
B8 62 73 73 88 106 135 164 205
B9 | M5xP0.8 | M6xP1.0 | M6xP1.0 | M6xP1.0 | M8xP1.25 M10 x P1.5 M12x P1.75 | M16x P2.0
c1 124 140 140 158 194 230 276 320
c2 62 70 70 79 97 115 138 160
c c3 136 150 150 166 198 232 280 327
c4 14 14 14 18 22 32 40 50
c5 22 22 22 28 34 44 52 65
c6 6-M6 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8
8 1.9 3.6 3.4 4.8 8.5 14.2 24 52




20

ST-DM series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

BANED - EERBUWME
Single Input Shaft - Double Clamping

= 15 2 2 e AR B 8 ) 2 1%  HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

?B10 h7
ﬁ N B2 = Bt
% ‘ 4 A2
o EL L A )
88 1 el I {=
(;i___.____j DAl n7 A4
Y L___‘____J d}
17" T ] A-A SECTION
8-B11
(Up & Down)
?B10n7
B3
oB5 Ba
8-B11 B6
(Front & Back) B7 B8
| B9
C6
{ -+ - ==/7§2‘\$= 1
;‘\ = b‘(‘p@ ;‘@li* o
A ®c,. &, Cs
8-B11
(Front & Back)
C3
unit: mm
oo ooy | o | o0 | w0 | w0 | w0 | 20|
A1 14 14 16 18 22 32 40 50
A A2 5 5 5 6 6 10 12 14
A3 16 16 18 20.5 24.5 35 43 53.5
A4 M5 x P0.8 M5 x P0.8 M5 x P0.8 M8 x P1.25 M8 x P1.25 M10xP1.5 | M12xP1.75 | M12x P1.75
B1 25 2.5 2.5 5 5 5 5 5
B2 15 15 25 25 30 40 50 65
B3 127.5 127.5 143 168.5 207 250 300 375
B4 62.5 62.5 67.5 78.5 97 110 130 165
B5 65 65 75 90 110 140 170 210
B6 52 52 60 72 88 110 134 170
B7 26 26 30 36 44 55 67 85
B8 22 22 32 38 43 53.5 64 77
B9 20 20 30 35 40 50 60 75
B10 62 64 73 88 106 135 164 205
B11 M5 x P0.8 M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10xP1.5 | M12xP1.75 | M16 x P2.0
C1 124 129 140 158 194 230 276 320
Cc2 62 64.5 70 79 97 115 138 160
C3 136 138 150 166 198 232 280 327
C C4 14 14 14 18 22 32 40 50
C5 22 22 22 28 34 44 52 65
C6 6-M6 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8
3= 241 241 2.8 4.9 8.59 15.5 25 53




ST-YM series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

EANEL - EERRWME

Double Input Shaft - Double Clamping

D A1 n7

A—T_‘
204

A2

oA

?B10 n7
|
& | &
BJ By ! A
3|8 = -—--——lq:—é rL-— He=
[m] | |
N
Y L___|____J
H D il
8-B11
(Up & Down)
B8 B8
B9 B9
A A
A A
8-B11

(Front & Back)

A-A SECTION

8-B11

(Front & Back)

C3

unit: mm
LT e Tesy | 75 | w0 | mo | w0 | m | 2o
A1 14 14 16 18 22 32 40 50
A A2 5 5 5 6 6 10 12 14
A3 16 16 18 20.5 24.5 35 43 53.5
A4 M5 x P0.8 M5 x P0.8 M5 x P0.8 M8 x P1.25 M8 x P1.25 M10x P1.5 | M12x P1.75 | M12 x P1.75
B1 25 2.5 25 5 5 5 5 5
B2 15 15 25 25 30 40 50 65
B3 190 190 210 247 304 360 430 540
B4 95 95 95 123.5 152 180 215 270
B5 65 65 75 90 110 140 170 210
B6 52 52 60 72 88 110 134 170
B7 26 26 30 36 44 55 67 85
B8 22 22 32 38 43 53.5 64 77
B9 20 20 30 35 40 50 60 75
B10 62 64 73 88 106 135 164 205
B11 M5 x P0.8 M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10xP1.5 | M12x P1.75 | M16 x P2.0
C1 124 129 140 158 194 230 276 320
Cc2 62 64.5 70 79 97 115 138 160
C3 136 138 150 166 198 232 280 327
C C4 14 14 14 18 22 32 40 50
C5 22 22 22 28 34 44 52 65
C6 6-M6 6-M6 6-M6 6-M6 8-M6 8-M6 8-M8 8-M8
S 2.85 2.85 36 6.2 15 18 28 57

21



ST-FS series

B3
B4

B5

(Up & Down)

(Front & Back)

S

?B8n7

TA5

B3

=152 IR e 25 e 8 Bl 3R % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

AFERE - BBH O
Input Flange - Single Output Shaft

14 14 14

D-D SECTION

D2

\.D4

4 4
A

’7’%’ﬁ’
e -~&
-

@ Lo -

R &
Shaft Direction

C5

(NP 42(2)E)
Al | D E
®42 | 12 | 453
248 | 14 |51.8
?55 | 16 | 59.3

unit: mm

TN T T
35

A1 19-24 2224 28-32 42-48-55
A2 50-60-70 | 50-60-70 | 50-60-70 | 70~80-95-110 | 70-80-95-110 | 95,110,130 110,130,180 |114.3-180+230
A3  |M4-M5-M6|M4~M5-M6(M4~M5-M6| M5 M6-M8 M5-M6-M8 |M6-M8-M10| M8-M10-M12 M10-M12-M16
A4 70-75-90 | 70-75-90 | 70-75-90 [90-100+115-145/90+100115-145/115-145-165| 145-165-200 | 200215265
A5 64-70-80 | 64:-70-80 | 64-70-80 92110130 92-110-130 |122-130-150| 146150190 | 182-200-250
A6 M5 x P0.8 | M5xP0.8 | M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5
B1 110 110 115 148-162 177191 224 274 357-359
B2 45 45 40 5872 6781 84 104 147

B3 65 65 75 90 110 140 170 210

B4 52 52 60 72 88 110 134 170

B5 26 26 30 36 44 55 67 85

B6 36 36 36 51-65.5 51-65.5 67 84.5 17

B7 7 7 7 9-23.5 9235 10 9.5 14-16

B8 62 64 73 88 106 135 164 205

B9 M5xP0.8 | M5xP0.8 | M6 xP1.0 M6 x P1.0 M8 x P1.25 M10x P1.5 | M12xP1.75 M16 x P2.0
C1 102 107 128 151 182 222 262 323

Cc2 40 42.5 48 57 70 85 100 123

C3 62 64.5 80 94 112 137 162 200

C4 2 2 2 2 2 2 2 2

C5 2.5 2.5 2.5 5 5 5 5 5

C6 15 15 25 25 30 40 50 65

c7 20 20 30 35 40 50 60 75

D1 14 14 16 18 22 32 40 50

D2 5 5 5 6 6 10 12 14

D3 16 16 18 20.5 24.5 35 43 53.5

D4 M5xP0.8 | M5xP0.8 | M5xP0.8 M5 x P0.8 M5 x P0.8 M10x P1.5 | M12x P1.75 M12 x P1.75
B8 17 1.7 2.4 4.3 71 14.9 24.5 46




ST-RS series

RATIO : 10.15.20.25.30.40.50 ( #8E% 2-Stage)

BECITERER - BR800

Fitted with Planetary Reducer - Single Output Shaft

il

‘ 2 B8 h7 ‘
| \
& ‘ ©
1.
™ i
R S
-
L,,,‘,,,J
g e
8-B9 ‘
(Up & Down)
D B8 n7
8-B9

(Front & Back)

?2D1 n7

C5
D2

3]

N _D4

D-D SECTION  (Front & Back) [/

R i
Shaft Direction

C1

C2

8-B9

A3

S I N T I
Al 811 811 14-19 19-24 28-32
A2 30-40-50 | 304050 | 50-60-70 | 506070 | 50-70-80-95 | 70-80-95-110 | 95-110~130 | 110-130-180
A A3 M3-M4-M5 M3-M4-M5|M4-~M5~M6 | M4~ M5 M6 M5~ M6 M5-M6 M8 M6-M8-M10 | M8-M10~M12
A4 46-60-63 | 466063 | 70°75-90 | 70-75-90 (70-90-100-115(90-100-115-145|115-145-165| 145-165~200
A5 46~55 4655 64-70-80 | 64-70-80 80-92-110 92-110-130 122-130~150| 146-150-190
A6 M4 xP0.7 | M4 xP0.7 | M5xP0.8 M5 x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5
B1 132 137 149 165 191 260 313 394
B2 67 62 62 75 81 120 143 184
B3 65 75 75 90 110 140 170 210
B4 52 60 60 72 88 110 134 170
B5 26 30 30 36 44 55 67 85
B6 26 26 26 33.5 33.5 59 67 85
B7 5 5 5 6 6 9 10 10
B8 62 73 73 88 106 {85 164 205
B9 M5xP0.8 | M6 x P1.0 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0
C1 102 128 128 151 182 222 262 323
(o¥ 40 48 48 57 70 85 100 123
C3 62 80 80 94 112 137 162 200
C C4 2 2 2 2 2 2 2 2
C5 2.5 2.5 2.5 5 5 5 5 5
C6 15 25 25 25 30 40 50 65
Cc7 20 30 30 35 40 50 60 75
D1 14 16 16 18 22 32 40 50
D2 5 5 5 6 6 10 12 14
D3 16 18 18 20.5 24.5 35 43 53.5
D4 M5xP0.8 | M5xP0.8 | M5x P0.8 M5 x P0.8 M5 x P0.8 M10 x P1.5 M12 x P1.75 M12 x P1.75
= 1.9 3.6 3.4 48 8.5 14.2 24 52




24

ST-DS series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

BAEL -

EHNEL

Single Input Shaft - Single Output Shaft

= 15 2 2 e AR B 8 ) 2 1%  HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

‘ 2B10 h7 4m7
R
IA—!_$| B2, B1 - <
< | A2 D2 |
© BL | £ ‘ — 7H | F2
et e HHE 4 a3 =S N
Afi—-"l"-:]j B A1 7 w P D1 h7 w ql:-"l"-:,j
i I hd A-A SECTION B-B SECTION Al hd
(Up%:?o:vn) (Input Shaft) (Output Shaft) R EE
Shaft Direction
2B10h7
8-B11
(Front & Back) B8
B9 B1
A
A
8-B11 -
(Front & Back)
unit: mm
X0 oo | o | o0 | | w0 | w0 |z
A1 14 14 16 18 22 32 40 50
A A2 5 5 5 6 6 10 12 14
A3 16 16 18 20.5 245 35 43 53.5
A4 M5 x P0.8 M5 x P0.8 M5 x P0.8 M8 x P1.25 M8 x P1.25 M10xP1.5 | M12xP1.75 | M12 x P1.75
B1 2.5 25 2.5 5 5 5 5 5
B2 15 15 25 25 30 40 50 65
B3 127.5 127.5 143 168.5 207 250 300 375
B4 62.5 62.5 67.5 78.5 97 110 130 165
B5 65 65 75 90 110 140 170 210
B6 52 52 60 72 88 110 134 170
B7 26 26 30 36 44 55 67 85
B8 22 22 32 38 43 53.5 64 77
B9 20 20 30 35 40 50 60 75
B10 62 64 73 88 106 135 164 205
B11 M5 x P0.8 M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12x P1.75 | M16 x P2.0
C1 102 107 128 151 182 222 262 323
c2 40 42.5 48 57 70 85 100 123
C C3 62 64.5 80 94 112 137 162 200
C4 2 2 2 2 2 2 2 2
D1 14 14 16 18 22 32 40 50
D2 5 5 5 6 6 10 12 14
D3 16 16 18 20.5 24.5 35 43 53.5
D4 M5 x P0.8 M5 x P0.8 M5 x P0.8 M5 x P0.8 M5 x P0.8 M10 x P1.5 M12 x P1.75 | M12 x P1.75
5= 241 21 2.8 4.9 8.59 15.5 25 53




ST-YS series

RATIO : 1.2.3.4.5 ( &% 1-Stage) \
& A 80 - B8 DL -r_ L5

o e |
Double Input Shaft - Single Output Shaft A\ B =
o) X { > .
0 Ll
@B10n7
B1 B2 B2 ., B #‘[@ﬁ
H-o | ¢ A2 ., D2 1 : ]
Ll o 5 f\‘g -Pq' MT mT 'Rq- | .Fq'
= iR, TR, S
sl 4 Ol D1 i
i i e L A-A SECTION B-B SECTION Rhs ' AR
(Up%:%ljlvn) (Input Shaft) (Output Shaft)
- R &
@B10h7 Shaft Direction
B4
B8 B8 B9
m [‘g B1 B2
A A B
& SR =
| 8-B11
8-B11 ' (Front & Back)
(Front & Back) -
unit: mm
oo oo | 5 | o0 | ro | | | zo
A1 14 14 16 18 22 32 40 50
A2 5 5 5 6 6 10 12 14
A3 16 16 18 20.5 24.5 35 43 53.5
A4 M5 x P0.8 M5 x P0.8 M5 x P0.8 M8 x P1.25 M8 x P1.25 M10x P1.5 | M12x P1.75 | M12 x P1.75
B1 2.5 25 25 5 5 5 5 5
B2 15 15 25 25 30 40 50 65
B3 190 190 210 247 304 360 430 540
B4 95 95 105 123.5 152 180 215 270
B5 65 65 75 90 110 140 170 210
B6 52 52 60 72 88 110 134 170
B7 26 26 30 36 44 55 67 85
B8 22 22 32 38 43 53.5 64 77
B9 20 20 30 35 40 50 60 75
B10 62 64 73 88 106 135 164 205
B11 M5 x P0.8 M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10xP1.5 | M12xP1.75 | M16 x P2.0
C1 102 107 128 151 182 222 262 323
Cc2 40 42.5 48 57 70 85 100 123
C3 62 64.5 80 94 112 137 162 200
C4 2 2 2 2 2 2 2 2
D1 14 14 16 18 22 32 40 50
D2 5 5 5 6 6 10 12 14
D3 16 16 18 20.5 24.5 35 43 53.5
D4 M5 x P0.8 M5 x P0.8 M5 x P0.8 M5 x P0.8 M5 x P0.8 M10xP1.5 | M12x P1.75 | M12 x P1.75
B8 2.85 2.85 36 6.2 1.5 18 28 57

25




26

S5 R e

ST-FV series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

ATVERS - EH 8O
Input Flange - Double Output Shaft
? B8 n7
|
s 1 ¢
ol |8 | A
23 S SRR
(1C ””” ;j
g
8.8 v I ]
(Up & Down) 4@7
? B8 h7
8-B9

(Front & Back)

Rl 2% HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

D2

NI
\.D4

D-D SECTION

D
w

| Al
(NTRD42(2)A L)
Al | D E
$42 | 12 | 453
$48 | 14 | 518
955 | 16 | 59.3
unit: mm

N N N N N N N
Al 1924 2224 2832 424855
A2 | 50-60-70 | 506070 | 506070 | 70-80-95-110 | 70-80-95-110 | 95-110-130 | 110130180 |114.3180230
A A3 |M4-M5-M6|M4~M5-M6|M4~M5-M6| M5~M6-M8 M5-M6-M8 |M6~M8-M10|M8-M10-M120| M10~M12~M16
A4 | 70-75-90 | 70-75-90 | 70-75-90 [90:100-115-145(90-100115-145/115-145-165| 145165200 | 200215265
A5 | 64-70-80 | 64-70-80 | 64-70-80 | 92-110-130 92110130 [122-130-150| 146-150~190 | 182200250
A6 M5 x P0.8 | M5x P0.8 | M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 | M10xP1.5 M10 x P1.5
B1 110 110 115 148162 177191 224 274 357-359
B2 45 45 40 5872 6781 84 104 147
B3 65 65 75 90 110 140 170 210
B4 52 52 60 72 88 110 134 170
B5 26 26 30 36 44 55 67 85
B6 36 36 36 51-65.5 51-65.5 67 84.5 17
B7 7 7 7 9-23.5 9-23.5 10 9.5 1416
B8 62 64 73 88 106 135 164 205
B9 M5 x P0.8 | M5x P0.8 | M6 x P1.0 M6 x P1.0 M8 x P1.25 M10x P1.5 | M12x P1.75 M16 x P2.0
c1 124 129 160 188 224 274 324 400
C2 62 64.5 80 94 112 137 162 200
C3 62 64.5 80 94 112 137 162 200
C c4 2 2 2 2 2 2 2 2
c5 2.5 2.5 2.5 5 5 5 5 5
C6 15 15 25 25 30 40 50 65
c7 20 20 30 35 40 50 60 75
D1 14 14 16 18 22 32 40 50
D2 5 5 5 6 6 10 12 14
D3 16 16 18 20.5 24.5 35 43 53.5
D4 M5 x P0.8 | M5x P0.8 | M5 x P0.8 M5 x P0.8 M5 x P0.8 M10xP1.5 | M12xP1.75 | M12xP1.75
st 1.7 1.7 2.4 43 741 14.9 24.5 46




ST-RV series

RATIO : 10.15.20.25.30.40.50 ( #8E% 2-Stage)

BECITERER - €080

Fitted with Planetary Reducer - Double Output Shaft

OA5

? B8 n7
\ ]
|
¢ ‘ ¢
NS

)

I |
TN
e ~ ?
| |

——r|
8-B9 | )
(Up & Down)

? B8 h7
8-B9

(Front & Back)

S N N B

D2
T
[s2)
8\
D1 n7 D4
D-D SECTION

C1
C3 ‘ C2
C7 _, C4 c4 C7
‘ A6
—— L —
C5 C6 & & C6 C5
D ‘ D
] - [
. -CD- ]
| |
_Ip ) D
8-B9
(Front & Back) 7‘)@3‘ -
A3 2.
600'757
< .
unit: mm

Al 811 811 14-19 1924 2832
A2 |30-40-50 | 30-40-50 | 506070 | 506070 | 50-70-80-95 | 70-80-95-110 | 95-110-130 | 110130180
A A3 [M3-M4-M5| M3-M4-M5 |M4-M5-M6|M4-M5- M6 M5 M6 M5-M6-M8 | M6-M8+M10 |M8-M10~M12
A4 | 46-60°63 | 46:60-63 | 707590 | 70-75-90 |70-90-100-115/90100+115-145| 115 145165 | 145165200
A5 4655 46-55 64-70-80 | 64-70-80 | 80-92-110 92-110-130 | 122-130-150 | 146~150-190
A6 M4 xP0.7 | M4xP0.7 | M5xP0.8 | M5xP0.8 M5 x P0.8 M6 x P1.0 M8 xP1.25 | M10xP1.5
B1 132 137 149 165 191 260 313 394
B2 67 62 62 75 81 120 143 184
B3 65 75 75 90 110 140 170 210
B4 52 60 60 72 88 110 134 170
B5 26 30 30 36 44 55 67 85
B6 26 26 26 33.5 33.5 59 67 85
B7 5 5 5 6 6 9 10 10
B8 62 73 73 88 106 135 164 205
B9 M5xP0.8 | M6xP1.0 | M6xP1.0 | M6xP1.0 M8 x P1.25 M10 x P1.5 M12x P1.75 | M16 x P2.0
C1 124 160 160 188 224 274 324 400
c2 62 80 80 94 112 137 162 200
C3 62 80 80 94 112 137 162 200
C c4 2 2 2 2 2 2 2 2
C5 2.5 2.5 2.5 5 5 5 5 5
C6 15 25 25 25 30 40 50 65
c7 20 30 30 35 40 50 60 75
D1 14 16 16 18 22 32 40 50
D2 5 5 5 6 6 10 12 14
D3 16 18 18 20.5 24.5 35 43 53.5
D4 M5xP0.8 | M5xP0.8 | M5xP0.8 | M5xP0.8 M5 x P0.8 M10 x P1.5 M12 x P1.75 | M12xP1.75
st 1.9 3.6 3.4 4.8 8.5 14.2 24 52

27



= 15 2 2 e AR B 8 ) 2 1%  HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-DV series

RATIO : 1.2.3.4.5 ( E2E% 1-Stage)

EANEL - EHE O

Single Input Shaft - Double Output Shaft

?2B10 h7
| B2 , Bt
A ! & L A2 D2
BL A ) =
Yol |
Bg e = 2 3
- smw | NA% spry | D4
|
: A-A SECTION B-B SECTION
(Input Shaft) (Output Shaft)

8-B11
(Front & Back) B9
B1 B2 B1
B
B
8-B11
(Front & Back)
unit: mm

0 N I I T N
14 14 16 18 22 32 40 50

A1

A2 5 5 5 6 6 10 12 14

A3 16 16 18 20.5 24.5 35 43 53.5

A4 | M5xP0.8 | M5xP0.8 | M5xP0.8 | M8xP125 | M8xP1.25 | MIOxP15 | M12xP1.75 | M12xP1.75

B1 25 25 2.5 5 5 5 5 5

B2 15 15 25 25 30 40 50 65

B3 127.5 127.5 143 168.5 207 250 300 375

B4 62.5 62.5 67.5 78.5 97 10 130 165

B5 65 65 75 90 110 140 170 210

B6 52 52 60 72 88 10 134 170

B7 26 26 30 36 44 55 67 85

B8 22 22 32 38 43 53.5 64 77

B9 20 20 30 35 40 50 60 75

B10 62 64 73 88 106 135 164 205

B11 | M5xP0.8 | M5xP0.8 | M6xP10 | M6xP1.0 | M8xP1.25 | MI0xP15 | M12xP1.75 | M16xP2.0

c1 124 129 160 188 224 274 324 400

c2 62 64.5 80 94 112 137 162 200

c3 62 64.5 80 94 12 137 162 200

c4 2 2 2 2 2 2 2 2

D1 14 14 16 18 22 32 40 50

D2 5 5 5 6 6 10 12 14

D3 16 16 18 20.5 245 35 43 53.5

D4 | M5xP0.8 | M5xP0.8 | M5xP0.8 | M5xP0.8 | M5xP0.8 | M10xP1.5 | M12xP1.75 | M12xP1.75
g8 2.1 2.1 2.8 4.9 8.59 15.5 25 53




ST-YV series

RATIO : 1.2.3.4.5 ( £ 1-Stage)

LADEL - EHDEO

Double Input Shaft - Double Output Shaft

?B10h7
B1 B2 I U I B2 B1
m : &[] A2 D2
'E\L & | 3 1 1
W o | ﬁ, F ! ™ 5]
R e 1ot = JF o
%\____|____|5‘ DAl h7 w 2 D1 n7 D4
1% N G E— &
neis ! _ A-A SECTION B-B SECTION
(Up%BDL;]Nn) (Input Shaft) (Output Shaft)
B3
B4 ‘ B4
‘ C1
C3 ‘ C2
B8 B8 B9 . C4 ‘ C4 B9
B9 B9 Bl | B2 | 82 L B1
A A B ﬂ
A A B B
8-B11 L
8-B11 (Front & Back)
(Front & Back) -
unit: mm
I I T I B T N
Al 14 14 16 18 22 32 40 50
A A2 5 5 5 6 6 10 12 14
A3 16 16 18 20.5 24.5 35 43 53.5
A4 M5 x P0.8 M5 x P0.8 M5 x P0.8 M8 xP1.25 | M8xP1.25 | M10xP1.5 | M12xP1.75 | M12xP1.75
B1 2.5 2.5 2.5 5 5 5 5 5
B2 15 15 25 25 30 40 50 65
B3 190 190 210 247 304 360 430 540
B4 95 95 105 123.5 152 180 215 270
B5 65 65 75 90 110 140 170 210
B6 52 52 60 72 88 110 134 170
B7 26 26 30 36 44 55 67 85
B8 22 22 32 38 43 53.5 64 77
B9 20 20 30 35 40 50 60 75
B10 62 64 73 88 106 135 164 205
B11 M5 x P0.8 M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 xP1.25 | M10xP15 | M12xP1.75 | M16 x P2.0
C1 124 129 160 188 224 274 324 400
C2 62 64.5 80 94 112 137 162 200
C C3 62 64.5 80 94 112 137 162 200
Cc4 2 2 2 2 2 2 2 2
D1 14 14 16 18 22 32 40 50
D2 5 5 5 6 6 10 12 14
D3 16 16 18 20.5 24.5 35 43 53.5
D4 M5 x P0.8 M5 x P0.8 M5 x P0.8 M5 x P0.8 M5 x P0.8 M10x P1.5 | M12xP1.75 | M12x P1.75
= 2.85 2.85 3.6 6.2 11.5 18 28 57

29



30

=152 IR e 25 e 8 Bl 3R % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

ST-FP series

RATIO : 2.3.4.5 ( E8E’ 1-Stage)

ATVER - 18183
Input Flange - Ball Screw

C1
OA5

C6

?B8 n7 8-B9
(Up & Down)

Cc4

R
Shaft Direction

A1

(NTIHD 42(B)LLE)
A AM| D E
pa2 | 12 | 453
348 | 14 | 518
$55 | 16 |59.3

unit: mm
N I T T I N T
. 35 42-48-55
50:60-70 70-80-95-110 70-80-95-110 95-110+130 110-130+180 114.3-180-230
M4 - M5 M6 M5+ M6 - M8 M5-M6 M8 M6 - M8 M10 M8-M10-~M120 M10~M12-M16
70-75~90 90-100-115-145 | 90-100-115-145 115-145-165 145-165-200 200-215-265
64-70-80 92-110-130 92-110-130 122-130-150 146~150~190 182-200-250
M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5
115 148162 177191 224 274 357~359
40 58-72 67~ 81 84 104 147
75 90 110 140 170 210
60 72 88 110 134 170
30 36 44 55 67 85
36 51-65.5 51-65.5 67 84.5 17
7 9-23.5 9-235 10 9.5 1416
73 88 106 135 164 205
M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0
106 127 156 197 223 267
57 68 84 109 121 142
49 59 72 88 102 125
1.25 2 2 2 2.25 2.25
33 44 55 75 72 82
73 83 101 122 153 185
D1 M4 x P0.7 M5 x P0.8 M5 x P0.8 M8 x P1.25 M10 x P1.5 M10 x P1.5
D2 36 40 45 70 77 84
D3 4.7 46.7 57.7 79.7 89.7 99.7
D4 26 30 36 54 58 64
D5 15 18 22 34 38 42
E 2.4 4.3 71 14.9 24.5 46




ST-RP series

RATIO : 10.15.20.25.30.40.50 ( #8E% 2-Stage)

ABECITE MR - BIFT

Fitted with Planetary Reducer - Ball Screw

C1

Te]
(&)
Ip]
N
@ ©
- o
8-B9
(Up & Down)
R &
Shaft Direction
B1
oB3 B2
B4 B6

oB3

A1 811 14 1419 1924 2832
A2 304050 506070 50:70-80-95 | 708095110 95110130 110130180
A IS M3~ M4~ M5 M4~ M5 - M6 M5 - M6 M5 - M6 - M8 M6 - M8~ M10 M8 M10 - M12
A4 466063 70:75-90 7090-100-115 | 90-100-115-145 | 115-145-165 145165200
A5 46-55 647080 8092110 92110130 122130150 146150 - 190
A6 M4 x P0.7 M5 x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5
B1 149 165 191 260 313 394
B2 62 75 81 120 143 184
B3 75 90 110 140 170 210
B4 60 72 88 110 134 170
B5 30 36 44 55 67 85
B6 26 335 335 59 67 85
B7 5 6 6 9 10 10
B8 73 88 106 135 164 205
B9 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0
o 106 127 156 197 223 267
c2 57 68 84 109 121 142
c3 49 59 72 88 102 125
C 1.25 2 2 2 2.25 2.25
c5 33 44 55 75 72 82
Cc6 73 83 101 122 153 185
D1 M4 x P0.7 M5 x P0.8 M5 x P0.8 M8 x P1.25 M10 x P1.5 M10 x P1.5
D2 36 40 45 70 77 84
D3 417 467 577 79.7 89.7 99.7
D4 26 30 36 54 58 64
D5 15 18 22 34 38 42
£ 3.6 4.8 8.5 14.2 24 52

31



32

ST-DP series

RATIO : 2.3.4.5 ( E8E’ 1-Stage)

EAL - BRT

Single Input Shaft - Ball Screw

? B8 h7
f*"**ﬂ
| |
| B11, B10
N o I
O ‘
o 1_ -l
[(e}
- O
o
8-B9
3 (Up & Down)
R &H
Shaft Direction
B1
B2
B6
B7
A
™
<t — -
Bl o
A
8-B9

(Front & Back)

= 15 2 2 e AR B 8 ) 2 1%  HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

@ A1 w7

A-A SECTION

A3 18 20.5 245 35 43 53.5
A4 M5 x P0.8 M8 x P1.25 M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75
B1 143 169 207 250 300 375
B2 67.5 79 97 110 130 165
B3 75 90 110 140 170 210
B4 60 72 88 110 134 170
B5 30 36 44 55 67 85
B6 32 38 43 53.5 64 77
B7 30 35 40 50 60 75
B8 73 88 106 135 164 205
B9 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0
B10 25 E 5 5 5 5
B11 25 25 30 40 50 65
o 106 127 156 197 223 267
c2 57 68 84 109 121 142
c3 49 59 72 88 102 125
c4 1.25 2 2 2 2.25 2.25
cs5 33 44 55 75 72 82
c6 73 83 101 122 153 185
D1 M4 x P0.7 M5 x P0.8 M5 x P0.8 M8 x P1.25 M10 x P1.5 M10 x P1.5
D2 36 40 45 70 77 84
D3 417 46.7 57.7 79.7 89.7 99.7
D4 26 30 36 54 58 64
D5 15 18 22 34 38 42

E8 2.8 4.9 8.59 15.5 25 53




ST-YP series

RATIO : 2.3.4.5 ( E2E’ 1-Stage)

EANED - BIEL

Double Input Shaft - Ball Screw

2 B8 h7
B10 ,, B11 B11, B10
o
(@]
8 —— — — 4 — [ a——
™
(@]
< ?B8 h7 8-B9
(@] (Up & Down)
Re&fy ——
Shaft Direction
B1
B2 B2
B6 B6
B7 B7
,_OJ A A
m
™
ch E R E— . I | —p—

8-B9
(Front & Back)

A-A SECTION

20.5 245 35 43 53.5
M8 x P1.25 M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75
247 304 360 430 540
123.5 152 180 215 270
90 110 140 170 210
72 88 110 134 170
36 44 55 67 85
38 43 53.5 64 77
35 40 50 60 75
88 106 135 164 205
B9 M6 x P1.0 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M16 x P2.0
B10 25 5 5 5 5 5
B11 25 25 30 40 50 65
Ct 106 127 156 197 223 267
c2 57 68 84 109 121 142
c3 49 59 72 88 102 125
c4 1.25 2 2 2 2.25 2.25
cs5 33 44 55 75 72 82
c6 73 83 101 122 153 185
D1 M4 x P0.7 M5 x P0.8 M5 x P0.8 M8 x P1.25 M10 x P1.5 M10 x P1.5
D2 36 40 45 70 77 84
D3 47 46.7 57.7 79.7 89.7 99.7
D4 26 30 36 54 58 64
D5 15 18 22 34 38 42
E8 3.6 6.2 1.5 18 28 57

33



34

U2 hedrey
Reference Information of Ball Screw
RIKEBESZER

¥R 3R %% HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

A

et L —
T S
. z
N 60o ﬂ
| T (7
1 i
© - g
= R [ .
(@) S @) wma 7 -
7.0 = ) S
| | < | | 7S
SN | |
@ ==<@ S
ar Il
"%, I

@

= e
8| mery | AEERE 218 EE | RA | BER el
Hige Screw Size Load (kgf) Nut Flange FIT Screw Bolt Oil Hole
b B CIRS I RS A 1 A
Reducer Lead Dynamlc Statlc
75 14 1010 M6 x P1.0 <500
90 16 6 980 1650 30 55 54 12 | 40 12 55| 95 | 55 | M6xP1.0 <800
110 20 10 860 1710 36 66 57 | 12 | 45 12 55|95 |55 | M6xP1.0 | £1000
140 32 10 3340 7080 54 90 88 16 | 70 15 9 14 | 8.5 M8 x P1 <1200
170 36 10 3600 8280 58 89 98 18 | 77 20 11 |1756| 11 M8 x P1 <1500
210 40 10 4670 11830 64 99 106 | 18 | 84 20 1 | 1756 | 11 M8 x P1 <1500







36

R EM HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

FT series

Indication of Model Numbers

1 AE A 5% RO

Frleog F _J O ] B

o 5w VOTOR

REREETY (| BISR VNVAEZN HAET ahER BERS
Type Model Input Output Bearing Ratio Motor Type
FT 60 F: AJEHE O: thzEeEy B: R EREH :23
70 Input Flange Hollow Shaft Ball Bearing 4
R44: & 3&EH% Reducer P: AR 150
1-Stage: Fixing Flange 15
R44 - R62... C:BER gg
2-Stage: Set Collar 30
N 40
R44S - R62S... 50
2-Stage (A-Type) :
R62A...
£ =} - . S " S .
Unit | #LE Ratio| 60 | 70 [#Eb Ratio| 60 [ 70 |
2 15 22 10 15 22
3 13 18 15 13 18
4 13 18 20 13 18
REEH LR / Rated Output Torque
) Ty | Nm 5 12 16 25 12 16
(Nominal output torque)
30 13 18
40 13 18
50 12 16
B AN3EHE / Max. Acceleration Torqueliliés Nm 1(2):20 1.5 2R EHM LR 1.5 Times of Rated Output Torque
ZAE B AR / Rated Input Speed NN rpm 2~5 3,000 3,000 10~50 3,000 3,000
A AR / Max. Input Speed ng rpm 2~5 7,000 7,000 10~50 7,000 7,000
= Backlash arcmin 2~5 <10 <10 10~50 <12 <12
BEF1€EA | Max. Radial Force F N s s 500 — 66 200
SR Bk $H7% Ball Bearing B
AEFEE ] / Max. Axial Force - N . — o B _— .
RERBHE Ball Bearing 8
= . . 2~5 S5 FHAES : >20,000 (S1 E4EE# : >10,000 hrs)
R / Service Life Lu s 10~50 [S5 Cycle Operation: >20,000 (S1 Continuous peration: >10,000 hrs)
vy # | Efficiency 7 % 2~5 94% ~ 98% | 10~50 90% ~ 94%
R E / Operating Temperature °C 15:20 -10°C ~ +90°C
B 3B /Lubrication 15:20 £ EREEHAE Synthetic Grease
{8 / Noise Level dB 2~5 68 | 70 | 1w0~50 | 70 | 72

#0182 Mass Moments of Inertia (kgem?®)

= =

#EHEE /| Mass Moments of Inertia

kgem®

Efu

EEER 1-Stage E8EY 2-Stage

Unit |35 Ratio] 60 | 70 _|i&tbRatio] 60 | 70
10

Nm

2 0.32 0.80 0.04 0.10
3 0.30 0.75 15 0.04 0.10
4 0.30 0.70 20 0.04 0.10
5 0.29 0.68 25 0.04 0.10
30 0.04 0.10
40 0.04 0.10
50 0.04 0.10




MODEL : FT-60

RATIO : 2.3.4.5 ( E2ER 1-Stage)

| 56 h7 | FT-FO BB unitmm
.
| A Input Flange A1 11
— - i - Hollow Output Shaft A2 | 30-40-50
1Y 1 \‘1)
—3 A3 |M3-M4-M5
7&} | A4 | 46-60-63
8-M5xP0.8 ——
M #56 h7 ‘ A5 4655
(Up & Down) A6 | M4xPO.7
74
2 | 70 2 95
62
- i -
TR
I z
\ g
|
KR
4-M5xP0.8 8-M5xP0.8
PCD54 PCD70

(Front & Back)

MODEL : FT-60

RATIO : 10.15.20.25.30.40.50 ( £ £% 2-Stage)

[y FT-RO EE17 unit:mm
 ——— 4+ = =S
| - BT AR - ) PZe m
+ [ f | Fitted with Planetary Reducer Al 811
- - 1 - Hollow Output Shaft A2 | 30-40-50
Y
m ‘ A3 M3~ M4~ M5
| i A4 | 46-60-63
8-M5xP0.8 —
PCDS54 seanr ‘ A5 4655
(Up & Bown) - f——————] A6 | M4xP0.7
74
2 70 2 127
62
‘ 26
. ‘ 4 5
e+ =
I 3 i 2
\ ‘ =2
4 | ‘
4-M5xP0.8 8-M5xP0.8
PCD54 PCD70

(Front & Back)

37



=15 % IR e 2E e 8 Bl 3R % HIGH PRECISION SPIRAL BEVEL GEAR REDUCER

MODEL : FT-70

RATIO : 2.3.4.5 ( E2Eg 1-Stage)

260 h7 FT-FO BB unitmm

— AJIEH - o hZes m
Al 14

+ | ? JL Input Flange

(
T - Hollow Output Shaft RS
/gﬁf -+ r A3 |M4-M5-M6

8-M5xP0.8 — A4 70-75-90

%/EJ A5 | 64-70-80

A6 M5 x P0.8

81 81
2 77 2 40.5 40.5
42
70 s s As
7 ‘ As
‘ i
+ 1+ -
o T
B B 1. [ NP m - - -
e s
| $
L%+ - =2

®

T f o,

%

4-M5xP0.8 8-M5xP0.8 %,
PCD60 PCD75

(Front & Back)

- 26007 FT-FP BEIT unit:mm
+ L{if JL Input Flange - Fixing Flange A1 14
7%% T A2 | 506070
- 4 A3 M4 - M5 - M6
/ Ti A4 70-75-90

8-M5xP0.8
Uo & Bown) A5 | 64-70-80
#60 h7 A6 M5 x P0.8
96 96
2 77 17 112
70 <15_5> L 170 4§6 "
4-M6xP1.0
‘ \
+ ! 4 = =
- —-—fl 8 A A S :
|
L :
L ] o
! N
4-M5xP0.8 8-M5xP0.8 OO/
PCD60 PCD75
(Front & Back)
?60 h7 FT—FC
\ — ANERE - HAHBER
|
+ {? JL Input Flange - Set Collar
.
Ot
/*i* +
8-M5xP0.8
TLﬁJDSODown) G Hi

$60 h7
% 9
2 77 17, 112 55.5 405
70 16 170 42
36
) 7 2-M6xP1.0
4 ‘ <4
© 14,
1 +,777‘3¢ R 4 | 3| T
ASY ] | 8| <
A\ s
4 ! <4 —
T
4-M5xP0.8 8-M5xP0.8
PCD60 PCD75

(Front & Back)

38




MODEL : FT-70

RATIO : 10.15.20.25.30.40.50 ( #8E% 2-Stage)

260 h7 FT-RO EE{i unit:mm
+ + [ [
7 [ Fitted with Planetary Reducer Al 811 14
i _ i, }i [ - Hollow Output Shaft A2 30-40-50 | 50-60-70
O \ A3 |M3:M4-M5|M4 M5 M6
# +
/ A4 | 46-60-63 | 70-75-90
8-M5xP0.8 =—
oSl A5 | 46-55 | 647080
(Up & Down)
A6 | M3xP0.5 | M5xP0.8
81 81
, o , . o Y B1 135 146
70 70 B2 B2 65 76
‘ ‘ S B3 26 335
N ! N ‘ i B4 5 6
- 5 e = HE
‘ﬁ i $ 1
\ 4-‘M5xP0.8 8-M5xP0.8
PCD60 PCD75
(Front & Back)

FT-RP B unit:mm
‘ F|tt<'ad. with Planetary Reducer Al 811 14
- Fixing Flange A2 | 30-40-50 | 506070
A3 M3-M4-M5 M4-M5- M6
A4 46-60-63 | 70-75-90
8-M5xP0.8
ij:pngonown) A5 46-55 64-70-80
#60 h7 A6 M3 x P0.5 | M5 x P0.8
96
2 33 17 55.5 405 B1 135 146
70 16.5 As BZ 65 76
4-M6xP1.0 A2
| ‘ | 5 N 0 B3 26 335
+ ! 4 g B4 5 6
| LR o
AN | é T
|+ | J‘ o

4-M5xP0.8 8-M5xP0.8
PCD60 PCD75
(Front & Back)
$60 h7 FT— R C
L | s N =
\ BERTERRE - HEER
! . .
+ {#f \ Fitted with Planetary Reducer
]
h - - % — - - Set Collar
T Yy
SR |
e =
(Up & Down) m“
$60 h7
96 96
2 77 17 B1 55.5 40.5
70 16.5 70 B2 A As
‘ , = 8 2-M6xP1.0 N\ A6 ‘
MRS <A i |
- SR 1| ] = =
o ASY
»
| &) —
s e =
L \ | X
T 2 Y
4-M5xP0.8 8-M5xP0.8 OO/
PCD60 PCD75
(Front & Back)

39




40

= ia 2 12 e 2R e R B R HIGH PRECISION SPIRAL BEVEL GEAR REDUCER
Fixing Plate
AE JPE

A1 B1

<
NN

A3
A4
|
|
|
|
|
\

4-A5

Indication of Fixing Plate
Bl RIS

FP] 75 | A

Eigh ZEF
Model Direction

65-75-90-110~ A-B-C-D-E-F

140-170-~210
unit:mm
I I N O T O O T
A1l 100 110 130 160 200 230 280
A A2 85 95 110 135 170 200 240
A3 85 90 110 135 170 200 250
A4 70 75 90 110 140 170 210
A5 7 7 7 9 11 13 17
B B1 10 12 13 16 18 18 25




Selection Direction of Fixing Plate
B R L T T 1=

Installation Example of Fixing Plate
Bl B 225 7 = 4

ST140-FPT-5 + ST110-FSB-5 +
FP140-F FP110-A

41




42

faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

HY series

WEiEA

Indication of Model Numbers®
RIS

Hvgssg Pl O 1B g5l L gro

Double Output Shaft
(No Keyway)

P: 9242 (75#~190#)
Ball Screw
PR AR S B
Taper Bearing Only

SR A Y ABFRR EPAEZN hER iREL BHIRER
Type Model Input Output Bearing Ratio Shaft Backlash
Direction Class
HY 55 F: AJ1EE O: ARz B: SR IRE K B5EZ 1-Stage ||L: 8 PO
75 Input Flange Hollow Output Shaft Ball Bearing 5,10, 15 Left Shaft P1
90 R44: JE3EH Reducer N: BEERRHE (55#~190#) R: A #f P2
115 1-Stage: Single Clamping || | [ Right Shaft
130 R44 - R62... M: EEGRRME T: RSB BECER
140 2-Stage: Double Clamping Taper TERRE ||---————
160 R62S... S: BN (BRE) Bearing With 1-Stage ||1. HAFHAN -
190 2-Stage (A-Type) : Single Output Shaft (90#~190#) Planetary S oI DU EE
R44A ~ R62A... (Keyway) Reducer Shaft direction
D: BEANEL (AR ) | [S1: EL N (FEREE) 25~150 is optional for
Single Input Shaft Single Output Shaft output type N,
(Keyway) (No Keyway) BECEER S.
D1: BANE (FREIE)| |V ELRAEL (BRE) TERIEE
Single Input Shaft Double Output Shaft With 2-Stage ||2. E O P
(No Keyway) (Keyway) Planetary #» REAG
VA EHAEL (RERE) Reducer Output type P

250 ~ 1500 only for R shaft.

The Model & Ratio Table of Hypoid Gear Reducer Assembly Planetary Reducer
RIX B i ok R AR 1 FiC 1T B2 R Rk B 5% R AR EE—

BEERITE BRI R
Ratio of 1-Stage
Planetary Reducer

Reducer Model 5410

ERTE R
Ratio of 2-Stage
Planetary Reducer
25-50-100

75

90

115
130
140
160

190

10
15

BECE RATE MR KRR LD

Ratio of Bevel Gear Recucer
with 1-Stage Planetary Reducer

25-50-75-100 - 150

RRBRAESE | RUERMAESR
Flange Planetary
Model

62 62
90 80
90 90
120 120
142 142
142 142
180 180

R & R1TE R RMERREE
Ratio of Bevel Gear Recucer
with 2-Stage Planetary Reducer

250 ~ 500 - 750 ~ 1000 - 1500




Selection of Type

EmixTVEE

A 71 # = Input Type

F ATER R 8 D E AN
Input Flange Reducer Single Input Shaft

(0]
ez
Hollow
Output
Shaft

N
Bz
RIBME
Single
Clamping

EE

M
=3¢
RIBUE
Double
Clamping

S

S
ESuaak: N
Single
Output Shaft

adA] indinQ

\Y
i dua AL
Double
Output Shaft

P
1220

Ball Screw

1. HAFEC N ~ S o] PUEZdEN[E - Shaft direction is optional for output type N, S.
2. HOfE P %4 R #@ - Output type P only for R shaft.

43



15 AR FA S 22 ot e ¥ R 2k 4%  HIGH PRECISION HYPOID GEAR REDUCER
Rotating Direction
fie #3877 )7 AR

e 2
Output Shaft 2

ATDE 1
L B[ Input Shaft 1

Shaft Direction

7 1
Output Shaft 1

: A 1
L &g ﬁ Input Shaft 1
Shaft Direction
H 8 1
Output Shaft 1
78 2
Output Shaft 2
R &[]
Shaft Direction
ATIE4 1

Input Shaft 1

RATEMIEEMER "1RESE , - R #@FENRE] E LA -
Standard product is L shaft direction, R shaft direction is optional.

44



Selection Direction of Installation

wan SBB
LR OEE
, Side 6
Side 4 /
Side 2
Pk —
Output Shaft
),
A
Input Shaft \
Side 3
Side 1 \
Side 5
Side 1 Side 2
[Note 1]
Side 3 Side 4
Side 5 Side 6

[ Note 1] WA #hiImInEEERP LR HBEISHMEERSH-

Side 4 operation shall be avoid.

45




faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

Features of HY Series

HY 5| ZEm5Ra

&t HYGear 5 - 2787 \%lﬁﬁbH—JLﬁEE&EEéE’JﬁW

b RAZESBNEAKRESRAT  KSEERARE—
B -

o RERSMELLT G TEMBERIE
115 »
o TJF]RIRIRLEE AR 1/20~1/60 -

Super-Reduction-Hypoid Gear
® Gleason super-reduction-hypoid gear
i tooth system, the max. single stage ratio
is 1/15.
@ Single stage ratio 1/20~1/60 is optional.

100% T
L R Gleason SRH a
s 80% [~} - 1
o ~ e
& 60% N
w ° ~ p
9 » “\\
W 40%
[Ty p >
i Worm coar o/ —1 !
20%
0] 4x40 3x60 2x60 2x80 2x100 1x60
~—|=-Worm gear RATIO
SHEEE TEJ_TH% RE
o —RETUETE AR (e AR EA M Bt - o MMM MEDE 90% KA EBETRMK

o BBEZR EABIMRNRGTIRE S E/NE
B EEENBRTEAEIESHER
BARYBIRLE -

High Output Torque

® The gear box is one-piece constructed
to ensure the high rigidity and corrosion-
resistant capability.

PN

High Output Torque
e High running efficiency, the effiency more
then 90%.




Features of HY Series
HY 5 ZEmiTEh

=1

o {5 Gleason £ & m /L& -
MIMESRENVIRERER  BRE
Hhe - EIRE -

o BEE/NTZE 2 WO LUA -

Low Backlash

® Using Gleason high precision CNC
grinding machine to grinding the
spiral bevel gears.

e Torsional backlash depending on
design up to <2 arcmin

ZERAE

o ZE/BMIEKEMSHRALE - BRAR
EERESD -

o AENEMRERFTTILUBRAREEIR
ERRBHNEX -

Mounting Position

® Multiple precision machined surface
is easy for assembly, suitable for
any optional mounting orientation.

® Qutput shaft and input shaft
are designed to suit for various
industries applications.

EERRIZELD

s SREMENBRR2ERELE SR
EERSTNWITELNEHRAIUIES
1500:1 AR ZRLE -

More High Gear Ratio

® High precision grinded and
carburized spiral bevel gears with
optimal designed planetary gear can
do ratio 1500: 1.

CAE &t il

o FIF 3D-CAE ERASRVRRET D AT -
ENDEREL RS LWL Y Ey Ay
oA IBINEE R R ERNERE

PN
Ao °

CAE Design and Analysis

® Employs 3D-CAE software for
analysis and design, the software
allows for analyzing the strength of
the entire gear reducer and helical
teeth. Increasing the service life of
gears and the gear reducer.

BB {ERVRRET

o X H Gleason £ 8 &2 ¥ 5% 5T 8L 1 -
FARE(CEBEBNEINSE - R
B ESHRBEURENES -

Optimized Design

® Use Gleason's design software
to design new spiral bevel gears.
Through the ideal gear contact
pattern for application, achieve high
permissible output torque.

B E AR

o A In 22 BEREE R AYH
EHE - WA FEDH - DUIRERE
SEWAEE M EMTENEOENF
BE  REFROENEE -

Collet Locking Mechanism

® The input-end and the motor are
coupled through a collet locking
meshanism. It has passed
dynamical balance analysis to
assure concentricity and balance on
the connection and no backlash for
power transmission while running at
high speed.

47



BB

R ERFEY HIGH PRECISION HYPOID GEAR REDUCER

Characteristic of HY Series

HY 25| Em5HE

B E9 R R ¥ 1-Stage

==y
1,100 1,440
2B EH 128 / Rated Output Torque
T Nm 10 30 60 117 220 365 615 957 1,230
(Nominal output torque)
15 25 50 95 180 300 510 815 1,020
EANNRHFE / Max. Acceleration Torque [ ¢SSEEE N IEE-ER I 1.5 ZERTH LA 1.5 Times of Rated Output Torque
EAHHHE / Max. Output Torque
" T Nm | 5~15 3 f38aEH L 7R 3 Times of Rated Output Torque
={=#%E / Emergency Stop Torque ot - b E g
XaE 8 AR / Rated Input Speed ny | rpm | 5~15| 3,000 | 3,000 3,000 3,000 | 2,500 2,500 2,000 2,000
B KB AR / Max. Input Speed ng | rpm | 5~15| 6,000 | 6,000 6,000 6,000 | 5,000 5,000 | 4,000 | 4,000
PO - - <3 <3 <3 <3 <3 <3
P4 / Backlash J, |arcmin| P1 <6 <6 <6 <6 <6 <6 <6 <6
P2 | <9 <9 <9 <9 <9 <9 <9 <9
FFHEEA / Max. Radial Force
. Fop N 5~15 | 1,495 | 2,366 2,691 4,797 | 5,837 7,020 9,490 | 12,337
YRERER7 Ball Bearing
AEFERE S / Max. Axial Force
- . Fop N 5~15 | 748 1,183 1,346 2,399 | 2,919 3,510 4,745 6,169
JREL#H7K Ball Bearing
S#FEA7) / Max. Radial Force Fos| N |5~15 y 5523 | 9100 | 12,320 | 14,420 | 18,620 | 24,080
& $f 8% Taper Bearing P 5,000(P) [6,545(P) | ™ ’ ’ ’ ’
BEFEES] / Max. Axial Force - 2762
F. N 5~15 - ¢ 4,550 | 6,160 7,210 9,310 | 12,040
=S EHA Taper Bearing 8 2,500(P) | 3,273(P)
- L 5 S5 FEHAMES : >30,000 (S1 EA3E# : >15,000 hrs)
feF®&m / Service Life Ly i =1 S5 Cycle Operation: >30,000 (S1 Continuous Operation: >15,000 hrs)
5 >96%
# | Efficiency n %
10~15 >93%
fEARE / Operating Temperature °C |5~15 -10°C ~ +90°C
be % / Lubrication 5~15 ZBAUEBH Synthetic Oil
% & {8 / Noise Level dB 5~15 | <67 | <67 | <69 | <69 | <71 | <71 | <72 | <72

+ : (P) 92423 NOTE: (P) Ball Screw

#E){E £ Mass Moments of Inertia (kgcm®)

| st Ratio | 55 | 75 | 90 | 115 | 130 | 140 | 160 | 190 |

5 0.23 0.58 1.41 4.00 712 13.53 24.76 44.29
10 0.15 0.38 1.00 2.46 4.27 7.38 12.47 2143
15 0.13 0.34 0.81 2.07 3.45 5.76 9.23 15.53

48




Characteristic of HY Series

HY 25| Emf5HE

DRI ZR I 2-Stage

#11% Model No.

AEHIH AR / Rated Output Torque
(Nominal output torque)

BRI / Max. Output Torque
=(FHE / Emergency Stop Torque

5% / Backlash J;

BFFE@EA / Max. Radial Force
YR ERER7E Ball Bearing

AEFERE ] / Max. Axial Force
R EREM7 Ball Bearing

BFFE@A | Max. Radial Force
TR #fE Bl Taper Bearing

REFEE 7] / Max. Axial Force
TR fEBA Taper Bearing

A= / Service Life

% =/ Efficiency n

{EFRE / Operating Temperature

- ;
bES| & / Lubrication

& fE / Noise Level

BS{Y |, .
25, 50 35 70 140 260 430 720 1,100 | 1,440
Ton Nm 100 30 60 117 220 365 615 957 1,230
75, 150 25 50 95 180 300 510 815 1,020
Nm 25~150 1.5 EREEHMEIRAE 1.5 Times of Rated Output Torque
Tvor| NM 25~150 3 ZREEH H1HE 3 Times of Rated Output Torque
nin rpm 25~150 3,000 | 3,000 3,000 | 3,000 | 3,000 | 3,000 | 2,000 | 3,000
N rpm 25~150 6,000 | 6,000 6,000 | 6,000 | 5,000 | 5,000 | 4,000 | 4,000
PO - - <4 | <4 | <4 | <4 | <4 | <4
arcmin P1 <7 <7 <7 <7 <7 <7 <7 <7
P2 <10 <10 <10 <10 <10 <10 <10 <10
Fop N 25~150 1,495 | 2,366 2,691 | 4,797 | 5,837 | 7,020 | 9,490 | 12,337
Fon N 25~150 748 1,183 1,346 | 2,399 | 2,919 | 3,510 | 4,745 | 61,69
Fas| N | 25~150 - c 5523 19100 | 12,320 | 14,420 | 18,620 | 24,080
B 5,000(P)|6,545(P)| ™’ ’ ’ ’ ’
Fas| N | 25-150 - ©.2782 14550 | 6,160 | 7,210 | 9,310 | 12,040
2B 2,500(P)|3,273(P)| ! ! ’ ’
I h 25~150 S5 FEEAERE : >30,000 (S1 E#AES : >15,000 hrs)
L& s S5 Cycle Operation: >30,000 (S1 Continuous Operation: >15,000 hrs)
25, 50 >92%
%
75, 100, 150 2 90%
°C 25~150 -10°C ~ +90°C
25~150 2 EAEB M Synthetic Ol
B | 25-150 | <67 | <67 | <69 | <69 | <71 | <71 | <72 | s72

+ : (P) 92423 NOTE: (P) Ball Screw

#E){E £ Mass Moments of Inertia (kgcm®)

| Lt Ratio | 55 | 75 ] 90 [ 115 | 130 [ 140 | 160 [ 190 |
25 0.39 1.15 1.18 4.9 4.99 7.99 8.27 8.75
50 0.36 1.05 1.06 4.07 4.09 6.31 6.36 6.45
75 0.35 0.94 0.96 3.17 3.24 4.04 4.23 4.56
100 0.34 0.93 0.94 3.12 3.14 3.87 3.92 4.01
150 0.33 0.92 0.93 3.08 3.06 3.73 3.68 3.59

N

49



P B8 h7

8-B12
Up & Down

B10

B5

B4

faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

HY-FO series

RATIO : 5.10.15 ( B¢ 1-Stage)

ATVER - HhhZE
Input Flange - Hollow Output Shaft

@ A2 Hs

Front & Back

C5

C6

? A1

(ANFTAB3S (UL

pAL| D

E

#35]| 10

383

#38| 10

41.3

p42| 12

45.3

?48| 14

31.8

unit: mm

C3
0 N N O I N
A1 811 14 14-19 19-24 28-32 35 35-38 4248
A2 30-40-50 | 50-60-70 | 50-70-80-95 | 70-80-95-110 | 95-110-130 | 110-130-180 | 110~130-180 ({114.3-180-230 250
A A3 M3~M4-M5|M4~M5-M6 M5~ M6 M5-M6-M8 | M6-M8-M10 |M8-M10-M12|M8~M10~M12 M12~M16
A4 46-60-63 | 70-75~90 (70-90-100-115/90-100-115-145|115~145~165| 145~165~200 | 145-165-200 | 200~215-265~300
A5 4655 64-70-80 80-92-110 92-110-130 [122-130-150| 146-150-190 | 146150190 | 182200250 - 265
A6 M3 x P.05 | M5 x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5
B1 123 158 202 241 286 333 358 417419
B2 33 43 62 71 94 118 118 153~155
B3 90 115 140 170 192 215 240 264
B4 78 98 118 144 164 182 206 224
B5 39 49 59 72 82 91 103 112
B6 26 38 49 58 69.5 81.5 81.5 114.5-116.5
B7 5 6 9 8 10 10 10 11.5-13.5
B8 84 103 128 148 173 200 227 254
B9 6.8 9 11 11 13.5 15 17.5 17.5
B10 44 54 66 80 95 104 120 140
B11 22 27 33 40 47.5 52 60 70
B12 M6 x P1.0 | M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75 M14 x P2.0 M16 x P2.0 M16 x P2.0
C1 88 108 132 156 172 187 212 242
C2 44 54 66 78 86 93.5 106 121
C3 60 80 100 120 138 146 166 196
C C4 2 2 2 2 2 2 2 2

C5 6 7 8 10 12 14 14 18
C6 22.8 28.3 33.3 43.3 51.3 58.8 63.8 74.3
c7 20 25 30 40 48 55 60 70
C8 9 14 18 23 27 32 38 42

E 3.0 4.6 8.3 12.3 18.2 26.6 37.6 59.5

50




HY-RO series

RATIO : 25.50.75.100.150 ( #Eg 2-Stage)

BETEREW - Bz
Fitted with Planetary Reducer - Hollow Output Shaft

PB8 h7

B1

B3

B5

B4

ENEEE I N BT T TN T

8-pB9

Front & Back

C5

B2
B6
B7
=1
T
L LBEE <2
|
] = e

C6

, #B8 h7
B10 8-B12
. D
<_-|B11 Up & Down
[ + - w
[ , |
- | = 2A1
o|® 4 _ | _ _ 1 (NTRB38(B L
o | pA1| D | E
,%;%%% 1l 238 10 |41.3
‘ . ‘Eﬂiﬁ: g4z | 12 453
l #48| 14 [51.8
#55| 16 [59.3

C3

unit: mm

A1 8 11 19-24 28-32 3235 32-35 38-42-48-55
A2 30-40-50 | 50° 60 70 | 50° 70 80 95 | 70-80-95-110 | 95-110-130 | 110-130-180 [ 110-130-180|114.3-180-230+250
A3 |M3-M4-M5|M4-M5- M6 M5 - M6 M5-M6-M8 |M6-M8-M10|M8-M10-M12 M8~M10-M12 M12-M16

A4 46-60-63 | 70°75-90 |70-90-100+115|90°100+115-145/115-145-165| 145-165-200 |145-165-200| 200215265300
A5 46-55 647080 80-92-110 92-110-130 (122-130-150| 146~150+190 | 146150190 | 182~200 250 265
A6 M3 x P.05 | M5xP0.8 M5 x P0.8 M6 x P1.0 M8 xP1.25 | M10x P1.5 M10 x P1.5 M10 x P1.5

B1 157 201 (224.5)~237 287 340 405 430 508510

B2 67 86 (84.5)~97 117 148 190 190 244246

B3 90 115 140 170 192 215 240 264

B4 78 98 118 144 164 182 206 224

B5 39 49 59 72 82 91 103 112

B6 26 32 (33.5) 45,5 59 67 84.5 84.5 114.5-116.5

B7 5 6 (6)~10 9 10 10 10 11.5-13.5

B8 84 103 128 148 173 200 227 254

B9 6.8 9 1" 1 13.5 15 17.5 17.5

B10 44 54 66 80 95 104 120 140

B11 22 27 33 40 47.5 52 60 70

B12 M6 x P1.0 | M8 x P1.25 M10 x P1.5 M12x P1.75 | M12xP1.75 | M14 x P2.0 M16 x P2.0 M16 x P2.0

C1 88 108 132 156 172 187 212 242

C2 44 54 66 78 86 93.5 106 121

C3 60 80 100 120 138 146 166 196

C4 2 2 2 2 2 2 2 2

C5 6 7 8 10 12 14 14 18

C6 22.8 28.3 33.3 43.3 51.3 58.8 63.8 74.3

C7 20 25 30 40 48 55 60 70

C8 9 14 18 23 27 32 38 42

B8 3.5 5.8 10.0 16.0 26.8 41.2 521 86.1

51




faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

HY-DO series

RATIO : 5.10.15 ( B¢ 1-Stage)

BADEL - Bz
Single Input Shaft - Hollow Output Shaft

i

) ?B10 h7
B12 8-B14
B13 Up & Down
|
[‘ I ‘ B2 B1
1 $ T A2
= \ | @4 B
N }r | 157}
P T— - i (Ge==a <
s A4
. ) @ A1 h7
— S
| i I A-A SECTION
|
| ?B10 h7 |
B3
oB5 B4 c1
B8
B9
i cs5
g L
m 1 —
«© © 8
o f &)
1 !
¢C
] 8-#B11 — N
Front & Back
— C3

unit: mm

B I I I T A
A1 14 19 24 28 32 32 38 40
A A2 5 6 8 8 10 10 12 12
A3 16 215 27 31 35 35 41 43
A4 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5 M12 x P1.75 M12 x P1.75
B1 25 25 25 25 5 5 5 5
B2 20 25 35 35 40 40 50 50
B3 147 181 218 260 293 315 367 403
B4 57 66 78 90 101 100 127 139
B5 90 115 140 170 192 215 240 264
B6 78 98 118 144 164 182 206 224
B7 39 49 59 72 82 91 103 112
B8 27 32 42.5 42.5 52.5 51.5 63 63.5
B9 25 30 40 40 50 50 60 60
B10 84 103 128 148 173 200 227 254
B11 6.8 9 11 11 13.5 15 17.5 17.5
B12 44 54 66 80 95 104 120 140
B13 22 27 33 40 47.5 52 60 70
B14 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75 M14 x P2.0 M16 x P2.0 M16 x P2.0
C1 88 108 132 156 172 187 212 242
C2 44 54 66 78 86 93.5 106 121
C3 60 80 100 120 138 146 166 196
C C4 2 2 2 2 2 2 2 2
C5 6 7 8 10 12 14 14 18
C6 22.8 28.3 33.3 43.3 51.3 58.8 63.8 74.3
c7 20 25 30 40 48 55 60 70
C8 9 14 18 23 27 32 38 42
E 2.9 4.6 8.1 11.0 18.7 25.9 36.8 56.1

52




HY-FN series

RATIO : 5.10.15 ( B 1-Stage)

ATVER - B2 RRWME
Input Flange - Single Clamping

»B8 h7
B10

8-B12
Up & Down

B10

(IS 35(2) BLb
oal| D E
235 10 [38.3 I I ]
838 10 [41.3 1

g42| 12 [45.3
g48| 14 |58 R &
Shaft Direction

C1

@A
3
_Front & Back
unit: mm
m--n---—
A1 811 1419 19-24 2832 35-38 42-48
A2 30:40-50 50‘60*70 50-70-80-95 | 70-80-95-110 | 95-110-130 110‘130*180 110-130+180114.3-180+230 250
A A3 M3 M4~ M5 M4 - M5~ M6 M5~ M6 M5-M6-M8 |M6-M8-M10/M8-M10-M12|M8~M10-M12 M12-~M16
A4 466063 | 70-75-90 |70~90-100-115/90:100:115-145(115-145-165(145-165~200{145~165-200| 200-215~265-300
A5 4655 64-70-80 80-92-110 92-110-130 |122-130+150|146-150-190(146~150-190| 182-200 250 265
A6 M3 x P.05 | M5x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 | M10 x P1.5 M10 x P1.5 M10 x P1.5
B1 123 158 202 241 286 333 358 417419
B2 33 43 62 71 94 118 118 153-155
B3 90 115 140 170 192 215 240 264
B4 78 98 118 144 164 182 206 224
B5 39 49 59 72 82 91 103 112
B6 26 38 49 58 69.5 81.5 81.5 114.5-116.5
B7 5 6 9 8 10 10 10 11.5:13.5
B8 84 103 128 148 173 200 227 254
B9 6.8 9 11 11 13.5 15 17.5 17.5
B10 44 54 66 80 95 104 120 140
B11 22 27 33 40 47.5 52 60 70
B12 M6 x P1.0 | M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75 | M14 x P2.0 M16 x P2.0 M16 x P2.0
C1 109 134 160 189 207 224 249 281
C2 44 54 66 78 86 93.5 106 121
C3 65 80 94 11 121 130.5 143 160
C4 2 2 2 2 2 2 2 2
C5 60 80 100 120 138 146 166 196
C C6 6 7 8 10 12 14 14 18
Cc7 22.8 28.3 33.3 43.3 51.3 58.8 63.8 74.3
Cc8 20 25 30 40 48 55 60 70
C9 28 34 44 52 60 65 73 83
C10 M6 M6 M6 M8 M8 M8 M8 M10
C11 9 14 18 23 27 32 38 42
o= 3.2 5.0 8.7 13.0 19.3 27.4 39.4 61.7

53




»B8 h7

B10

B10

faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

HY-RN series

RATIO : 25.50.75.100.150 ( #Eg 2-Stage)

RECITEREN - E22RME
Fitted with Planetary Reducer - Single Clamping

8-B12

Up & Down

(NTAB3B(B LD
®Al| D E

$38| 10 413
p42| 12 453
?48| 14 |51.8
»55| 16 [59.3

B2
B6
87 A0
C4
75 |
] B L] {1 Tﬁlﬁ -T2
L,L i <4g
E T -
o
— &
4
‘ mogq
8-6B9 = | =
Front & Back
LLJ unit: mm
B N I S T A
Al 811 14 (14)19 1924 2832 32-35 32-35 38-42-48-55
A2 | 30-40-50 | 50-60-70 | 50-70-80-95 | 70-80-95-110 | 95-110-130 | 110130180 | 110130180 |[114.3-180 230250
A A3 |M3:M4-M5|M4-M5- M6 M5 - M6 M5-M6-M8 | M6 M8+ M10 [M8+M10 - M12 | M8 M10 * M12 M12 - M16
A4 | 46-60-63 | 70-75-90 |70-90-100-115|90-100-115-145| 115145165 | 145165200 | 145165200 | 200 215 265 300
A5 46-55 | 64-70-80 | 80-92-110 92110130 |122-130-150| 146150190 | 146150190 | 182200250 - 265
A6 | M3xP.05 | M5xP0.8 M5 x P0.8 M6 x P1.0 M8 xP1.25 | MIOxP1.5 | M10xP1.5 M10 x P1.5
B1 157 201 (224.5)+237 287 340 405 430 508510
B2 67 86 (84.5)- 97 17 148 190 190 244246
B3 90 115 140 170 192 215 240 264
B4 78 98 118 144 164 182 206 224
B5 39 49 59 72 82 91 103 112
B6 26 32 (33.5)-45.5 59 67 84.5 84.5 114.5-116.5
B7 5 6 (6)-10 9 10 10 10 11.5-13.5
B8 84 103 128 148 173 200 227 254
B9 6.8 9 11 1 13.5 15 17.5 175
B10 44 54 66 80 95 104 120 140
B11 22 27 33 40 475 52 60 70
B12 | M6xP1.0 | M8xP1.25| M10xP1.5 M12xP1.75 | M12xP1.75 | M14xP2.0 | M16x P2.0 M16 x P2.0
C1 109 134 160 189 207 224 249 281
c2 44 54 66 78 86 93.5 106 121
c3 65 80 94 1M1 121 130.5 143 160
c4 2 2 2 2 2 2 2 2
c5 60 80 100 120 138 146 166 196
C Bes 6 7 8 10 12 14 14 18
c7 22.8 28.3 33.3 43.3 51.3 58.8 63.8 74.3
c8 20 25 30 40 48 55 60 70
co 28 34 44 52 60 65 73 83
c10 M6 M6 M6 M8 M8 M8 M8 M10
C11 9 14 18 23 27 32 38 42
I == 3.8 6.2 10.5 16.7 28.0 41.9 53.9 88.4




HY-DN series

RATIO : 5.10.15 ( B 1-Stage)

BANEL -

BERRUE
Single Input Shaft - Single Clamping
$B10 h7
B12 8-B14
% Up & Down

B1

]
A
IRARA ™ ViR
= = H =
@ Aln7 A4 ﬁ;{g}‘ @ 'Q}\r‘_’:
A-A SECTION \ [ J
R @
Shaft Direction
B4 c
B8
B9
\ :
B —
8 ’ 5
8-B11 *:LI=A=LL:*

Front & Back

e

_Front & Back c5 .
unit: mm
ENEEEEENEREEEEN RS
N 14 19 24 28 32 32 38 40
A A2 5 6 8 8 10 10 12 12
A3 16 21.5 27 31 35 35 41 43
Ad M5 x P0.8 M6 x P1.0 M8xP1.25 | M10xP15 | MI0xP15 | MIOxP1.5 | MI2xP1.75 | M12xP1.75
B1 25 2.5 25 25 5 5 5 5
B2 20 25 35 35 40 40 50 50
B3 147 181 218 260 293 315 367 403
B4 57 66 78 90 101 100 127 139
B5 90 115 140 170 192 215 240 264
B6 78 98 118 144 164 182 206 224
B7 39 49 59 72 82 91 103 112
B8 27 32 42,5 425 52.5 51.5 63 63.5
B9 25 30 40 40 50 50 60 60
B10 84 103 128 148 173 200 227 254
B11 6.8 9 1 1 13.5 15 17.5 17.5
B12 44 54 66 80 95 104 120 140
B13 22 27 33 40 475 52 60 70
B14 M6 x P1.0 M8xP1.25 | MI0OxP1.5 | MI12xP1.75 | M12xP1.75 | M14xP2.0 | M16xP2.0 | M16xP2.0
C1 109 134 160 189 207 224 249 281
c2 44 54 66 78 86 93.5 106 121
c3 65 80 94 111 121 130.5 143 160
c4 2 2 2 2 2 2 2 2
c5 60 80 100 120 138 146 166 196
C e 6 7 8 10 12 14 14 18
c7 22.8 28.3 33.3 43.3 51.3 58.8 63.8 74.3
c8 20 25 30 40 48 55 60 70
C9 28 34 44 52 60 65 73 83
c10 M6 M6 M6 M8 M8 M8 M8 M10
cn 9 14 18 23 27 32 38 42
weight JE-} 3.1 5.0 8.6 1.6 19.9 27.8 38.6 58.4

55



faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

HY-FM series

RATIO : 5.10.15 ( B¢ 1-Stage)

ATER - EERRHE

Input Flange - Double Clamping
?B8 h7

B10

l
I—

8-B12
Up & Down

-
pan
ol®
= i
@
-
L
1
l
|
w0
o0
<
@

8-3B9

Front & Back

(ANTFAD3S(DUD
?A1| D E

35| 10 |38.3
38| 10 |413
42| 12 |45.3
[was[ 14 [St8]

C1

C3

L

A6

<
/AO 'qq
Y

unit: mm

0 I O N T
35

Al 811 14 14+19 19-24 2832 35-38 42-48

A2 30-40-50 | 50-60-70 | 50-70-80-95 | 70-80-95-110 | 95-110-130 [ 110-130-180| 110,130,180 |114.3-180230 250
A3  |M3-M4- M5 M4-M5- M6 M5 - M6 M5-M6-M8 |M6-M8-M10 M8-M10-M12| M8 M10 - M12 M12-M16

A4 46-60-63 | 70-75-90 |70-90-100-115|90-100115-145|115-145-165|145-165+200| 145165200 | 200215265300
A5 4655 64-70-80 80-92-110 92-110-130 |122-130-150|146-150-190| 146150190 | 182200250 - 265
A6 M3 x P.05 | M5 xP0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 | M10x P1.5 M10 x P1.5 M10 x P1.5

B1 123 158 202 241 286 333 358 417419

B2 33 43 62 71 94 118 118 153155

B3 90 115 140 170 192 215 240 264

B4 78 98 118 144 164 182 206 224

B5 39 49 59 72 82 91 103 112

B6 26 38 49 58 69.5 81.5 81.5 114.5-116.5

B7 5 6 9 8 10 10 10 11.5-13.5

B8 84 103 128 148 173 200 227 254

B9 6.8 9 1" 1 13.5 15 17.5 17.5

B10 44 54 66 80 95 104 120 140

B11 22 27 33 40 475 52 60 70

B12 M6 x P1.0 | M8 x P1.25 M10 x P1.5 M12xP1.75 | M12xP1.75 | M14 xP2.0 M16 x P2.0 M16 x P2.0

C1 130 160 188 222 242 261 286 320

Cc2 65 80 94 M1 121 130.5 143 160

C3 60 80 100 120 138 146 166 196

C4 - - - - 12 14 14 18

C5 - - - - 51.3 58.8 63.8 74.3

C6 20 25 30 40 48 55 60 70

c7 28 34 44 52 60 65 73 83

C8 M6 M6 M6 M8 M8 M8 M8 M10

C9 9 14 18 23 27 32 38 42

B8 3.5 5.3 9.2 13.7 20.5 28.6 41.0 64.0




HY-RM series

RATIO : 25.50.75.100.150 ( #Eg 2-Stage)

BECITEREW - B2 0REME
Fitted with Planetary Reducer - Double Clamping

) B8 h7 )
B10
8-B12
Up & Down
[
4‘—\
% (NAD3(R) UD
- 2A1] D | E
m I 38| 10 [41.3
- p42| 12 [45.3
g 248] 14 [51.8
255| 16 [59.3

B2
B6
| B7 | A6
=L
A ©
AT E( 5
- L B
5 == M)
8-»B9
Front & Back
unit: mm
B N N T T T
A1 8 11 14 (14)~19 1924 28+32 3235 3235 38-42-48-55
A2 30-40-50 | 50-60-70 | 50-70-80-95 | 70-80-95-110 |95-110~130 | 110-130~180 {110~130-180 (114.3-180:230 250
A3 M3~M4-~M5 M4-M5- M6 M5~ M6 M5-M6-M8 |M6-M8-M10|M8~M10-M12|M8-M10-M12 M12-M16
A4 46-60-63 | 70-75-90 |70-90-100-115/90-100-115-145|115-145-165| 145-165-200 |145-165~200| 200-215~265-300
A5 4655 64-70-80 80-92-110 92-110-130 |122-130-150| 146-150~190 |146-150-190| 182-200-250-265
A6 M3 x P.05 | M5x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5
B1 157 201 (224.5)~237 287 340 405 430 508510
B2 67 86 (84.5)~97 117 148 190 190 244246
B3 90 115 140 170 192 215 240 264
B4 78 98 118 144 164 182 206 224
B5 39 49 59 72 82 91 103 112
B6 26 32 (33.5)-45.5 59 67 84.5 84.5 114.5-116.5
B7 5 6 (6)~10 9 10 10 10 11.5-13.5
B8 84 103 128 148 173 200 227 254
B9 6.8 9 " " 13.5 15 17.5 17.5
B10 44 54 66 80 95 104 120 140
B11 22 27 33 40 475 52 60 70
B12 M6 x P1.0 | M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75 | M14 x P2.0 M16 x P2.0 M16 x P2.0
C1 130 160 188 222 242 261 286 320
Cc2 65 80 94 111 121 130.5 143 160
C3 60 80 100 120 138 146 166 196
C4 - - - - 12 14 14 18
C5 - - - - 51.3 58.8 63.8 74.3
C6 20 25 30 40 48 55 60 70
c7 28 34 44 52 60 65 73 83
Cc8 M6 M6 M6 M8 M8 M8 M8 M10
C9 9 14 18 23 27 32 38 42
B8 41 6.6 11.0 17.4 291 431 55.6 90.7




faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

HY-DM series

RATIO : 5.10.15 ( B¢ 1-Stage)

BANELD - EERBHWME
Single Input Shaft - Double Clamping

B6

]

Front & Back

) #B10 h7
B12
B13 |
1 8-B14
‘m—du—r:uz‘ S — Up & Down
[ ]
[ ! ] B2 B1
;ﬁq} Qﬁ%
] ot I I | S| I |
m |
{ @ A1h7 Ad
T A-A SECTION
B4
. B7 B8
B9
A
~ [
m — ;L3>
A
8-2B11

C1

C2

C9

=
(

unit: mm

I T O O T T
14 19 24 28 32 32 38 40

A1
A2 5 6 8 8 10 10 12 12
A3 16 21.5 27 31 35 35 41 43
A4 M5xP0.8 | M6xP1.0 | M8xP1.25 | MIOxP15 | M10xP15 | MI0xP15 | MI2xP1.75 | M12xP1.75
B1 25 25 25 25 5 5 5 5
B2 20 25 35 35 40 40 50 50
B3 147 181 218 260 293 315 367 403
B4 57 66 78 920 101 100 127 139
B5 90 15 140 170 192 215 240 264
B6 78 98 118 144 164 182 206 224
B7 39 49 59 72 82 91 103 112
B8 27 32 425 425 52.5 51.5 63 63.5
B9 25 30 40 40 50 50 60 60
B10 84 103 128 148 173 200 227 254
B11 6.8 9 1 1 13.5 15 17.5 17.5
B12 44 54 66 80 95 104 120 140
B13 22 27 33 40 475 52 60 70
B14 | M6xP1.0 | M8xP1.25 | MIOXxP15 | M12xP175 | M12xP175 | M14xP20 | M16xP2.0 | M16xP2.0
c1 130 160 188 222 242 261 286 320
c2 65 80 94 11 121 130.5 143 160
c3 60 80 100 120 138 146 166 196
c4 - - - - 12 14 14 18
o8 C5 - - - - 51.3 58.8 63.8 74.3
cé 20 25 30 40 48 55 60 70
c7 28 34 44 52 60 65 73 83
cs M6 M6 M6 M8 M8 M8 M8 M10
c9 9 14 18 23 27 32 38 42
58 B 3.4 53 8.9 1.9 207 297 41 60.7




HY-FS series

RATIO : 5.10.15 ( B 1-Stage)

ATVER - BHE
Input Flange - Single Output Shaft

#B8 h7

B10 8-B12
ﬁ.‘ Up & Down
|

[ I ] |

T W e
o EJ ! ‘ /’\
2 o —

¢ Cll ey B2
LR NSRS S
T ‘ ] ‘
‘ 816 ORB3SCE UD R Em
| oAl D | E sh . .
T 235] 10 |38.3 aft Direction
. 38| 10 |413
gBgh7 © 42| 12 |453
[#48] 14 [S18]

B4

8-pB9 B-B SECTION
_Front & Back
unit: mm
m--n---—
A1 811 14-19 19-24 28-32 35-38 4248
A2 30-40-50 | 50-60-70 | 50-70-80-95 | 70-80-95-110 | 95-110~130 [ 110~130-180 |110-130~180|114.3~180-230 250
A A3  |M3-M4-M5/M4-M5- M6 M5~ M6 M5-M6-M8 | M6 M8-M10 |[M8~M10-M12|M8-M10 -M12 M12~M16
A4 466063 | 70°75-90 |70-90-100-115|90-100115-145|115-145-165|145-165-200 [145-165-200| 200215265300
A5 4655 64-70-80 80-92-110 92-110-130 |122-130-150|146-150-190|146-150-190| 182-200 250 265
A6 M3 x P.05 | M5x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5
B1 123 158 202 241 286 333 358 417-419
B2 33 43 62 71 94 118 118 153-155
B3 90 115 140 170 192 215 240 264
B4 78 98 118 144 164 182 206 224
B5 39 49 59 72 82 91 103 112
B6 26 38 49 58 69.5 81.5 81.5 114.5-116.5
B7 5 6 9 8 10 10 10 11.5-13.5
B8 84 103 128 148 173 200 227 254
B9 6.8 9 11 1 13.5 15 175 17.5
B10 44 54 66 80 95 104 120 140
B11 22 27 33 40 47.5 52 60 70
B12 M6 x P1.0 | M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75 | M14 x P2.0 M16 x P2.0 M16 x P2.0
C1 121 146 180 214 245 275 310 350
Cc2 42 52 64 76 84 91.5 103 118
C3 79 94 120 138 161 183.5 206 231
C4 2 2 2 2 2 2 2 2
C C5 5 5 5 5 5 5 5 5
C6 25 30 40 50 65 80 90 100
Cc7 35 40 50 60 75 90 100 110
C8 9 14 18 23 27 32 38 42
Cc9 60 80 100 120 138 146 166 196
D1 20 24 32 40 48 55 60 70
D2 6 8 10 12 12 14 14 16
D3 225 27 35 43 51 58.5 63.5 74
D4 M6 x P1.0 | M8xP1.25| M10xP1.5 M10 x P1.5 M12x P1.75 | M16xP2.0 | M20 xP2.5 M20 x P2.5
Weight[lE 1=} 3.2 5.0 9.1 14.0 21.0 30.6 42.8 67.9

59




(EhAELE

8-B12
Up & Down

B1

R ERFEY HIGH PRECISION HYPOID GEAR REDUCER

HY-RS series

RATIO : 25.50.75.100.150 ( #Eg 2-Stage)

RBECITERIEM - B A8
Fitted with Planetary Reducer - Single Output Shaft

Ll

¢A1| D

238

842

48

8335

B2

_Front & Back

S

B-B SECTION

7S
j_( &1 T’/ (f&LF
;o;

R

Shaft Direction

C1

D2

2,
0.
7/7>
D4

unit: mm

60

m--n---—
A1 811 (14)-19 1924 2832 32-35 32-35 38424855
A2 |30-40-50 | 50-60-70 | 50708095 | 70~80-95-110 | 95-110-130 | 110-130180 | 110130180 |114.3-180 230 -250

AW A3 M3-M4-M5 M4 M5-M6|  M5-M6 M5-M6-M8 |M6-M8-M10|M8-M10M12|M8-M10-M12|  M12-M16
A4 | 466063 | 70-75-90 |70-90100~115/90100115-145| 115145165 145165200 | 145165200 | 200 - 215265300
A5 | 46-55 | 64-70-80 | 80-92-110 | 92:110-130 |122-130-150| 146150190 | 146150190 | 182200250265
A6 | M3xP.05 | M5xP0.8 | M5xP0.8 M6xP10 | M8xP125 | MIOXxP1.5 | M10xP1.5 M10 x P1.5
B1 157 201 (224.5)237 287 340 405 430 508510
B2 67 86 (84.5)-97 17 148 190 190 244246
B3 90 115 140 170 192 215 240 264
B4 78 98 118 144 164 182 206 224
B5 39 49 59 72 82 91 103 12
B6 26 32 (33.5)-45.5 59 67 84.5 84.5 114.5-116.5
B7 5 6 (6)-10 9 10 10 10 11.5-13.5
B8 84 103 128 148 173 200 227 254
B9 6.8 9 11 11 13.5 15 17.5 17.5
B10 44 54 66 80 95 104 120 140
B11 22 27 33 40 475 52 60 70
B12 | M6xP1.0 |M8xP1.25| M10xP1.5 | M12xP175 | M12xP1.75 | M14xP2.0 | M16xP2.0 M16 x P2.0
c1 121 146 180 214 245 275 310 350
c2 42 52 64 76 84 91,5 103 18
c3 79 94 120 138 161 183.5 206 231
c4 2 2 2 2 2 2 2 2

C s 5 5 5 5 5 5 5 5
cé 25 30 40 50 65 80 90 100
c7 35 40 50 60 75 90 100 110
cs 9 14 18 23 27 32 38 42
co 60 80 100 120 138 146 166 196
D1 20 24 32 40 48 55 60 70
D2 6 8 10 12 12 14 14 16
D3 225 27 35 43 51 58.5 63.5 74
D4 | M6xP1.0 [M8xP1.25| M10xP15 M10xP1.5 | M12xP1.75 | M16xP2.0 | M20xP2.5 M20 x P2.5

8 3.8 6.3 10.9 17.7 29.6 45.2 57.4 94.6




HY-DS series

RATIO : 5.10.15 ( B 1-Stage)

BATIEL - BEHE O
Single Input Shaft - Single Output Shaft

#B10 h7
B12

g |
eI
ﬁgm;‘igmf
[ ! ]

R &
Shaft Direction

B AN A4

A-A SECTION

B4

B8 c3 _c2
& .
F D2 —?- ]
- SN
= [ [
o, | »
D4 B—~
BB B-B SECTION LH N
Front & Back co i
unit: mm
B I T T T T T
A1 14 19 24 28 32 32 38 40
A A2 5 6 8 8 10 10 12 12
A3 16 21.5 27 31 35 35 4 43
A4 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5 M12x P1.75 | M12x P1.75
B1 2.5 2.5 2.5 2.5 5 5 5 5
B2 20 25 35 35 40 40 50 50
B3 147 180.5 218 260 293 315 367 402.5
B4 57 65.5 78 90 101 100 127 138.5
B5 90 115 140 170 192 215 240 264
B6 78 98 118 144 164 182 206 224
B7 39 49 59 72 82 91 103 112
B8 27 32 42.5 42.5 52.5 51.5 63 63.5
B9 25 30 40 40 50 50 60 60
B10 84 103 128 148 173 200 227 254
B11 6.8 9 11 11 13.5 15 17.5 17.5
B12 44 54 66 80 95 104 120 140
B13 22 27 33 40 47.5 52 60 70
B14 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 xP1.75 | M12 x P1.75 M14 x P2.0 M16 x P2.0 M16 x P2.0
C1 121 146 180 214 245 275 310 350
Cc2 42 52 64 76 84 91.5 103 118
C3 79 94 120 138 161 183.5 206 231
C4 2 2 2 2 2 2 2 2
C C5 5 5 5 5 5 5 5 5
Cé 25 30 40 50 65 80 90 100
Cc7 35 40 50 60 75 90 100 110
C8 ¢ 14 18 23 27 32 38 42
C9 60 80 100 120 138 146 166 196
D1 20 24 32 40 48 55 60 70
D2 6 8 10 12 12 14 14 16
D3 22.5 27 35 43 51 58.5 63.5 74
D4 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M12 x P1.75 M16 x P2.0 M20 x P2.5 M20 x P2.5
Weight =41 2.9 5.0 8.7 12.0 2141 32.8 42.0 64.6




(EhAELE

= Saapal::: v
Input Flange - Double Output Shaft

R ERFEY HIGH PRECISION HYPOID GEAR REDUCER

HY-FV series

RATIO : 5.10.15 ( B¢ 1-Stage)
AFT% -

#B8 h7

D3

B10
B11‘ ]
“
! SIS 8-B12
‘ Up & Down
[ |
e
OEJ ‘ I ﬂ}
R e
[’ )|
) [ |
J

2,
0
7 s
D4

B-B SECTION

B4

e

8-8B9
_Front & Back

#A1| D E
#35| 10
#38| 10
42| 12
#48| 14

unit: mm

62

m--n---—
A1 811 1419 1924 2832 3538 4248
A2 |30-40-50 | 506070 | 50708095 | 70-80-95-110 | 95-110130 | 110~130~180 | 110130180 114.3-180-230 250
AN A3 (M3 M4-MS|M4 M5 M6| M5 M6 M5-M6-M8 |M6-M8-M10{M8~M10-M12|M8-M10-M12|  M12-M16
A4 | 466063 | 707590 |70-90100115/90 100115+ 145|115~ 145~ 165| 145165200 | 145 165-200| 200215265300
A5 46-55 | 64-70-80 | 80-92-110 | 92:110-130 |122-130150| 146150190 |146-150190| 182200250 - 265
A6 | M3xP.05 | M5xP0.8 | M5xP0.8 M6xP1.0 | M8xP1.25 | MIOxP1.5 | M10xP1.5 M10 x P1.5
B1 123 158 202 241 286 333 358 417419
B2 33 43 62 71 94 118 118 153155
B3 90 115 140 170 192 215 240 264
B4 78 98 118 144 164 182 206 224
B5 39 49 59 72 82 91 103 112
B6 26 38 49 58 69.5 81.5 81.5 114.5-116.5
B7 5 6 9 8 10 10 10 11.5-13.5
B8 84 103 128 148 173 200 227 254
B9 6.8 9 11 1 13.5 15 17.5 17.5
B10 44 54 66 80 95 104 120 140
B11 22 27 33 40 475 52 60 70
B12 | M6xP1.0 |M8xP1.25| M10xP1.5 M12xP1.75 | M12xP1.75 | M14xP2.0 | M16xP2.0 M16 x P2.0
c1 158 188 232 276 322 367 412 462
c2 79 94 116 138 161 183.5 206 231
c3 60 80 100 120 138 146 166 196
c4 2 2 2 2 2 2 2 2
C e 5 5 5 5 5 5 5 5
cé 25 30 40 50 65 80 920 100
c7 35 40 50 60 75 90 100 110
cs 9 14 18 23 27 32 38 42
D1 20 24 32 40 48 55 60 70
D2 6 8 10 12 12 14 14 16
D3 225 27 35 43 51 58.5 63.5 74
D4 | M6xP1.0 |[M8xP1.25| M10xP15 M10xP1.5 | M12xP1.75 | M16xP2.0 | M20x P2.5 M20 x P2.5
E 3.4 5.4 97 15.3 231 347 474 74.0




HY-RV series

RATIO : 25.50.75.100.150 ( #Eg 2-Stage)

RBECITERIER - 2580
Fitted with Planetary Reducer - Double Output Shaft

8-B12
Up & Down

2 )
7 (NIAB3B(A LD
D4 @A1| D E

$38| 10 |41.3
®42| 12 |45.3
$48| 14 |51.8
#55| 16 |59.3

B-B SECTION

B2

B7

||
[ =
pr—
oM

A

A2 Hg |

C8

8-9B9
_Front & Back

unit: mm
m--n---—
Al 8- 11 (14)~19 19-24 28-32 32-35 32-35 38-42-48-55

A2 304050 | 50-60-70 | 50-70-80-95 | 70-80-95-110 | 95-110-130 |110-130-180|110~130-180|114.3-180-230-250
A A3 |M3-M4-M5/M4-M5- M6 M5+ M6 M5-M6-M8 |M6-M8-M10/M8-M10-M12|M8-M10~M12 M12-M16
A4 46-60-63 | 70-75-90 |70~90-100-115|90~100~115-145|115-145-165|145~165-200| 145~ 165~200 | 200-215~265 300
A5 4655 64-70-80 80-92-110 92-110-130 |122-130-150|146-150-190|146-150-190| 182~200 250265
A6 M3 x P.05 | M5x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 | M10 x P1.5 M10 x P1.5 M10 x P1.5
B1 157 201 (224.5)~237 287 340 405 430 508510
B2 67 86 (84.5)~97 117 148 190 190 244-246
B3 90 115 140 170 192 215 240 264
B4 78 98 118 144 164 182 206 224
B5 39 49 59 72 82 91 103 112
B6 26 32 (33.5)-45.5 59 67 84.5 84.5 114.5-116.5
B7 5 6 (6)-10 9 10 10 10 11.5-13.5
B8 84 103 128 148 173 200 227 254
B9 6.8 9 1 11 13.5 15 17.5 17.5
B10 44 54 66 80 95 104 120 140
B11 22 27 33 40 475 52 60 70
B12 M6 x P1.0 | M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75 | M14 x P2.0 M16 x P2.0 M16 x P2.0
C1 158 188 232 276 322 367 412 462
Cc2 79 94 116 138 161 183.5 206 231
C3 60 80 100 120 138 146 166 196
C4 2 2 2 2 2 2 2 2
C C5 5 5 5 5 5 5 5 5
C6 25 30 40 50 65 80 90 100
Cc7 35 40 50 60 75 90 100 110
Cc8 9 14 18 23 27 32 38 42
D1 20 24 32 40 48 55 60 70
D2 6 8 10 12 12 14 14 16
D3 225 27 35 43 51 58.5 63.5 74
D4 M6 x P1.0 | M8 xP1.25| M10xP1.5 M10 x P1.5 M12xP1.75 | M16xP2.0 | M20x P2.5 M20 x P2.5
WEF S= 4.0 6.6 11.5 18.9 31.7 41.2 61.6 100.6

63




faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

HY-DV series

RATIO : 5.10.15 ( B¢ 1-Stage)

EBATIEL - EEH B O
Single Input Shaft - Double Output Shaft

810 h7

B12

I

C6
Cc7

8-B14

Up & Down

B2 B1

Q

B3

B4

]
<

)
[a]

B A1h7 A4

A-A SECTION

B-B SECTION

. C4

: | Ve o\ | RS
2 W\ /)
B~ p ¢ I+ B
89B11 *:U—[—-U.:_
Front & Back cs
unit: mm
ENEEN NN RN R RN

A1l 14 19 24 28 32 32 38 40

A2 5 6 8 8 10 10 12 12

A3 16 21.5 27 31 35 35 41 43

A4 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5 M12 x P1.75 M12 x P1.75

B1 25 25 25 25 5 5 5 5

B2 20 25 35 35 40 40 50 50

B3 147 181 218 260 293 315 367 403

B4 57 66 78 90 101 100 127 139

B5 90 115 140 170 192 215 240 264

B6 78 98 118 144 164 182 206 224

B7 39 49 59 72 82 91 103 112

B8 27 32 42.5 42.5 52.5 51.5 63 63.5

B9 25 30 40 40 50 50 60 60

B10 84 103 128 148 173 200 227 254

B11 6.8 9 11 1 13.5 15 17.5 17.5

B12 44 54 66 80 95 104 120 140

B13 22 27 33 40 475 52 60 70

B14 M6 x P1.0 M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75 M14 x P2.0 M16 x P2.0 M16 x P2.0

C1 158 188 232 276 322 367 412 462

c2 79 94 116 138 161 183.5 206 231

C3 60 80 100 120 138 146 166 196

C4 2 2 2 2 2 2 2

C5 5 5 5 5 5 5 5 5

C6 25 30 40 50 65 80 90 100

Cc7 35 40 50 60 75 90 100 110

C8 9 14 18 23 27 32 38 42

D1 20 24 32 40 48 55 60 70

D2 6 8 10 12 12 14 14 16

D3 225 27 35 43 51 58.5 63.5 74

D4 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M12 x P1.75 M16 x P2.0 M20 x P2.5 M20 x P2.5
64 EE 3.1 5.3 9.2 14.7 23.6 37.7 47.8 70.6




HY-FP series

RATIO : 5.10.15 ( B 1-Stage)

ATDER - BER
Input Flange - Ball Screw

8-B12
Up & Down

C3

C1

Cc2

C4

B2

B5

B4

8-¢B9

Front & Back cs unit: mm
I N I N N T I
Al 14 1419 1924 2832 35 35-38 42-48
A2 506070 | 50-70-80-95 70-80-95-110 95-110-130 | 110-130-180 | 110-130-180 | 114.3-180-230250
A A3 M4 M5 - M6 M5 - M6 M5-M6 - M8 M6-M8-M10 | M8-M10-M12 | M8~ M10-M12 M12~M16
A4 70-75-90 (70-90-100-115| 90-100-115-145 | 115-145-165 | 145-165-200 | 145-165-200 | 200-215-265 300
A5 64-70-80 80-92-110 92-110-130 122-130-150 | 146-150-190 | 146150190 182-200-250-265
A6 M5 x P0.8 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5
B1 158 202 241 286 333 358 417419
B2 43 62 71 94 118 118 1563155
B3 115 140 170 192 215 240 264
B4 98 118 144 164 182 206 224
B5 49 59 72 82 91 103 112
B6 38 49 58 69.5 81.5 81.5 114.5-116.5
B7 6 9 8 10 10 10 11.5-13.5
B8 103 128 148 173 200 227 254
B9 9 11 11 13.5 15 17.5 17.5
B10 54 66 80 95 104 120 140
B11 27 33 40 47.5 52 60 70
B12 M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75 M14 x P2.0 M16 x P2.0 M16 x P2.0
C1 125 140 177 193 205 230 260
C2 58 66 78.5 87 94 107 123
C3 67 74 98.5 106 111 123 137
C4 3.25 2 2.5 2 2.5 2.5 3
C C5 50 58 72 72 82 92 117
C6 75 82 105 121 123 138 143
Cc7 14 18 23 27 32 38 42
Cc8 80 100 120 138 146 166 196
D1 54.7 64.7 89.7 89.7 99.7 117.7 129.7
D2 22 30 38 40 44 54 65
D3 34 40 58 58 64 75 90
D4 M5 x P0.8 M5 x P0.8 M10 x P1.5 M10 x P1.5 M10 x P1.5 M12 x P1.75 M12 x P1.75
D5 45 51 77 77 84 97 112
8 4.3 8.3 12.7 18.7 26.9 37.9 58.9

65




#B8 h7

faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

HY-RP series

RATIO : 25.50.75.100.150 ( #Eg 2-Stage)

RBEITERIE - B2
Fitted with Planetary Reducer - Ball Screw

8-B12

Up & Down

B2

B6

i =nn

A
— > H
| L

8-$B9
Front & Back

ot
A ‘

fi
|

[

C6

unit: mm

66

S L e | e e e | w | w
A1 14 (14)-19 1924 2832 3235 32-35 38424855
A2 | 506070 | 50-70-80-95 | 70-80-95-110 | 95-110-130 | 110-130-180 | 110130180 | 114.3-180-230-250

B A3 | M4-M5-M6 M5 - M6 M5~M6-M8 | M6~M8-M10 | M8-M10~M12 | M8~M10-M12 M12-M16
A4 | 70-75-90 |70-90-100-115| 90100115145 | 115145165 | 145-165-200 | 145165200 | 200215265300
A5 | 64-70-80 | 80-92-110 92:110-130 | 122130150 | 146150190 | 146150190 | 182-200 250265
A6 | M5xP0.8 M5 x P0.8 M6 x P1.0 M8xP125 | M10xP15 | M10xP1.5 M10 x P1.5
B1 201 (224.5)-237 287 340 405 430 508510
B2 86 (84.5)-97 17 148 190 190 244246
B3 115 140 170 192 215 240 264
B4 98 118 144 164 182 206 224
B5 49 59 72 82 91 103 112
B6 32 (33.5)-45.5 59 67 84.5 84.5 114.5116.5
B7 6 (6)-10 9 10 10 10 115135
B8 103 128 148 173 200 227 254
B9 9 11 1 13.5 15 17.5 17.5
B10 54 66 80 95 104 120 140
B11 27 33 40 475 52 60 70
B12 | M8xP1.25 | MI10xP15 M12 x P1.75 M12xP1.75 | M14xP2.0 | M16xP2.0 M16 x P2.0
c1 125 140 177 193 205 230 260
c2 58 66 78.5 87 94 107 123
c3 67 74 98.5 106 11 123 137
c4 3.25 2 2.5 2 25 25 3

C 50 58 72 72 82 92 17
cé 75 82 105 121 123 138 143
c7 14 18 23 27 32 38 42
cs 80 100 120 138 146 166 196
D1 54.7 64.7 89.7 89.7 99.7 17.7 129.7
D2 22 30 38 40 44 54 65
D3 34 40 58 58 64 75 90
D4 | M5xP0.8 M5 x P0.8 M10 x P1.5 M10xP15 | MI10xP1.5 | M12xP175 M12 x P1.75
D5 45 51 77 77 84 97 112

E 5.5 10.1 16.4 27.3 4.5 52.5 85.5




HY-DP series

RATIO : 5.10.15 ( B 1-Stage)

BANEL - 12125
Single Input Shaft - Ball Screw

?B10 h7
B12
B13 8-B14
| Up & Down
[ 1
( B2, B 6-D4

C3

T ]

€39

| :

]
#B10 h7

B3

C1

c2
o
4

C4

0B5 B4
B8
B9
A A2 (M
5] | D
< oy -
A A4 e el
P Aln7
A-A SECTION
8-#B11 — i

Front & Back

unit: mm

S N N N T N
19 24 28 32 32 38 40

A1
A2 6 8 8 10 10 12 12
A3 21.5 27 31 35 35 4 43
A4 M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10 x P1.5 M12 x P1.75 M12 x P1.75
B1 2.5 2.5 2.5 5 5 5 5
B2 25 35 35 40 40 50 50
B3 181 218 260 293 315 367 403
B4 66 78 90 101 100 127 139
B5 115 140 170 192 215 240 264
B6 98 118 144 164 182 206 224
B7 49 59 72 82 91 103 112
B8 32 42.5 42.5 52.5 51.5 63 63.5
B9 30 40 40 50 50 60 60
B10 103 128 148 173 200 227 254
B11 9 1 1 13.5 15 17.5 17.5
B12 54 66 80 95 104 120 140
B13 27 33 40 47.5 52 60 70
B14 M8 x P1.25 M10 x P1.5 M12 x P1.75 M12 x P1.75 M14 x P2.0 M16 x P2.0 M16 x P2.0
C1 125 140 177 193 205 230 260
Cc2 58 66 78.5 87 94 107 123
C3 67 74 98.5 106 M 123 137
C4 3.25 2 2.5 2 2.5 2.5 3
C5 50 58 72 72 82 92 117
C6 75 82 105 121 123 138 143
Cc7 14 18 23 27 32 38 42
C8 80 100 120 138 146 166 196
D1 54.7 64.7 89.7 89.7 99.7 17.7 129.7
D2 22 30 38 40 44 54 65
D3 34 40 58 58 64 75 90
D4 M5 x P0.8 M5 x P0.8 M10 x P1.5 M10 x P1.5 M10 x P1.5 M12 x P1.75 M12 x P1.75
D5 45 51 77 77 84 97 112
B8 4.2 7.8 12.2 19.2 29.6 38.7 55.5




68

& A s 2R e e iR 5 2% HIGH PRECISION HYPOID GEAR REDUCER
Reference Information of Ball Screw
RIKEBESZER

‘ J

I

. ‘

DA
I I
S L R R

& EABEER - e - !
B | many | RIREEE | g S8 e 2447, a7,
el Screw Size Nut Flange FIT Screw Bolt Oil Hole
E:J’ilu Load (kgf

Model of| SME | B2 | R | BRM
Reducer| O.D. D namic| Static L A T W S X Y Z

55

75 20 6 1,380 2,730 34 61 57 12 45 12 55 | 95 | 55 | M6xP1
90 25 8 1,630 3,650 40 69 63.5 12 51 15 5.5 9.5 55 | M8xP1
115 36 10 3,600 8,280 58 89 98 18 77 20 1 17.5 1 M8 x P1
130 36 10 3,600 8,280 58 89 98 18 77 20 1" 17.5 1 M8 x P1
140 40 10 4,670 11,830 | 64 99 106 18 84 20 1 17.5 1 M8 x P1
160 50 12 5,770 14,870 | 75 111 121 22 97 20 14 20 13 1/8"PT
190 63 12 9,320 29,150 | 90 136 | 136 22 112 20 14 20 13 1/8"PT

<1500

<1500
<1500
<1500
<1500
<1500
<1500




Flange (B)
fieR& (B)

102 128 148 168 198 228 248
15 16 20 23 24 23 27

M6 x P1.0 M8 x P1.25 M8 x P1.25 M10 x P1.5 M10 x P1.5 M10xP1.5 | M12xP1.25
80 100 120 140 160 180 200

s I I T I N I I
A - 25 30 40 45 50 55 60
B -
C -
D
E

69




faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

HK series

/ Indication of Model Numbers
BRI

I_ﬂ-m-

LR 1%t REPAEZN ahE #th BRER
Type Model Output Bearing Ratio Backlash Class Motor Type
HK 64 B : RIREhE 5 PO<3

90 Ball Bearing 10 P1<6

110 (64#~140#) 15 P2<9

140

200 T @ R
Taper Bearing
(200#)

70



Characteristic of HK Series

HK 25 EZEmf5HtE

B EDRI R 1-Stage

%tb
#1% Model No.
: o | w0 .
2B 7E# 18 / Rated Output Torque
T Nm 10 25 60 117 220 615
(Nominal output torque)
15 20 50 95 180 510
B ANN:RAFE / Max. Acceleration Torque [IVASEEEN 5~15 1.5 ZEEEHM LI 1.5 Times of Rated Output Torque
EABH R / Max. Output Torque
; 145 / Emergency Sfop Torgue Tor| Nm 5~15 3 fZEaE L 7R 3 Times of Rated Output Torque
5 2,200 1,800 1,500 1,150 700
RE e A B2 / Rated Input Speed mn | rpm 10 3,300 2,700 2,200 1,800 1,200
15 4,000 3,300 2,800 2,300 1,600
B KE AR / Max. Input Speed ng | rpm 5~15 6,000 5,000 4,000 3,000 3,000
PO <3 <3 <3 <3 <3
£5P% / Backlash J, |arcmin| P1 <6 <6 <6 <6 <6
P2 <9 <9 <9 <9 <9
B[ | Max. Radial Force
% #Z Ball Bearing Fop N 5~15 1,040 2,366 3,900 5,837 -
AEFERES] / Max. Axial Force
BT Ball Bearing Fop N 5~15 520 1183 1950 2919 -
FFHFE @A / Max. Radial Force P . S e
7R S8l Taper Bearing e ) i i i ’
AEFEE 7] / Max. Axial Force » . TR o
=87 Taper Bearing 0 i i i i ’
- L 5 S5 EEAEH : >30,000 (S1 EAEEH : >15,000 hrs)
fefEmm / Service Life Lu b 5~15 S5 Cycle Operation: >30,000 (S1 Continuous Operation: >15,000 hrs)
5 > 96%
g # | Efficiency n %
10~15 >93%
f#FRE / Operating Temperature °C 5~15 -10°C ~ +90°C
bE % / Lubrication 5~15 ZEAUEEH Synthetic Oil
% & {8 / Noise Level dB 5~15 <66 | <67 <68 <69 <70

Eﬁiﬂ fag Mass Moments of Inertia (kgcm?)

_“_

0.23 0.58 1.41 4.00 13.53
10 0.15 0.38 1.00 2.46 7.38
15 0.13 0.34 0.81 2.07 5.76

71




faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

HK series

RATIO : 5.10.15 ( E2Ex 1-Stage)

1-A10 w7

A2
A3 h7
A4 h7

A5
AG H7

A7

A8

A9
A10 H7
B1H8

B2

B3

B4

B5

B6

B7

B8

B9

C1

C2

C3

C4
C5H8

B9
I N T N
79 109 135 168

8-4.5
40
64

5
20
86
31.5
7-M5 x P0.8
5
15
19.5

104.5
466063
M3~ M4« M5
11
26
30-40-50
M3 x P0.5
4655
69
112
1/8"PT
9
43

B4

|
‘
1
B7 T
|

B5 |

8A4 n7
A3 nh7
PCD A8
3 AB H7

C4

C8

#B1 He
C9

B3

8-5.5
63
90
6
31.5
118
50
7-M6 x P1.0
6
30
30
12
6
10
12
7
6
152
90110115145
M5~ M6 - M8
24
59
70-80-95-110
M6 x P1.0
92-110+130
126.5
185.5
1/8"PT
14
65

8-5.5
80
110
9
40
146
63
11-M6 x P1.0
6
30
29
12
6
10
12
8
7
168
115145165
M6 - M8~ M10
32
67
95110~ 130
M8 x P1.25
122130150
149
222.5
1/4"PT
18
77

12-6.6
100
140
10
50
179
80
11-M8 x P1.25
8
40
38
12
6
15
16
10
7
200
115-145-165
M6~ M8 - M10
35
82
95110130
M8 x P1.25
122-130+-150
179
268.5
1/4"PT
23
90

unit: mm

233

12-9.0
160
200
10
80
248
125
11-M10 x P1.5
10
55
50
16
8
15
22
12
10
260
145-165-200
M8-M10-M12
42
84.5
110-130+180
M10 x P1.5
146150190
228
352.5
1/4"PT
32
17







74

BB

HF series

R ERFEY HIGH PRECISION HYPOID GEAR REDUCER

Indication of Model Numbers
LB R B R

Eﬂ“ﬂ-m-

R | [ BUSR HAFRR aEZ =3 Eish
Type Model Output Bearing Ratio Backlash Class Motor Type
HF 60 O: HshZedy B : JRERE 5 PO<3
75 Hollow Output Shaft Ball Bearing 10 P1<6
100 N: B2 RME (HRE) 15 P2<9
140 Single Clamping
180 (Keyway)

N1: EE2RRME (RRE)
Single Clamping
(No Keyway)
M: 2R RME
Double Clamping
S: B NEL (BRE)
Single Output Shaft
(Keyway)
S1: BH 8L (REE)
Single Output Shaft
(No Keyway)




Characteristic of HF Series

HF 25l ZEmi5 14

B BRI R 1-Stage

3315 Model No. 1

R T8 AR / Rated Output Torque
(Nominal output torque)

ZELE
Un|t Ratio

B AR / Max. Output Torque
= (4B / Emergency Stop Torque

=1 WASENES) J,

B[FEEA | Max. Radial Force
YR ERER7E Ball Bearing

AEFERE S / Max. Axial Force
R IRER7E Ball Bearing

A% / Service Life Ly

% 2/ Efficiency n

{EFIRE / Operating Temperature

e & / Lubrication

% & {8 / Noise Level

Tx | Nm 10 25 30 60 220 615
15 20 25 50 180 510
Nm 5~15 1.5 FEEEM LI 1.5 Times of Rated Output Torque
Tor| Nm 5~15 3 fZRAEH R E 3 Times of Rated Output Torque
5 2,200 2,100 1,800 1,150 700
| rpm 10 3,300 3,200 2,700 1,800 1,200
15 4,000 3,900 3,300 2,300 1,600
rpm 5~15 6,000 5,000 4,000 3,000 3,000
PO <3 <3 <3 <3 <3
arcmin P1 <6 <6 <6 <6 <6
P2 <9 <9 <9 <9 <9
Fop N 5~15 1,040 1,495 2,366 5,837 7,020
Foun N 5~15 520 748 1,183 2,919 3,510
hr 5~15 S5 Eﬂﬁﬁﬁﬁ :>30,000 (S1 Eféﬁﬁg 2 >15,0F)0 hrs)
S5 Cycle Operation: >30,000 (S1 Continuous Operation: >15,000 hrs)
5~8 > 96%
%
10~15 > 93%
°C 5~15 -10°C ~ +90°C
5~15 ZBAUEBH Synthetic Oil
dB 5~15 <66 <66 <66 <68 <70

Eﬁiﬂ fﬁg Mass Moments of Inertia (kgcm?)

“_

0.23 0.23 0.58 4.00 13.53
10 0.15 0.15 0.38 2.46 7.38
15 0.13 0.13 0.34 2.07 5.76




faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

HF-FO series

RATIO : 5.10.15 ( BB 1-Stage)

ANER - Oz
Input Flange - Hollow Output Shaft

D1

NN

PCD A1
4-9 A2

C8

B6

C4

A5
D B2 h7

C10

unit: mm

85 120 165 215
A 6.5 9 11 13
20 28 40 55
5 8 12 14
A5 16.7 22.3 31.3 43.3 58.8
B1 62 76 106 142 190
B2 60 70 90 130 160
B3 18 18 27 27 26
B4 11 12 16 15.5 15.5
B5 6 7 10 12 15
B6 2 2 2 3 3
B7 103 113 151 193 247

C1 46-60-63 70-75-90 90-100-115-145 115-145-165 145-165-200

Cc2 M3~ M4 - M5 M4~ M5~ M6 M5~M6 M8 M6~M8-M10 M8-M10~M12
C3 11 14 24 35 42
C4 26 33 59 82 84.5

C5 30-40-50 50-60-70 70-80-95-110 95-110-130 110-130-180

C C6 M4 x P0.7 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5

C7 46-55 64-70-80 92-110-130 122-130+150 146-150-190
C8 5 6 9 10 10
C9 69 95.5 126.5 179 228
C10 100 133.5 179.5 250 323
D1 9 9 14 23 32
n D2 4.5 48 65 90 125

w5




HF-FN series

RATIO : 5.10.15 ( BB Bt 1-Stage)

ATER - BERREME
Input Flange - Single Clamping

D1

T #C3 3
L |
B3 B5
B ) B4 }
°
[&]
, -
iSY
& ‘ 4-PA2 22 37‘
0OB1 B8
unit: mm
B T R N T

A1 68 85 120 165 215
A2 55 6.5 9 1 13
A3 15 20 28 40 55
A4 4 5 8 12 14
A5 16.7 22.3 31.3 43.3 58.8
A6 22 28 38 52 73
A7 6-M6 6-M6 8-M6 8-M6 8-M6
B1 62 76 106 142 190
B2 60 70 90 130 160
B3 18 18 27 27 26
B4 1 12 16 15.5 15.5
B5 6 7 10 12 15
B6 2 2 2 3 3
B7 123.5 134 173 223 279
B8 127.5 138 177 228 283
C1 466063 70-75-90 90:100+115-145 115-145-165 145-165-200
Cc2 M3~M4-~M5 M4 -M5 - M6 M5~M6-M8 M6~ M8~ M10 M8-M10~M12
C3 11 14 24 35 42
C4 26 33 59 82 84.5
C5 30:40-50 50:60-70 70-80-95-110 95-110+130 110-130-180
Cc6 M4 x P0.7 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5
Cc7 46~ 55 64-70-80 92-110-130 122130150 146~150~190
C8 5 6 9 10 10
(04°] 69 95.5 126.5 179 228
Cc10 100 133.5 179.5 250 323
D1 9 9 14 23 32
D2 41.5 48 65 90 125
B8




faI AR FA 5 2 5 5 8 Bl 2R 1%  HIGH PRECISION HYPOID GEAR REDUCER

HF-FM series

RATIO : 5.10.15 ( BB 1-Stage)
ATEH - SRR RME

Input Flange - Double Clamping

D1

PB2 h7

Cc10

unit: mm

I T N S T
68 85 120 165 215

A2 5.5 6.5 9 1 13

A3 15 20 28 40 55

A4 22 28 38 52 73

A5 6-M6 6-M6 8-M6 8-M6 8-M6

B1 62 76 106 142 190

B2 60 70 90 130 160

B3 18 18 27 27 26

B4 1 12 16 15.5 15.5

B5 6 7 10 12 15

B6 144 155 195 253 311

B7 152 163 203 262 318.5

C1 46-60-63 70-75-90 90-100-115-145 115-145-165 145-165-200
Cc2 M3-M4 M5 M4 - M5 - M6 M5~ M6~ M8 M6~ M8~ M10 M8-M10-M12
C3 1 14 24 35 42

C4 26 33 59 82 84.5

C5 30-40-50 50-60-70 70-80-95-110 95110130 110-130+180
Cé6 M4 x P0.7 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5
c7 46-55 64-70-80 92-110-130 122-130-150 146-150-190
C8 5 6 9 10 10

Cc9 69 95.5 126.5 179 228

C10 100 133.5 179.5 250 323

D1 9 9 14 23 32

D2 41.5 48 65 90 125
Es




HF-FS series

RATIO : 5.10.15 ( BB Bt 1-Stage)
AFIARE - B A

Input Flange - Single Output Shaft

D1

B7

B8

A5

i
u

B6

unit: mm
N I N T N T
A1 68 85 120 165 215
A2 55 6.5 9 1 13
A A3 16 22 28 40 55
A4 5 6 8 12 16
A5 18 24.5 31 43 59
A6 M5 x P0.8 M8 x P.125 M10 x 1.5 M12 x P1.75 M16 x P20
B1 62 76 106 142 190
B2 60 70 90 130 160
B3 18 18 27 27 26
B4 11 12 16 15.5 15.5
B5 6 7 10 12 15
B6 2 2 2 3 8
B7 28 36 50 70 82
B8 25 32 45 60 70
B9 129 147 199 260 326
C1 466063 70-75-90 90:100+115-145 115-145-165 145-165-200
Cc2 M3~M4-~M5 M4 -M5 - M6 M5~M6-M8 M6~ M8~ M10 M8-M10~M12
C3 11 14 24 35 42
C4 26 33 59 82 84.5
C5 30:40-50 50:60-70 70-80-95-110 95-110+130 110-130-180
C Cc6 M4 x P0.7 M5 x P0.8 M6 x P1.0 M8 x P1.25 M10 x P1.5

Cc7 46~ 55 64-70-80 92-110-130 122130150 146-150-190
C8 5 6 9 10 10
(04°] 69 95.5 126.5 179 228
Cc10 100 133.5 179.5 250 323
D1 9 9 14 23 32

n D2 415 48 65 90 125

i

79



B PR in S & MR ER 6 2% LOW BACKLASH WORM REDUCER

WE series

B =25/ R 8 i
Backlash < 8 arcmin

BARDE EM - E RABAREEEE &
BEEE %‘/%K EABL 50°CLA L -

Indication of Model Numbers

IR RISR IR
i R T - 7S e
| T Z=23% Shaft BER
Type Output Shaft ;  Output Flange Model Ratlo Dircetion Motor Type
I
WE s EME [ 30 115 R
SO|IC| . None 40 1/10 L
_ ! 50 115
O: 228 CF B 0AES 60 1/20
Hollow . Output Flange
| ulput Hlang 70 1/30
N: RSEHE 1/40
Clamping E 1/50
5 1/60

80




Characteristic of WE Series

WE 5/ Z mi5 14

Shaft Direction
B ]

Bh ]
R: A8 (ANMEHES - HAMERTT)

L: A8 (ADHEHEC  BOMELTT )
VB AT EE 8

W 8 A JEHEE L )%

WV : € A DBhANEE 4 i

S FFAEH (R BEIRFRA AT AR B E )

Shaft Direction
R : Right Shaft (input shaft to the face; output shaft to the right)

L : Left Shaft (input shaft to the face; output shaft to the left)

V: Single Input Shaft & Double Output Shaft

W : Double Input Shaft & Single Output Shaft

WYV : Double Input Shaft & Double Output Shaft

S : Special shaft (for any order, please specify your need clearly
or attach drawings)

e
et LR AATRST - A NIRRT E 77 O HEE R - B
R Etomhess - TR IR SRR AERE -

Rotary Direction
upper worm for right-directed thread, so the input shaft is

rotating clockwise and the output shaft counterclockwise; for
any rotating direction required, be sure to specify it.
Y ’ peer iz 88 751E)

Rotation Direction

81




B PR in S & MR ER 6 2% LOW BACKLASH WORM REDUCER

Characteristic of WE Series

WE 5! Z mi5 14

WES WESF
OE/L# Solid output shaft

WEO WEOF
O ZEEl Hollow output shaft O™ ZEEf Hollow output shaft

WEN WENF
O ZE#H&E# Clamping output shaft O ZEHh#, Clamping output shaft

82




Characteristic of WE Series

WE %5 Z 514

8.3

22.3 30.6 41.2 70.6
5
90.3 92.3 92.6 92.6 93.6
8.8 20.7 41.9 65.9 92
10
83.7 86.6 89.6 90.1 90.5
11.4 26.2 40.9 64.5 90
15
81.9 83.7 85.3 86.1 86.6
RE 6
8 E 8 2B / Rated Output Torque . Nm .52 226 40.7 63.5 106.1
(Nominal output torque) e 20
72.3 76.6 81.7 82.4 85.1
121 27.4 43.2 67.9 95
. % 30
= / Efficiency ° 69.6 72.3 74.5 75.9 76.7
9.2 24.3 43.8 69.1 111
40
56.8 66.3 69.2 70.3 74.3
10.4 24 43.6 69.2 105.6
50
58.7 64.6 67.7 68.9 71.2
9.6 20.5 36.1 58.3 100.5
60
54.6 56.8 59.3 61.3 68.8
EAHIH R / Max. Output Torque
. 7 Nm 5~60 2 EREEH HIRE 2 Times of Rated Output Torque
={=114E / Emergency Stop Torque ot - : P g
XA B8 A B2 / Rated Input Speed Min rpm 5~60 2,000
E A AR / Max. Input Speed i rpm 5~60 3,000
= F2 / Backlash Ps arcmin 5~60 <8
BFFEE A / Max. Radial Force Fop N 5~60 1,830 3,490 4,840 6,270 7,380
BEFFEhE 7] / Max. Axial Force Fip N 5~60 915 1,745 2,420 3,135 3,690
= A ; - S5 FRAERE : >12,000 (S1 EAH3E#E : >6,000hrs)
M / Service Life Ly hr 5~60 | 55 cycle Operation: 12,000 (S1 Continuous Operation: >6,000hrs)
fEFRE / Operating Temperature °C 5~60 -15°C~+45°C
¥ B /Lubrication 5~60 A MEBH Synthetic Grease
BhES4R | Protection Class 5~60 IP65
Z #5751 / Mounting Position 5~60 EE75E Any

83




B PR in S & MR ER 6 2% LOW BACKLASH WORM REDUCER

WES series

RATIO : 5.10.15.20.30.40.50.60

Input bore

16-Z

S
Y
W
D

OUTPUT SHAFT

o3
w

L
Qux
<©
<m
w5
Xa
= Z
(@)
=

5

5

18

35

30
8-M6 x P1.0

65

55
46 - 60 ~ 63

M3 x P0.5

M4 x P0.7
M5 x P0.8

46 -~ 55
M3 x P0.5
30 - 40 ~ 50
8
100

B2 U R4 1/5~1/40 OJ A -

84

6
6 8
225 28
40 50
35 45
12-M6 x P1.0 12-M6 x P1.0
77 95
60 70
707590 707590
M4 x P0.7 M4 x P0.7
M5 x P0.8 M5 x P0.8
M6 x P1.0 M6 x P1.0
64 -~ 70 ~ 80 64 - 70 ~ 80
M5 x P0.8 M5 x P0.8
50+ 60~ 70 506070
14 19
122 -~ 125+ 130 145 - 150

AF
S
AG AE ¢ |l.b
Output shaft
_ [ HH 1 {
— == 7:—
;';_‘I\\\_W“O &
[ _J//
il g
AE |2
PCD JA . @
J ASY
-
= - 1
; i ;
AC
AD

P 108 6 99.5(67.5| 60

PG 140 | 89 | 70 [102| 75|34 | 6 [127 |85 |80 | 2 | 60 | 72 | 40 | 50 | 90 | 55
[ 158 | 98 | 80 | 120 |85 | 41 | 6 |150/100| 94 | 3 | 70 | 85 | 50 | 60 | 105 65
P 195 (122 (100 (146 | 10 | 59 | 9 |159|105|102| 3 | 85 [103| 60 | 75 | 136 | 83
[ 219|134 120|170 | 12 | 59 | 9 |187|125|118| 3 | 90 |110| 70 | 85 | 150 | 90

8
28
50
45
12-M8 x P1.25
120
80

90 ~ 100 ~ 115 ~ 145

M5 x P0.8
M6 x P1.0
M8 x P1.25

92 - 110 ~ 130
M6 x P1.0
708095+ 110
24

181 ~ 190 ~ 200

S Lalcluolele el o s oclaalorlas e s | [Tl T 5

M6 | 98
M8 | 122
M10| 145
M10| 180
M10| 200

35
40
53
60

unit : mm

I T N R T AN A

8
33
60
55
12-M10 x P1.5
140
90

100 ~ 115 ~ 145

M5 x P0.8
M6 x P1.0
M8 x P1.25

92~ 110 ~ 130
M6 x P1.0
708095+ 110
24
210 ~ 220

90 ~




WEO series

RATIO : 5.10.15.20.30.40.50.60

“Input bore

Output shaft

I 1T 1T 17

108

LL

\
sJB

H
HL

PG 140 89 | 70 [102| 75|34 | 6 | 88
[ 158 | 98 | 80 | 120 85| 41 | 6 | 98
P 195 (122 (100|146 10 | 59 | 9 | 108
[ 219134120 170 | 12 | 59 | 9 | 128

o | w | s | e | 0 |
14 20 25 25 30

16.3
5
8-M6 x P1.0
65
55
46 ~ 60 ~ 63
M3 x P0.5

M4 x P0.7
M5 x P0.8

46 -~ 55
M3 x P0.5
3040+ 50
8
100

OUTPUT SHAFT

o3
L

L
O
<O
<o
w5
Xa
= Z
@)
=

22.8
6
12-M6 x P1.0
77
60
707590
M4 x P0.7

M5 x P0.8
M6 x P1.0
64 -~ 70 80
M5 x P0.8
506070
14

125~

122 - 130

32.5| 60
44 | 80 | 2 | 60
50 [ 94 | 3 | 70
54 |102| 3 | 85
64 [118| 3 | 90

28.3
8
12-M6 x P1.0
95
70
70~75-90
M4 x P0.7

M5 x P0.8
M6 x P1.0

64 -~ 70~ 80

M5 x P0.8

50 - 6070
19

145~ 150

72
85
103
110

72 | 45
40 | 50 | 90 | 55
50 | 60 | 105 | 65
60 | 75 | 136 | 83
70 | 85 | 150 | 90

28.3
8
12-M8 x P1.25
120
80

90~ 100 ~ 115~ 145
M5 x P0.8
M6 x P1.0
M8 x P1.25

92110~ 130
M6 x P1.0
708095+ 110
24
181~ 190 ~ 200

1A

ST Lalclooleloe el o oo o ool or o oc | Lo Loz [ 5

M6 | 98
M8 | 122
M10 | 145
M10 | 180
M10 | 200

35
40
53
60

unit : mm

33.3
8
12-M10 x P1.5
140
90
90100~ 115~
M5 x P0.8

M6 x P1.0
M8 x P1.25

92~ 110~ 130
M6 x P1.0
708095+ 110
24
210 ~ 220

145

B2 URN % 1/5~1/40 OJA -

85



86

B PR in S & MR ER 6 2% LOW BACKLASH WORM REDUCER

WEN series

RATIO : 5.10.15.20.30.40.50.60

2

Output shaft

30 108 | 68 108

89 | 70 [ 102 | 7.5 | 34 6 128 | 46 | 80 2 60
98 | 80 | 120 | 8.5 | 41 6 146 | 53 | 94 3 70
122 | 100 | 146 | 10 | 59 9 154 | 57 [ 102 | 3 85
134 | 120 | 170 | 12 | 59 9 172 | 65 | 118 | 3 90

- 14 20 25
< 8-M6 x P1.0 12-M6 x P1.0 12-M6 x P1.0
N 65 77 95
|_
> 55 60 70
5 22 28 34
O 18 18 20

46 - 60 - 63 70~ 7590 70~ 7590

3 M3 x P0.5 M4 x P0.7 M4 x P0.7

tyw M4 x P0.7 M5 x P0.8 M5 x P0.8

> DOC M5 x P0.8 M6 x P1.0 M6 x P1.0

<@ 46 - 55 64~ 70 - 80 64 - 70 - 80

L

o = M3 x P0.5 M5 x P0.8 M5 x P0.8

9% 30~ 40 - 50 50~ 60 ~ 70 50~ 60 * 70

= 8 14 19

100 122+ 125+ 130 145 + 150

72
85
103
110

40 | 50 | 90 | 55
50 | 60 | 105 | 65
60 | 75 | 136 | 83
70 | 85 | 150 | 90

12-M8 x P1.25
120
80
35
20

90 - 100 ~ 115~ 145

M5 x P0.8
M6 x P1.0
M8 x P1.25

92110~ 130
M6 x P1.0
708095+ 110
24
181 ~ 190 ~ 200

I S 3 3 P P S 3 3 3 2 0 3 P DN EY B3 R )
55 | 80 6 32 5 36 | 60 2 45 | 58 | 30 | 40 | 72 | 45 | 27 | M6 | 98

35 | M8 | 122
40 | M10 | 145
53 | M10 | 180
60 | M10 | 200

12-M10 x P1.5
140
90
40
21

90 - 100 ~ 115~ 145

M5 x P0.8
M6 x P1.0
M8 x P1.25

92110~ 130
M6 x P1.0
708095110
24
210 ~ 220

IRz U R4 1/5~1/40 OJ A -




WESF series

RATIO : 5.10.15.20.30.40.50.60

N

N—"
oU

Input bore

|~ Output shaft

16-Z

1 Ap—— 1 )

108

o
N
N
o

89
98
122
134

70
80
100
120

7.5
8.5
10
12

N = o
= ©O O
o O oo

~ (SR E
o o

/

8-M6 x P1.0
65
55
70
5
85
M6 x P1.0
100
46 - 60 ~ 63
M3 x P0.5

M4 x P0.7
M5 x P0.8

46 -~ 55
M3 x P0.5
304050
8
100

OUTPUT SHAFT
1Er0€£z§SccXpo0s<o0
E & » 995

o3
L
O
Z0
S m
o5
o
= Z
@)
>

[ele}

HL

LL

BB

BE

BD

NB

LS
LK

1A

B

155
180
205
225

85
100
105
125

34
41
59
59

© © o O

225
40
35
12-M6 x P1.0
77
60
80
6
100
M8 x P1.25
120
707590
M4 x PO.7

M5 x P0.8
M6 x P1.0
64 ~70-80
M5 x P0.8
506070
14

125 -

122 ~ 130

80
94
102
118

70
80
100
100

60
70
85
90

W w W N

28

50

45
12-M6 x P1.0

95

70

95

6

120
M10 x P1.5

140
707590

M4 x P0.7

M5 x P0.8
M6 x P1.0

64 -~ 70 ~ 80

M5 x P0.8

506070
19

145 ~ 150

72
85
103
110

30
33
49
41

40
50
60
70

50 | 90

105
136
150

28
50
45
12-M8 x P1.25
120
80
130
7
160
M10 x P1.5
180

100 ~ 115 ~ 145

M5 x P0.8
M6 x P1.0
M8 x P1.25

92~ 110 ~ 130
M6 x P1.0
708095110
24
181190 -~ 200

90 -

I 33 0 ) 3 3 e 3 e P N PN A 1

127.5|67.5

55
65
83
90

I T N T
25 25 30

f
i

oN
oM

Cir———T———7%1

35
40
53
60

M8 | 122
M10 | 145
M10| 180
M10 | 200

unit : mm

33
60
55
12-M10 x P1.5
140
90
150
7
185
M12 x P1.75
210

100 ~ 115~ 145

M5 x P0.8
M6 x P1.0
M8 x P1.25

92~ 110~ 130
M6 x P1.0
708095110
24
210 ~ 220

90 -

B2 U RN % 1/5~1/40 OJA -

87




B PR in S & MR ER 6 2% LOW BACKLASH WORM REDUCER

WEOF series

RATIO : 5.10.15.20.30.40.50.60

Output shaft

BD

PCD P N—r
4K oU AG
{ - Input bore T
g
! S
O - |
L]
I
L
) T4

30 108

140
158
T 195
G 210

S
Y
W
J

'_
L
<
T
%)
'_
o)
o
'_
)
(@)

o8
L
0y
Z0
_,m
ol
[rD
c%
= Z
O
=

68
89
98

55 | 80
70 |{102|7.5
80 (120 8.5

122(100|146| 10
134 (120|170 | 12

16.3
5
8-M6 x P1.0
65
55
70
5
85
M6 x P1.0
100
46 ~ 60 ~ 63
M3 x P0.5

M4 x P0.7
M5 x P0.8

46 ~ 55
M3 x P0.5
3040~ 50
8
100

Bz U RS % 1/5~1/40 IJA -

1A

1B

92.5|32.5
34| 6 |114]| 44
41| 6 |130| 49
59 | 9 |154| 54
59 | 9 |164| 64

22.8
6
12-M6 x P1.0
77
60
80
6
100
M8 x P1.25
120
70~ 7590
M4 x P0.7

M5 x P0.8
M6 x P1.0

64 -~ 70 -~ 80
M5 x P0.8
50~ 60~ 70
14

122 - 125 - 130

60 | 45
70 | 60
80 | 70
100 85
100 | 90

W W w N

28.3
8
12-M6 x P1.0
95
70
95
6
120
M10 x P1.5
140
70~ 7590
M4 x P0.7

M5 x P0.8
M6 x P1.0

64~ 70 - 80

M5 x P0.8

50 60~ 70
19

145 ~ 150

72
85
103
110

30 | 40

33 | 50
49 | 60
41|70

28.3
8
12-M8 x P1.25
120
80
130
7
160
M10 x P1.5
180

100 ~ 115 ~ 145
M5 x P0.8
M6 x P1.0
M8 x P1.25

92~ 110 ~ 130
M6 x P1.0
708095~ 110

24
~ 190 ~ 200

90 »

181

90 »

S e e 2 e e e e S A
40 | 72 | 45
50 | 90 | 55
60 |105| 65
75 |136| 83

85 [150| 90

M6 | 98
M8 | 122
M10| 145
M10(180
M10/200

35
40
53
60

unit : mm

S AT T N T A

30
33.3
8
12-M10 x P1.5
140
90
150
7
185
M12 x P1.75
210

100 ~ 115 ~ 145
M5 x P0.8
M6 x P1.0
M8 x P1.25

92 -~ 110 ~ 130
M6 x P1.0
708095110
24
210 ~ 220




WENF series

RATIO : 5.10.15.20.30.40.50.60

(@11 p————— 1}

2 1 ool e o 1] o 9] oc]oo
32 | 5 2

1)

oo ool ol | 1 [ 2 5
58 | 30 | 30 27

[l 108 68 | 55 [ 80 | 6 114325 60 60 | 45 40 | 72 | 45 M6 | 98
T 140 89 | 70 [102|7.5| 34 | 6 |134| 44 |80 | 2 | 70 | 60 | 72 | 30 | 40 | 50 | 90 | 55 | 35 | M8 [122
[ 158 98 | 80 |120| 85|41 | 6 |153| 49 | 94 | 3 |80 | 70 | 85 | 33 | 50 | 60 |105| 65 | 40 |M10|145
P 195 122{ 100|146 | 10 | 59 | 9 |177| 54 [102| 3 |100| 85 |103| 49 | 60 | 75 |136| 83 | 53 [M10[180
[ 219134{120|170| 12 | 59 | 9 |186| 64 [118| 3 |100| 90 |110| 41 | 70 | 85 |150| 90 | 60 |M10|200

unit : mm

A I N N N
s 14 20 25 25 30
J 8-M6 x P1.0 12-M6 x P1.0 12-M6 x P1.0 12-M8 x P1.25 12-M10 x P1.5
JA 65 77 95 120 140
E JB 55 60 70 80 90
= uC 22 28 34 35 40
= o 20 20 21 21 22
N 70 80 95 130 150
8 NA 5 6 6 7 7
85 100 120 160 185
M6 x P1.0 M8 x P1.25 M10 x P1.5 M10 x P1.5 M12 x P1.75
100 120 140 180 210
46 - 60 - 63 707590 707590 90 - 100 - 115~ 145 | 90~ 100 - 115 - 145
o M3 x P0.5 M4 x P0.7 M4 x P0.7 M5 x P0.8 M5 x P0.8
W M4 x P0.7 M5 x P0.8 M5 x P0.8 M6 x P1.0 M6 x P1.0
=i M5 x P0.8 M6 x P1.0 M6 x P1.0 M8 x P1.25 M8 x P1.25
<@ 46 - 55 64 - 70 - 80 64+ 70 - 80 92+ 110 - 130 92+ 110 - 130
Z 5 M3 x P0.5 M5 x P0.8 M5 x P0.8 M6 x P1.0 M6 x P1.0
cZ 30 - 40 - 50 50 - 60 - 70 50 - 60 - 70 7080~ 95« 110 7080 - 95 - 110
e 8 14 19 24 24
100 122 125 + 130 145 ~ 150 181 ~ 190 - 200 210 ~ 220

Bz U R4 1/5~1/40 I -

89




90

B PR in S & MR ER 6 2% LOW BACKLASH WORM REDUCER

Technical Information

A&}

pEbiopd
HE R TR SR BB PR BN - B ER TR ST R )2 RS e SRR A
B -

ETIRRIBEREE -15° C SilEnt 45° C I - R E IR FomE -

ZTRRIBEREE 0° C I - WEREER KRG

1 —ERANFENRBEGERIREDTIE-

2 —HFENHRLARREEEREEFRFEANHEZEK -

3 —ERBHIERR EBEHNMESTERSHEER B ol TsEB L ERNASH  HReERE
HIBE -

EYIEM 100 /NIFE - 553 AER - B _ERTELIES 2000 /N E0R - M E RGBT E B BERIRIFRIZAMMES) -

Lubrication
In cases of ambient temperatures not envisaged in the table, call our Technical Service.

In the case of temperatures under -15 ° C or over 45 ° C it is necessary to use oil seals with special
properties.

For operating ranges with temperatures under 0° C it is necessary to consider the following:

1-The motors need to be suitable for operation at the envisaged ambient temperature.

2-The power of the electric motor needs to be adequate for exceeding the higher starting torques required.
3-During the early stages of service, problems of lubrication may arise due to the high level of viscosity
taken on by the oil and so it is wise to have a few minutes of rotation under no load.

After Initial 100 hours of usage, the interior of the reducing gear should be cleaned up and refill new oil.
And then, after every 2000 hours of usage replace new oil again. The period depends on the type of
service and the environment where the reduction unit works.

WE %%!] WE Series

Model C.C. HFEE (2% Q)
30# 30c.c. 25
40# 70c.c. 70
50# 140c.c. 150
60# 260c.c. 285
70# 360c.c. 390




Technical Information

A&}

2R R IEIRT

MRAEAEHENZES ARNEBRFARNEABER  F2E NHMREENSERESE -
IESh - EEREBR N EAFFIRE BRI AR IR R A SHHEE
— 155 PR AR B L B B AR S -

—ERRA B ERERER -

— BRI IR IR A D pEE R ERE RSB -

— LR R IR B MR R KRR LS -

—IRRAREENEER L (FE2E LAY ) K-
—ERIREINRE R RS E BN -

—ETIFRIZEBIRE -5 2 +40 ERFHEE AR °
—ZERABRMEH ERmIRIES -
—RLZEEENRERSIIRIED -

—REMSRRED -
—ZENRBEEREFAREBNIIRIES -

B IBRER (BENE D ) REKESIHERETD
BERERARNESREME (%) BEAEBAMER LMERERE (Z f.s.=1) =&
(*) 2 B2 IRpE AR RERERVAE  EEFE NS LIRE MESRE  fI5=  REBNETCHERFRIES -

Critical applications

For other mounting positions and/or particular input speeds, refer to the tables that highlight different
critical situations for each size of reduction unit.

It is also necessary to take due consideration of and carefully assess the following applications by calling
our Technical Service:

- Use in services that could be hazardous for people if the reduction unit fails.
- Applications with especially high inertia.

- Use as a lifting winch.

- Applications with high dynamic strain on the case of the reduction unit.

- In places with T° under -5° C or over 40° C.

- Use in chemically aggressive environments.

- Use in a salty environment.

- Use in radioactive environments.

- Use in environments pressures other than atmospheric pressure.

Avoid applications where even partial immersion of the reduction unit is required.

The maximum torque (*) that the gear reducer can support must not exceed three times the nominal
torque (f.s.=1) stated in the performance tables.

(*) intended for momentary overloads due to starting at full load, braking, shocks or other causes,
particularly those that are dynamic.

91



92

B PR in S & MR ER 6 2% LOW BACKLASH WORM REDUCER

Technical Information

A&}

ZEEIRFIR

B R EER - FBE R NIIEIR

—REE MR Bt 2 R RS - BB URESIRSANIER

— AR R 2 B R ER = 2 BT - R PR REERR IR R A RO B L B e ¥E 5 [0 2 A 1ERE -

— MR BEHEE R CANE 7T —RIEE 4 2 6 R ) MBAFXOBRERE B MPELAE T RA ZIRERN -
EEREZICHEER  AASA AT AR EM £ E2 0lpE R X E MM AEERIEIES ZINEE

— s TR RERENEREZEEBIGHZ T WEEBIRBSIIRIEZT - NB OBE R E 4 TIREEL
EFE - LUBIfE RS -

—EERFENHAERRERINMBESR  URTZEBBRIREE -

—EERERIIREE TAFIRIS 2T 15 E 2 +45 £ (NiB RSB - B RME M A SHEE -

—EEEH (B i MR S ) WAXREEBORE LM ZASANBAANEE T BLERIE
LM A BIREFEUR RS INGRIPTAE Z 4 - W LU B mACE B R E R 2~ At -

— BB R ZHRIE) - A EUBIERERIIERS - 52 ZF D8 -

—INAEIEREE SR - YRS s AR S R R L AR M BB IR - B RIRRESESE -

Installation
To install the reduction unit it is necessary to note the following recommendations:

- The mounting on the machine must be stable to avoid any vibration.

- Check the correct direction of rotation of the reduction unit output shaft before fitting the unit to the
machine.

- In the case of particularly lengthy periods of storage (4/6 months), if the oil seal is not immersed in the
lubricant inside the unit, it is recommended to change it since the rubber could stick to the shaft or may
even have lost the elasticity it needs to function properly.

- Whenever possible, protect the reduction unit against solar radiation and bad weather.

- Ensure the motor cools correctly by assuring good passage of air from the fan side.

- In the case of ambient temperatures < 15° C or > +45° C call the Technical Services.

- The various parts (pulleys, gear wheels, couplings, shafts, etc.) must be mounted on the solid or hollow
shafts using special threaded holes or other systems that anyhow ensure correct operation without risking
damage to the bearings or external parts of the units. Lubricate the surfaces in contact to avoid seizure or
oxidation.

- Starting must take place gradually, without immediately applying the maximum load.

- When there are parts, objects or materials under the motor drive that can be damaged by even limited
spillage of oil, special protection should be fitted.




Technical Information

A&}

BIERE
MR R IRIERE f.s. REORRIBE K B R RIERY
BRI -

IEMEEER
HERE:
—EEESRNREFEIE . A—B—C
—BREESENRE /NS /88X (2)
—RXEDROSAR : BUEDREL / /)\B ° (*)

SENERAREE LEAERR I

eHHm: A—19988 fa<0.3
B—9%EHE fa<3
—BIZiEE fa<10
fa = Je/dm

— Je (kgm?) BRENEH_ERUINEIHEENEE
— Jm(kgm?) FSENEE)IES
R fa >10 BAEREKMAEBE

Service factor

The service factor (f.s.) depends on the operating
conditions the

reduction unit is subjected to.

The parameters that need to be taken into
consideration to select the most adequate service
factor correctly comprise:

- type of load of the operated machine:A-B-C

- length of daily operating time : hours/day (A)

- start-up frequency : starts/hour (*)

TYPE OF LOAD: A -uniform fa<0.3
B -moderate shocks fa<3
C -heavy shocks fa<10

fa = Je/ldm

- fa factor of inertia

- Je (kgm?) moment of reduced external inertia at
the drive-shaft

- Jm(kgm?) moment of inertia of motor

If fa >10 call our Technical Service.

A —EKBsHNBRREBZEE BEEEER KaslX
W/ NBUBRES  THERGK BT - ReETE - IR -

B S AN TERE - BEYMAREE  FEes-
RIBAES - PEB R e SRR iiﬁﬁwa%ﬂﬁﬁ
PS Bl - BIE R L IR RERRENR

SREK - PR - B ERSR

—REUBH - BUPK DB - B O - TR IR
2R BRRBAEEN  ER Bat iz
SBAR - BAR - CERE MK - FBK B ORBEREE
fRENES - KOREHK -

A -Screw feeders for light materials, fans,
assembly lines, conveyor belts for light
materials, small mixers, lifts, cleaning machines,
fillers,control machines.

B -Winding devices, woodworking machine
feeders, goods lifts,

balancers, threading machines, medium mixers,
conveyor belts for heavy materials, winches,
sliding doors, fertilizer scrapers, packing
machines, concrete mixers, crane mechanisms,
milling cutters, folding machines, gear pumps.

C -Mixers for heavy materials, shears, presses,
centrifuges, rotating supports, winches and lifts
for heavy materials, grinding lathes, stone mills,
bucket elevators, drilling machines, hammer
mills, cam presses, folding machines, turntables,
tumbling barrels, vibrators, shredders.

2416 | 8 | 2 Kz TR
23-| 2-[18-]16
22-[19-[17-]15
21-/18-|16-| 1.4 C |
2 -|17-|15-|13 — JI// —]
1.9-]16-{14-|1.2 =] B ——
18-|15-|13-| 1.1 ——
17-114-[12-] 1 -4 — | A —
16-|1.3-|1.1-| 0.9 = T
15-[12-] 1 -/ 08-L — |

o, (BEAH) 510 20 30 ;Oéb :ksgﬂ (6/?\%7)0 80 90 100

93



B PR in S & MR ER 6 2% LOW BACKLASH WORM REDUCER

Low Backlash Worm Reducer and Motor Mounting Instructions

1 5 8n = <5 WS i ol 23R 1A% B T 22

iar

ZH R E R SR R R RS B A IE
W - WA S EETEZE -
Confirm the motor, and gearbox
size. Clean up the mounting
surface.

ﬁE%LﬁﬁHET MEBEHE -
BIREEADAA -

Remove the motor key if the Check motor shaft size and insert

diameter of motor shaft is under ¢ bushing into input bore if

35. necessary.

MBEMEE @ 35 LUN - BRHE
ARSI -

WMEEE - FRAAARFEBER
IRAATRR - WASIRAREIAEA AL -
Remove the plug on the adapter
plate. Rotate the set collar till the
bolt is line up.

1EEEEEEARREE - KEFERBARFELIINARE

Put the motor into the gearbox ## o

vertically. Tighten the mounting bolt in 1~4
order with torque wrench.

FREBIMFBEBERIBHEE -
Tighten the set collar bolt with
torque wrench.

94

1. BNEHBERE  THEHERE
#HOBEIR -
To be sure to tighten motor first
and then to tighten the set collar
on motor shaft.

2. BT RIEFAEE - LHLR6
7 AoJEAf -
Please assembly in order
according to above steps,
especially for step 6 and step 7.

H[OER -

Tighten back the screw plug.







= iaE o] PR IR R R ADJUSTABLE BACKLASH WORM REDUCER

ANE series

ANE 2510 58 &5 B 48 i ol 3R 42
BERRT BN st BiEE KR B (0~6 7))

o SIRRERS HILRESM
® FAMRASENIR] &
o ERSEEEERDE B B ZEMRA

o T Es5 i
o NEHETEIE HER
o HZEA

o SNEFEMMEN ETEE

ANE Series Adjustable Backlash Worm Gear Reducer
Characteristic: dual-lead design, high output ttorque, high rigidity, low noise, low
vibration and low backlash ( 0~6 arcmin ).

@ Easy to adjust backlash for increasing accuracy and service life.
@ Customerized specifications are available.
@ Suitable for high-accuracy transmission system, indexing, positioning and sizing applications:
e 4th-axis of machine tables
e Rotary tables and index tables
e Robots
e Positioning and sizing devices of various industrial machinery

HEHT Type & #REE Raio:

@ 40#-1/20
@ 50#-1/30
@ 60#-1/40
@ 70#-1/50

ANE ANEOM
OELE#EE Solid output shaft OthZE#HESE) Hollow output shaft

96




Characteristic of ANE Series
ANE Z5I|Z mifStE

EERPFEE MEERERIE

AN EEIBENHERWP L BR OB EAGHRRES AR - Emo & T EEHEOPOEE - ORI ES|EE
EHEEEEREE EEMAER AHRES\mARNEE, MESREEZRABTHEBa)RBEES AR -
AL EBNHERITT/OEE - o] B 5o IR ERES -

LERPEHERMEBENEEZE N fUERAEHEEREAR EEEELABEEESEER -
IBERpVE E A 7 EIBRECS  MEIFR AR AEE ﬁ EEMOLGRE IR B RRERERRERRE - B
FBEARBEREE SR IBRISFNEREN LR BREBIENEE M E - E18miE1Ra0RBRE/)\ -

LERBPRENEANEESRAIPRIORR  BEARZRIT ERNIESEG  WHEBER R HESE RmERE
KEEREDENGEPEERA UEREES RIS NEE-

Principle of Dual-lead Worm Transmission and Backlash Adjustment

The backlash adjustment on a conventional worm / worm gear set is made by moving the worm along
the worm gear in radial direction, which may result in a change of center distance of the transmission set.
Such change of center distance will cause poor contact between teeth, wearing and affection on accuracy
of worm / worm gear set.

However, the backlash adjustment on a dual-lead worm is made by moving worm in axial direction, which
does not change the distance of the transmission set and avoid above problems.

The dual-lead worm features varied teeth thickness. There is a different lead length between the right and
left tooth faces, that creates a continuous teeth shapes. To properly engage with the worm, the teeth faces
of worm gear are also designed with different right and left tooth faces. This permits backlash adjustment
to achieve the best condition.

After a period of operation, if a backlash between worm and worm gear increases due to wear, it can be
adjusted by moving the worm in axial direction until a proper backlash is obtained.

The dual-lead worm transmission allows for changing side backlash to keep correct teeth-engagement at
all times. In addition, it has a compact structure and easy adjustment. Therefore, it is ideally suited for
indexing devices that require continuous accuracy by adjusting teeth backlash to the minimum extent.

97



=15 % th ZE e dE S &8 & %  HOLLOW ROTARY REDUCER

GT series

Indication of Model Numbers
HeTE R B R

I - 1 I - I - [T

IR A A BU5R ) H a2 EEh Btk
Type Model Output Table Supporting Bearing Ratio Motor Type
GT 60 B: & BB (60#~2004) E8FR 1-Stage : 5, 10, 18
85 Ball Bearing 8 EY 2-Stage : 25, 50, 100
110 C: KX R AR (604~200#)
135 Crossed Roller Bearing
170 H: RBRIRBFE AR P ZE (60#) B FEEEHER R H
200 Ball Bearing Output table supporting bearing type H
250 RN R SE K 2 B % 1-Stage : 10, 18
Crossed Roller Bearing £ EG 2-Stage : 50, 100
(85#~250#)
HE Quiet operation
R ES R R e iR BIR RS At iE e - Grinding spiral bevel gear & Helical gears contribute to

reduce vibration and noise.

SRt - SiE High Rigidity & High Torque

FEARYRARTEHE 12 7 BIMAHE - High rigidity & high torque are achived by crossed roller
bearings.

SRVES High Efficiency

RERTE 98% L k- Efficiency exceeds 98%.

98




Characteristic of GT Series

GT S| EmFHE

B E R R

AHME R FRASHEE

AR BENEERAGRANMBHE - WLH
T - LREHAER TSN ENRLERNF
HE - REEROBNEE -

Flexible Motor Connection

The modular design of motor connection plate is
suitable for any brand servomotor and stepmotor.
The input-end and the motor are coupled through a
collet locking meshanism. It has passed dynamical
balance analysis to assure concentricity and balance
on the connection and no backlash for power
transmission while running at high speed.

I
KEASBEBERXX R AR - 155
N EEBEE . ORI E O &

EEEE
ERORHEOERSE - IR
PR

T

foE - ECAR{ER

Hollow Structure Design
Make it convenient for electric
wiring or piping work.

V2 et B ek s

R BRABRERR BEEERR R
TEmHN _EHUE BEEEYIE - BIRE -5
WL HENEE R -

a0

Helical Gear Design

The speed reduction mechanism employs helical
gears, which provides two times meshing rate of
teeth when comparing with regular spur gears.
In addition, it also Specification extremely smooth
running, low noise, high torque output and low
backlash.

S ER
EEENMBEE +10 sec
[FIF2[5Pe < 1 arcmin
BfREEEIRZE 2 arcmin

High Accuracy
Repetitive Positioning Accuracy +10 sec
Torsional Backlash < 1 arcmin

Lost Motion 2 arcmin

BEEG
R O B A E A

Direct Mounting of Workpiece
The rotating table allows for direct
mounting of workpiece for added
convenience in workpiece loading.

SLZIEYEN

TR ARERESGEME - ESHEE CNC M
T Rigflsak  EESHBZBEBE -
ERAOS A ERE REWIE - 153 EE DING
RUA - EHEEEZE HRC58~60 & °

High Precision Gear Machining

The housing of reducer is made by aluminum
alloy, and precision machining by CNC
machine.

Precision teeth grinding assures gear accuracy
reaches DING class and carburized to hardness
58-60 HRC.




SIEE P ZE e F 2k &% HOLLOW ROTARY REDUCER

MODEL : GT-B

RATIO : 5.10.18 ( B E 1-Stage)

C14

14 4-M3X0.5 deepb

B1

85#~200#

B2
B4 B3

100

B10

B9

B5 2-C6H7

C9
C10
C11
C12
C13
C14

(B1) R~ 1/18

30-40-50
M3~ M4 - M5
466360
4655
M4 x 0.7
66
31
6
10
2
45
20
26.5
6.5
29.2
60
69
80.2
4.5
50

M4 x 0.7
38

5 deepb
36
4

ZRECH -

B8

@ B7 Hr
@ B6 H7

PA1

30-40-50
M3~ M4 - M5
46-63-60
46-~55
M4 x 0.7
85.5(86.5)
445
21.5
10
3
70
52
22
31
5
41.6
85
87
11041
5.5
70
4
28
38
M4 x 0.7
62.5
5 deep6b
62.5

13

C3

2-C11 H7
PCD C12

506070
M4 - M5~ M6
70-75-90
64-70-80
M5 x 0.8
88.5(90.5)
45
18
12
3
95
59
30
31.5
5.5
54
110
112
144
6.8
90
5
35
49
M5 x 0.8
80
5 deep6b
80
5
12.5

506070
M4+ M5~ M6
70-75-90
647080
M5 x 0.8
108(111)
55
22
15
3
115
92
50
41
6
66.6
135
138
169.1

110

45
60
M5 x 0.8
104
5 deep6
104
5.5
17

70-80-95-110
M5~ M6~ M8
90-100-115-145
92-110-130
M6 x 1.0
125.5-139.5
70
30
20
4
170
120
75
445-575
8.5-7.5
92.5
200
202
242.5
11
170
8
68
85
M6 x 1.0
155
8 deep8
155

24




Characteristic of GT-B 1-Stage Series

GT-B BB 2SI EmiT 14

2-M3X0.5 Deepb

C13

B2

60#

4-C4 Hr

2-C11 w7
PCD C12

GT-B EERIZRH 1-Stage

%514 Characteristic gfi 110B | 1358 | 200B

ez / .
5~18 RBIR 7% / Ball Beari
Output Table Supporting Bearing e e ———
5 5 18 33 43 142
RE 7E 8 11 145 / Rated Output T
e REICE] O R TEI 2 T | Nm | 10 4 14 26 34 112
(Nominal output torque)
18 3 10 19 25 85
B ANZRIAEE / Max. Acceleration Torque T | Nm |5~18 1.5 ZEEEHLHIE 1.5 Times of Rated Output Torque
E AHIH B / Max. Output Torque 5 . .
= /24145 | Emergency Stop Torque Towvor| Nm | 5~18 2 [EEAEH T HEE 2 Times of Rated Output Torque
EHIES / Inertia Moment kg.m2 5~18 | 777 x10-7 | 1268 x 10-6 | 1562 x 10-6 | 2918 x 10-6 |29072 x 10-6
H A FFEE / Output Permissible Speed rpm | 5~18 300 300 300 300 300
[E1#2/EF4 / Torsional Backlash arcmin| 5~18 <1 <1 <1 <1 <1
)RR = / Lost Motion arcmin| 5~18 2(0.033°)
ENMIEE /
e arcsec| 5~18 +10(0.0028° )
Repetitive Positioning Accurac!
AFFEE | Permissible Thrust Load N 5~18 350 600 800 1450 2500
BFIBSHE / Permissible Moment Load Nm | 5~18 7 12 16 30 50
T{F&E R / Runout of Output Table Surface mm | 5~18 0.01 0.01 0.015 0.015 0.02
TESRIMNE /
. mm | 5~18 0.01 0.01 0.015 0.015 0.02
Runout of Output Table Inner / Outer Diameter!
T{EGFIE / Parallelism of Output Table mm | 5~18 0.02 0.02 0.025 0.025 0.03
BhEZ 4R / Protection Class 5~18 IP65
&= / Weight Kg | 5~18 0.54 117 2.54 3.83 10.09

101




102

SIEE P ZE e F 2k &% HOLLOW ROTARY REDUCER

MODEL : GT-B

RATIO : 25.50.100 ( ¥ 2-Stage)

85#~200#

C6

C10
Cc11
C12
C13
C14

B9

4- M3X0.5 deep6

4-C4

B10

HE)

DA1

Al
o
B1
B2
B4 B3 2-C6Hr
B5
L | ~ ~
o I| T
1 g '\ @
_ m o
Q| ©

30-40-50
M3~ M4 M5
46-63-60
46-55
M4 x 0.7
103
31
6
10
2
45
20
32
4.5
29.2
60
69
80.2
4.5
50

M4 x 0.7
38

5 deepb
36
4

T
s s

30-40-50
M3~ M4 - M5
46-63-60
4655
M4 x 0.7
116.5
44.5
215
10
3
70
52
22
32
5
41.6
85
87
1101
5.5
70
4
28
38
M4 x 0.7
62.5
5 deep6
62.5

13

2-C11 H7
PCD C12

50-60-70
M4~ M5 - M6
70°75-90
64-70-80
M5 x 0.8

131

45

18

12

3

95

59

30

33.5

54
110
112
144
6.8
90

35
49
M5 x 0.8
80
5 deepb
80

12.5

506070
M4 - M5 - M6
70-75-90
64-70-80
M5 x 0.8

141

55

22

15

3

115

92

50

33.5

66.6
135
138

169.1

110

45
60
M5 x 0.8
104
5 deep6
104
5.5
17

506070
M4~ M5~ M6
70-75-90
64-70-80
M5 x 0.8
166.5
70
30
20
4
170
120
75
45.5
10
92.5
200
202
242.5
11
170

68
85
M6 x 1.0
155
8 deep8
155

24




Characteristic of GT-B 2-Stage Series

GT-B 2SI EmiT 14

60#

2-C11 w7

PCD C12

GT-B EERIIEW 2-Stage

4544 Characteristic

2-M3X0.5 Deepb

o 19
®)]
|
& | £
N
@
T ; T
IC1
4-C4 Hr
C5

Unit

G

ez / s
25~100 B R EK M / Ball Beari
Output Table Supporting Bearing D ————"
25 5 18 33 43 142
RE 7E 8 11 145 / Rated Output T
e REICE] O R TEI 2 T | Nm | 50 4 14 26 34 12
(Nominal output torque)
100 4 14 26 34 112
B ANNZEEE / Max. Acceleration T T, | Nm [25~100 1.5 R EM L 1.5 Times of Rated Output Torque
EAHIHHE / Max. Output Torque » FOSEIN .
= /24145 | Emergency Stop Torque Towvor| Nm |25~100 2 [EEAEH T 2 Times of Rated Output Torque
EM1BE / Inertia Moment kg.m? [25~100| 777 x 107 | 1268 x10° | 1562x10° | 2918 x 10° | 29072 x 10°®
H B FFEEE / Output Permissible Speed rpm |25~100 300 300 300 300 300
[E1#2/F4 / Torsional Backlash arcmin|25~100 <3 <3 <3 <3 <3
)RR = / Lost Motion arcmin|25~100 2(0.033°)
ENMEE /
. s e arcsec|25~100 +10(0.0028° )
Repetitive Positioning Accurac!
AFFEE / Permissible Thrust Load N |25~100 350 600 800 1450 2500
BFIEESHE / Permissible Moment Load Nm |25~100 7 12 16 30 50
T{EAME{®E / Runout of Output Table Surface mm |25~100 0.01 0.01 0.015 0.015 0.02
TEBRILE /
. mm [25~100 0.01 0.01 0.015 0.015 0.02
Runout of Output Table Inner / Outer Diameter
T1EGFIE / Parallelism of Output Table mm |25~100 0.02 0.02 0.025 0.025 0.03
BhEZ4R / Protection Class 25~100 IP65
5= / Weight Kg |25~100 1.1 1.95 3.76 4.92 11.8

103



104

SIEE P ZE e F 2k &% HOLLOW ROTARY REDUCER

MODEL : GT-C

RATIO : 5.10.18 ( B E 1-Stage)

85#~200#

B10
B11
C1
C2
C3
C4
C5
C6
c7
C8
C9
C10
C11
C12
C13
C14

(B1) R~ 1/18

30-40-50
M3-M4 M5
466360
4655
M4 x 0.7
66
31
6
10
2
45
30
15
26.5
6.5
29.2
60
69
80.2
4.5
50

M4 x 0.7
38

5 deep6
36
4

ZRECH -

o 19
O
& 0
o
m
s e
q- |
O UM 4-M3X0.5 deep6
B1
B2
0cCA1
B4 B3 C5
[ B5 2C6hr 4-C4
B9
N
(@]
of I E
QN 8
S ml m o ©
] 2-C11 wr 6-C9
PCD C12 PCD C10
unit: mm
200
1924
30:40-50 50-60-70 50-60-70 70-80-95-110 70-80-95-110
M3-M4 - M5 M4~ M5~ M6 M4~ M5~ M6 M5 M6~ M8 M5-M6 M8
46-63-60 70-75-90 70-75-90 90-100-115-145 | 90-100-115-145
4655 64-70-80 64-70-80 92-110-130 92-110-130
M4 x 0.7 M5 x 0.8 M5 x 0.8 M6 x 1.0 M6 x 1.0
77.5(78.5) 80.5(82.5) 95(98) 115.5-128.5 113.5-127.5
36.5 37 42 60 58
13.5 10 9 6 18
10 12 15 36 20
3 3 3 6 4
70 95 115 135 170
52 59 92 104 120
22 30 50 85 75
31 31.5 41 44.5-575 44.5-575
5 55 6 8.5-75 8.5°75
41.6 54 66.6 92.5 92.5
85 110 135 170 200
87 112 138 176 202
1101 144 169.1 2275 242.5
5.5 6.8 9 " "
70 90 110 145 170
4 5 5 6 8
28 35 45 60 68
38 49 60 72.5 85
M4 x 0.7 M5 x 0.8 M5 x 0.8 M8 x 1.25 M6 x 1.0
62.5 80 104 120 155
5 deep6 5 deep6 5 deep6 6 deep8 8 deep8
62.5 80 104 120 155
4 5 5.5 - 9
5 45 4 - 12




Characteristic of GT-C 1-Stage Series

GT-C EERZSEmFtE

8 FﬁT 2-M3X0.5 Deep6
1/
¥
AN
m
( J
60# c1
4-C4 n7 C5
\\\
N
Tp]
™ & ©
3] &
oS
2-C11 w7 6-C9
PCD C12 PCD C10

GT-C EEURIE W 1-Stage

#5M Characteristic 110C | 135C | 170C 200C

ez / o .
SR , , 5~18 5x N 4IfEHBE | Crossed Roller Bearing
Output Table Supporting Bearing
5 5 18 33 43 100 142
28 i L H4E / Rated Output T
et R DU R eI T | Nm | 10 4 14 26 34 ; 12
(Nominal output torque)
18 3 10 19 25 - 85
B ANNZEHREE / Max. Acceleration T T | Nm | 5~18 1.5 ZEEEH L IE 1.5 Times of Rated Output Torque
EAHIH B / Max. Output Torque » SR )
= /24145 | Emergency Stop Torque Towvor| Nm | 5~18 2 EXAEH LA 2 Times of Rated Output Torque
EM1BE / Inertia Moment kg.m? | 5~18 | 735 x 107 [1203 x 10°°|1483 x 102772 x 10°|27619 x 10°|27619 x 10°®
H B / Output Permissible Speed rpm | 5~18 200 200 200 200 200 200
[S|#2fEPK / Torsional Backlash arcmin| 5~18 <1 <1 <1 <1 <1 <1
)RR = / Lost Motion arcmin| 5~18 2(0.033°)
BETEMRE/
EEREEL arcsec| 5~18 +10(0.0028° )
Repetitive Positioning Accurac!
BREF&EE / Permissible Thrust Load N 5~18 500 900 1200 2200 4000 4000
BFIBSHE / Permissible Moment Load Nm | 5~18 10 18 24 45 65 80
T{EAME{RE / Runout of Output Table Surface mm | 5~18 0.01 0.01 0.015 0.015 0.02 0.02
TEERLE/
. mm | 5~18 0.01 0.01 0.015 0.015 0.02 0.02
Runout of Output Table Inner / Outer Diameter!
T1EGFIE / Parallelism of Output Table mm | 5~18 | 0.02 0.02 0.025 0.025 0.03 0.03
BhEZ4R | Protection Class 5~18 IP65
5= / Weight Kg | 5~18 0.62 | 11 | 2.04 | 3.13 | | 8.66

105




106

SIEE P ZE e F 2k &% HOLLOW ROTARY REDUCER

MODEL : GT-C

RATIO : 25.50.100 ( ¥ 2-Stage)

o 19
O
- | -
B ]
LR ]
3 M\ 4-M3X0.5 deep6
B1 5 - .5 deep
85#~2004# > et
B4 B3 -
Ao, Tﬁ B5 2-C6H7 C5 aca
B9
B10
1853
O ~| ©
. m| o
SRS
° dleh
i < 0 ||
| -
242, T 2-C11 w7
PCD C12
unit: mm
135 170 200
14 19 19
30:40-50 30:40-50 50:60-70 50-60-70 50:60-70 50-60-70
M3-M4-M5 M3-M4 - M5 M4 - M5~ M6 M4-M5 -~ M6 M4 - M5 M6 M4 - M5~ M6
46-63~60 46-63-60 70-75-90 70-75-90 70-75-90 70-75-90
4655 4655 64-70-80 64-70-80 64-70-80 64-70-80
M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M5 x 0.8 M5 x 0.8
103 108.5 123 128 156.5 154.5
31 36.5 37 42 60 58
6 13.5 10 9 6 18
10 10 12 15 36 20
2 3 3 3 6 4
45 70 95 115 135 170
30 52 59 92 104 120
15 22 30 50 85 75
32 32 33.5 33.5 45.5 45.5
4.5 5 6 6 10 10
29.2 41.6 54 66.6 92.5 92.5
60 85 110 135 170 200
69 87 112 138 176 202
80.2 1101 144 169.1 227.5 242.5
4.5 5.5 6.8 9 11 11
50 70 90 110 145 170
C6 - 4 5 5 6 8
Cc7 - 28 35 45 60 68
C8 - 38 49 60 72.5 85
C9 M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M8 x 1.25 M6 x 1.0
Cc10 38 62.5 80 104 120 155
C11 5 deep6b 5 deep6 5 deepb 5 deepb 6 deep8 8 deep8
C12 36 62.5 80 104 120 155
C13 4 4 5 55 - 9
C14 - 5 4.5 4 - 12




Characteristic of GT-C 2-Stage Series
GT-C EE XS EmEtE

8 19 2-M3X0.5 Deep6
L/
& | £
AN
m
[ ]
60#
c1
4-C4 Hr C5
\\ N
N
Te]
10
(@]
™
2-C11 w7 6-C9
PCD C12 PCD C10

GT-C EE 521 2-Stage

ez / o .
PTEsE _ , 25~100 SRR #E | Crossed Roller Bearing
Output Table Supporting Bearing
25 5 18 33 43 100 142
RE 7E 8 11145 / Rated Output T
e REICE] O R TEI 2 T | Nm | 50 4 14 26 34 ; 12
(Nominal output torque)
100 4 14 26 34 - 112
B AMNZRIAEE / Max. Acceleration T T, | Nm [25~100 1.5 ZEEEH L IE 1.5 Times of Rated Output Torque
EAHIHHE / Max. Output Torque 5 AN )
= /24145 | Emergency Stop Torque Towvor| Nm |25~100 2 EXAEH LA 2 Times of Rated Output Torque
24182 / Inertia Moment kg.m? [25~100|735 x 1071203 x 10°°{1483 x 10°(2772 x 10°|27619 x 10°(27619 x 10°
H AR / Output Permissible Speed rpm |25~100| 200 200 200 200 200 200
[S|#2fEP&K / Torsional Backlash arcmin|25~100| <3 <3 <3 <3 <3 <3
)RR = / Lost Motion arcmin|25~100 2(0.033°)
BETEMRE/
‘ N s e arcsec|25~100 +10(0.0028°)
Repetitive Positioning Accurac!
BFFEE / Permissible Thrust Load N [25~100| 500 900 1200 2200 4000 4000
BFIBEHE / Permissible Moment Load Nm |25~100 10 18 24 45 65 80
T{YEAME{REE / Runout of Output Table Surface mm [25~100| 0.01 0.01 0.015 0.015 0.02 0.02
TEaRLE/
. mm [25~100| 0.01 0.01 0.015 0.015 0.02 0.02
Runout of Output Table Inner / Outer Diameter!
T1EGFIE / Parallelism of Output Table mm |25~100| 0.02 0.02 0.025 0.025 0.03 0.03
BhEZ4R / Protection Class 25~100 IP65
&= / Weight Kg |25~100 1.1 | 1.78 | 3.51 | 4.21 | 10.3 | 10.3

107




85#~250#

4-A3
PCD A4

A1 8-14 1419 19-24

N A2 30-40-50 30-40-50 50-60-70 50-60-70 70-80-95-110
A3 M3~ M4-~M5 M3-~M4-~M5 M4~ M5~ M6 M4-~M5- M6 M5~ M6 - M8
A4 46-63-60 46-63-60 70-75-90 70-75-90 90-100-115-145
A5 4655 4655 64-70-80 64-70-80 92-110-130
A6 M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M6 x 1.0
B1 66 77.5(78.5) 88.5(90.5) 101(104) 125.5-139.5
B2 31 38.5 45 48 70
B3 6 13 17 12 25
B4 10 10 12 15 20
B5 2 3 3 3 4
B6 45 70 95 115 170
B7 - 52 59 92 140
B8 26 33 40 63 100
B9 26.5 31 31.5 41 44.5-57.5
B10 6.5 5 585 6 8.5°7.5
B11 29.2 41.6 54 66.6 98.5
C1 60 85 110 135 200
Cc2 69 87 112 138 202
C3 80.2 1101 144 169.1 248.5
C4 4.5 5.5 6.8 9 11
C5 50 70 90 110 170
C6 - 4 5 5 8
Cc7 - 28 35 45 68

C Cc8 - 38 49 60 85
C9 30 30 45 30 30
C10 M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M6 x 1.0
C11 38 62.5 80 104 155
C12 5 deep6 5 deep6 5 deep6 5 deepb 8 deep8
C13 36 62.5 80 104 155
C14 4 4 5 5.5 9
C15 - 5 4.5 4 12

(B1) R~ 1/18 3&LLF -

108

SN

RATIO : 10.18 ( B E& 1-Stage)

SIEE P ZE e F 2k &% HOLLOW ROTARY REDUCER

MODEL : GT-H

-
-
m

%

N 19
O |
i 4%14» |
o L]
| o
O
B1 5 ﬂ\ 4-M3X0.5 deep6
B2
oc1
B4 B3
g5 2:C6 Hr C5 4-C4
BO,_ | | (O &
B1Q 6" < N
— | = %= @ ©
—t- 0 ~| © + [ 3
| S 0 o &
T SIS [+7] o | N~
H— O © © o>/ O
Y Rt ) & 9
| | L. .
cei= Ay BN S== CIE
< il
Q ,7M,JJ |
) 2-C12 Hr 6-C10
PCD C13 PCD C11
7/ |V A—
cs8 _|_ cs
unit: mm

14 35

95-110-114.3
M6~ M8~ M12
115145200
122-130-180
M10 x 1.5
184
84
275
25
5
218
160
120
82
10
122
250
254
307
13
220
10
90
110
30
M8 x 1.25
200
8 deep14.5
200
9
8




Characteristic of GT-H 1-Stage Series

GT-H EERZS|EmFHE

2-M3X0.5 deep6

B2

4-C4 Hr_ C5

2-C12 H7
PCD C13

GT-H EERIZR 1-Stage

$544 Characteristic ﬁilt 110H | 135H | 200H | 250H

ez / IR /
10~18| "o R NEREBEARPE/C d Roller Beari

Output Table Supporting Bearing Ball Bearing - = (e IRl ey
ZAEE LB / Rated Output Torque r - 10 & 14 26 34 183 334

(Nominal output torque) » 18 3 10 19 25 128 234
EANNZRIREE / Max. Acceleration Torque T,; | Nm [10~18 1.5 {FEAEH LA 1.5 Times of Rated Output Torque

Tovor| Nm |10~18 2 ZEEEE LR 2 Times of Rated Output Torque
{8E / Inertia Moment kg.m*|10~18| 777 x107  [1203 x 10°[1483 x 10| 2772 x 10°°[27619 x 10°{53551 x 10°°
H AR / Output Permissible Speed rpm [10~18 300 200 200 200 200 200
[E|#2f&P&K / Torsional Backlash arcmin|10~18 <1 <1 <1 <1 <1 <1
E)REER SR / Lost Motion arcmin|10~18 2(0.033°)
BETEMBE /
N o arcsec|10~18 +10(0.0028°)
Repetitive Positioning Accurac
BEFFEE / Permissible Thrust Load N [10~18 350 900 1200 2200 4000 5060
BFIBEHE / Permissible Moment Load Nm [10~18 7 18 24 45 120 100
T{E&E%H# / Runout of Output Table Surface mm [10~18 0.01 0.01 0.015 0.015 0.02 0.025
TEEERLE /
. mm |10~18 0.01 0.01 0.015 0.015 0.02 0.025

Runout of Output Table Inner / Outer Diameter
T{EG¥F1TE / Parallelism of Output Table mm |10~18 0.02 0.02 0.025 0.025 0.03 0.035
BhEZ4R / Protection Class 10~18 IP65
EE / Weight Kg [10~18 | | | | |

109




110

SIEE P ZE e F 2k &% HOLLOW ROTARY REDUCER

MODEL : GT-H

RATIO : 50.100 ( ¥ 2-Stage)

85#~250#

C6

C10
C11
C12
C13
C14
C15

3 19
o !
i & I &
N N
RN
0 J\
- 14 4-M3X0.5 deepb
O
B1
B2 £c1
B4 B3 2-C6H7 C5 4-C4
B5
- _D- Aa
B9 X\g) z @ﬂ S %
-1 X
B1Q @ @ 5
| % BE Q ©
| S E 8 Q’ T o
ASIRSY 3] o | I~
T O] © © 8) (@]
© bl B NN ¢ L X0
R{ma i & R ‘ W
242,55 L[ B 2-C12 hr /é"< 6-C10
PCD C13 )
- PCD C11
cg | cs8
unit: mm
200 250
19 19-24
30-40-50 30-40-50 50-60-70 50-60-70 50-60-70 70-80-95-110
M3~ M4-~M5 M3~M4-~M5 M4~ M5~ M6 M4-~M5- M6 M4-~M5- M6 M5~ M6~ M8
46-63-60 46-63-60 70-75-90 70-75-90 70-75-90 90-100-115-145
4655 4655 64-70-80 64-70-80 647080 92-110-130
M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M5 x 0.8 M6 x 1.0
103 108.5 131 134 166.5 198-212.5
31 36.5 45 48 70 84
6 13 17 12 25 275
10 10 12 15 20 25
2 3 3 3 4 5
45 70 95 115 170 218
- 52 59 92 140 160
26 33 40 63 100 120
32 32 33.5 33.5 45.5 51-65.5
4.5 5 6 6 10 8:22.5
29.2 41.6 54 66.6 98.5 122
60 85 110 135 200 250
69 87 112 138 202 254
80.2 1101 144 169.1 248.5 307
4.5 5.5 6.8 9 11 13
50 70 90 110 170 220
- 4 5 5 8 10
- 28 35 45 68 90
- 38 49 60 85 110
30 30 45 30 30 30
M4 x 0.7 M4 x 0.7 M5 x 0.8 M5 x 0.8 M6 x 1.0 M8 x 1.25
38 62.5 80 104 155 200
5 deep6 5 deep6 5 deep6 5 deepb 8 deep8 8 deep14.5
36 62.5 80 104 155 200
4 4 5 5.5 9 9
- 5 4.5 4 12 8




Characteristic of GT-H 2-Stage Series

GT-H £ &S| EmfFHE

A 19 2-M3X0.5 deepb
O i
%5 £
o
)
60+ .
4Camr c5

2-C12 H7
PCD C13

GT-H ZE2 R 21 2-Stage

#51M Characteristic 110H | 135H | 200H | 250H
100

B FaZ g/ B TR R B
P2 X X 7‘; o /\Q N s ( oo .

Output Table Supporting Bearing / Ball Bearing XX R BRI F KD ZE / Crossed Roller Bearing
REEE L ZE / Rated Output Torque

. Tov | Nm 100 4 14 26 34 183 334

(Nominal output torque)
B ANNZEAEE / Max. Acceleration T, | Nm 100 1.5 fEREEH LI 1.5 Times of Rated Output Torque
A AR / Max. Output Torque - )
B S TR e Tovor| Nm 100 2 [BEEEH LA 2 Times of Rated Output Torque
B4 182 / Inertia Moment kg.m?> | 100 777 x 107 [1203 x 10°{1483 x 10°|2772 x 10°|27619 x 10°®
B FFEIR / Output Permissible Speed rpm 100 300 200 200 200 200 200
[EI*2[EPR / Torsional Backlash arcmin| 100 <1 <1 <1 <1 <1 <1
ENREE#RZ= / Lost Motion arcmin| 100 2(0.033°)
EBEMREE / .
N o arcsec| 100 +10(0.0028°)
Repetitive Positioning Accuracy
AFFEE | Permissible Thrust Load N 100 350 900 1200 2200 4000 4000
B 1B8=EE / Permissible Moment Load Nm 100 7 18 24 45 120 100
T{E&E®H# / Runout of Output Table Surface mm 100 0.01 0.01 0.015 0.015 0.02 0.025
THESRLE /
. mm 100 0.01 0.01 0.015 0.015 0.02 0.025

Runout of Output Table Inner / Quter Diameter
TEE1TE / Parallelism of Output Table mm 100 0.02 0.02 0.025 0.025 0.03 0.035
BhEZ4R / Protection Class 100 IP65
E = / Weight Kg 100 | | | | |

111




=15 % th ZE e dE S &8 & %  HOLLOW ROTARY REDUCER

Glossary

o 2R S5 2 e e e

Tl = VY
EARBGLFERY
B TR E -

Output Table Supporting Bearing
This is the type of the bearing used for the output table.

ERE# L IHAE [N.m]
ERE R R B O LUINSER AR -

Reted Output Torque [N.m]

This is the limit of mechanical strength of the speed reduction mechanism. Make sure that the applied
torque, including the acceleration torque and load fluctuation, does not exceed the permissible torque.

B NI / 2R (Tonor) IN.mM]
FE R R % B L I PRBE N SRV B AR AE - BIEH AR D m R S a2 ANNEL 1000 R - 878 1000 RIJFESZ IS AL
NERZHAVBIR - (HRE: GT Z2IKEELSS Tovor = 2- Top; B 2 (EEAEELHRE ) -

Max. Output Torque / Emergency Stop Torque (Tyyor) [N-m]

The emergency stop torque 7,,,; is the maximum permissible torque at the gearbox output end and must not
be reached more than 1000 times during the service life of the gearbox. It must never be exceeded to prevent
inside parts from damage. LIMING GT 7, = 2- Ty (2 times of rated output torque)

BHIEE [kg.m?]

HRERBEEIEEERENE-

Inertia Moment [kg.m?]

This is the total sum of the inertial moment of the speed reduction mechanism converted to a moment on
the output table.

HEANEFFEE [rpm]
IR MR S AR E L e

Output Permissible Speed [rpm]

This is the output table speed that can be tolerated by the mechanical strength of the speed reduction
mechanism.

[EIF2 & () [arcmin]

fEREE L AW Al R ARER RERTHEREAREEE AREE L HMNSAEHER 2% H
B Rl A I L i IE R BB R A — B WA - ItAUBRIRLIERR - EARE "D " B—ErARt+0Z—
e

Torsional Backlash (;,) [arcmin]

Torsional backlash j, is the maximum angle of torsion of the output shaft in relation to the input. Torsional
backlash is measured with the input shaft locked. The output is then loaded with a defined test torque
(2% rated output torque) in order to overcome the internal gearhead friction. The main factor affecting
torsional backlash is the face clearance between the gear teeth.

BRSEPR = [arcmin]
ENEREBEMEEE - #fEHFaEEEUER EEAOEUR Bt FEsamcaEuUsEEuRELIAEY

Lost Motion [arcmin]

This is the difference in stopped angles achieved when the output table is positioned to the same position
in the forward and reverse directions.

112



Glossary

ol 2R S5 2 e e e

BB ENISEE [arcsec] -
ERUBREAOREBEAREELSREE-

Repetitive Positioning Accuracy [arcsec] \
This is a value indicating the degree of error that generates when positioning is performed repeatedly to

the same position in the same direction.

BRFHEE [N]
NN L P E R T B NS ERNEAE

Permissible Thrust Load [N]
This is the permissible value of thrust load applied to the output table in the axial direction.

BFFEEHE [N.m]
witmb Vet oRONUERNSER EEERLFSERNIERD -
SRR PONROE x SEMENEEAERTE-

Permissible Moment Load [N.m]
When a load is applied to a position away from the center of the output table, the output table receives a

tilting force. The permissible moment load refers to the permissible value of moment load calculated by
the eccentricity from the center by the applied load.

TrramifmiEE [mm]
ERAH ML TEEER BEVYeaRRKENRERAE"

Runout of Output Table Surface [mm)]
This is the max. value of runout of the installation surface of the output table when the output table is

rotated under no load.

TAEaRE)OE [mm]
ERAH ML FEEER  FeREIIMENRBERAE-

Runout of Output Table Inner / Outer Diameter [mm]
This is the max. value of runout of the inner diameter or outer diameter of the table when the output table

is rotated under no load.

TAEEF1TE [mm]
R 22 R E A L T AR R R EENAEE -

Parallelism of Output Table [mm]
This is the inclination of the installation surface of the output table compared with the actuator installation

surface on the equipment side.

M€ E AR
28R 1P65 - MIRERLE  iSEHEY - BIKIERERDE -

Protection Class
Based on IP65, dustresistance and waterproofing regarding the degree of protection of the device is

classified using a grade.

B & Weight [kgd]
EYESE- Product weight.

113



=15 % th ZE e dE S &8 & %  HOLLOW ROTARY REDUCER

Permissible Moment Load

SHBENE

GT60/GT85/GT110/GT135/GT200

GT60/GT85 : [ o01]"2 GT60/GT85 : [#To01]?

GT110/GT135 :[#Jooss]"2  —  GT110/GT135 : [Joors]

#0022 GT200 GT200 : [0z |
e

11?:;FEParallelism

& GT60/GT85 : [//[002 [A]®
GT110/GT135 : [//[o0zs[4]"3
GT200 : [//To0s [a]2

o iEMotor

* & B e mixig
Runout of output table surface

* 28 B e N IMEIRIE
Runout of output table inner and outer diameter

*IHMEFEFTE (LEAEZRE)
Parallelism of output table (against the installation surface)

TrraERE  EEARH M RLFaEER AL FaZEENREEAE-

TrEERLE REAH M FaEER  TaRnKasMENREEHZAE -

TEFTE DR EE LR AR L FanNZEEERNREE -

Runout of Output Table Surface: This is the max. value of runout of the installation surface of
the output table when the output table is rotated under no load.

Runout of Output Table Inner / Outer Diameter: This is the max. value of runout of the inner
diameter or outer diameter of the table when the output table is rotated under no load.

Parallelism of Output Table: This is the inclination of the installation surface of the output
table compared with the actuator installation surface on the equipment side.

114



Permissible Moment Load
SHEEHS

BEsE LAY ER B —
Distance From Center £
of Rotation L[mm] FINl =&
O
s <
=
| T{EFAaTable #o
i S ———
+ 1+
:IT_ | ]|
| @ |
o HEMotor
|

BE&EMoment Load [ Nm ] =0.001 x F(N) x L(mm)

BEFHESIENENE (2EE)

Fwae LhNEEHERE5EE -

B WS USEEEEFEFRA—EALOE BRLFaEE0iER L NEE-
EEHEEIEEMAEERE  S#USKH2E-

Displacement by Moment Load (Reference Value)

The output table will be displaced when it receives the moment load.

The graph plots the table displacement that occurs at distance L from the rotation center
of the output table when a given moment load is applied in the negative direction.

The displacement becomes approximately twofold when the moment load is applied in
both the positive and negative directions.

115




152 P 22 e 88 Y 5 & % HOLLOW ROTARY REDUCER

Applications

=
=1

o 2R %% i P 2 51

Ot AR SRVER OSREEMNEH

OfE AP Z=AREH

116



Hollow Rotary Reducer and Motor Mounting Instructions
SEE 2 e 8- 2R iR ik B FH = L A< Ha e

2 SIER SR B RIS B2 A LE
i - WS EERRGZS -

Confirm the motor, and gearbox Remove the motor key if the
size. Clean up the mounting diameter of motor shaft is under ¢

WNFEIEMEE ¢ 35U - BFHE
MRy =E -

WMEBELHEBMRT  UFEHE -
AEITEEANILA -

Check motor shaft size and insert
bushing into input bore if
necessary.

surface. 35.

1S REEE B A RER -
Put the motor into the gearbox
vertically.

HEEE  FRAAANRFEEER
WRAAFRR - WA IR AR B LN -
Remove the plug on the adapter
plate. Rotate the set collar till the
bolt is line up.

FERRNRFBBEIRIBMHER -
Tighten the set collar bolt with
torque wrench.

KO -
Tighten back the screw plug.

KEERABARFHLIIANER
Tighten the mounting bolt in 1~4
order with torque wrench.

1. BN HERE  ToEHERE
HOVEEIR -
To be sure to tighten motor first
and then to tighten the set collar
on motor shaft.

2. BRERIEFAE - LHDEG
7 ATJERfA -
Please assembly in order
according to above steps,
especially for step 6 and step 7.

117



Bushing
BHE

HEANESFTERERBE R B -
PRPRENER NEERBAME R
e AV B L S S A U EPEE R E -

d
S

EEw ALK
Shaft Bore
2B oA 11 14 19 22 24 28 35 38 42 48
WE AL
Bushing Bore
[ ]
[ J

6 ([ ] [ ]

6.35 ()

12.7

-_—
N
e & 0 o
e © 6 06 06 0 O

2222 (]

118



Collet Locking Mechanism
SRS RER T

S ERERUE
Collet Screw
GBS

HEIR
Set Collar

B L

Input Shaft

AN E$H3}I\—x\
Motor Shaft

BEIRIR 44 KB EIRIAAEER Collet Screw & Collar Torque Table

piviE:

=T 4 AL EY 5[ ER
Model BEBRMIE | Bukzsg | Rl BEHD
WE Spec. of Collet Screw | Screw Grade Uit EepE |- G VoL
ANE
30 60
-85 | a0 o M4 x P0.7 12.9 4.83 87
o 110
| 75 | 80 135 M5 x P0.8 12.9 10 164
200( Ex 2-Stage)
ﬁ% 90 ?8 200( 2863 1-Stage) M6 x P1.0 12.9 163 233
140 };g - - M8 x P1.25 12.9 41 423
170 | 140
160 | - ; M10 x P1.5 12.9 81 678
210 | 100

X BiEMERIBBEIRMIER  TJBEERITIE - It will cause slip when motor torque exceed clench torque.

119



Clamping Sets
I EA

HEHB .
Shrink Disc B SHEE A

Shrink Disc A 9#*%*@*&
Outside Hexagon Bolt

HESS
Bushing

Washer

% HETEE Clamping sets
YR AR SH X AR BEHE

Oﬁutj;f?}BLﬁe s IR R R REEE Tighten Torque | Clench Torque ﬂ?%%{%
(mm) pec. of Screw | Screw Grade (Nm) (Nm) Quantity of Screw
?g - 30 314 M6 x P1.0 129 16.3 127.53 6
90 - - 18 M6 x P1.0 12.9 16.3 196.2 6
- 55 | 40 @20 M6 x P1.0 12.9 16.3 196.2 6
110 - - @22 M6 x P1.0 12.9 16.3 353.6 8
- 75 28 @25 M6 x P1.0 12.9 16.3 353.6 8
- 90 | 70 @30 M6 x P1.0 12.9 16.3 353.6 8
140 - - @32 M6 x P1.0 12.9 16.3 735.75 8
170 | 115 - @40 M8 x P1.25 12.9 41 882 8
- 130 - 48 M8 x P1.25 12.9 41 882 8
210 - - @50 M8 x P1.25 12.9 41 1400 8
- 140 - @55 M8 x P1.25 12.9 41 1600 8
- 160 - @60 M8 x P1.25 12.9 41 2200 8
- 190 - @70 M10 x P1.5 12.9 81 2880 8

120



Selection Table of Motor for Reference

BiEERSER

B EZ 1-Stage

- - 6575 - 90 110 140 170 - 210

- 60 70 - - - - - - -
55 75 90 115 130 140 160 190

30 40 50 60 -~ 70

ATAE
8-9-11 1419 | 19°24 | 22-24 | 2832 38 42-48-55

90 ~ 110 140 170 210 -

75 - 90 115 130 140 160 | 190
85 110 - 135 |

200 -

AN

EREESIE ‘9~ 14 . 19-24 | 22-24 | 2832 38 |42-48-55
°

121



LIMING REDUCERS

AlE)ENERER S BT

SRR A% Reducers for Servo Motor

SERITE R EM High Precision Planetary Reducers

. s SIS AR
B8 E AR i B B 2R 1 High Precision
High Precision Right Angle Reducers Harmonic Reducers Cycloidal Reducers

18 Ak PR R 22 e 88 S = sl 3R
Hollow Rotary Actuator Reducers

& . ‘,—

i
o
bt
.
A
<5
+ =
-

122



LIMING REDUCERS
FIRR AL R 1% 2 51 E am

—RREEN 3R General Speed Reducers

B8R 3k 1% Gear Reducers

— A% B E)R 1% Reducers

_E I

123



Inquiry Information
RAZREIEE R

fEAR S

Servomotor -

TEREE] B

R BISR L Hjj]imﬁiﬁ BREMR FHIERISE
Type Model Ratio Output Shaft ~ Backlash Class MOTOR NO.
Keyway
H=CCER General Notices:
oiE  BUSE  F5 D + Type, model and horsepower
*RREE B S0 #E 2 + Speed ratio or R.P.M of output shaft
AR S T + Method of connection and loading
* = R LRI 2 TE + Quantity and applied mechanism
*ANFB AN ER + Input connection method and input speed
*BEMME RS ABE R S ER T + Motor band Model no or frame & motor shaft dimension
NSIEZE BN
Company Name Contact Person
ik
Address
B BE BEfE%
Tel Fax E-Mail
=Fd
Notes

124




2019 £ 11 Ak

-HREMAR - AEBSEBRHmRE - FRE -

- BRENRIR M IR A % - DRI EBYHEEEE - BrE

- EmEBENRRERS - IFEARTIFEE - AFEHANEHATE S HERR -

- AEHBREBEMFREKTE - BRAREES  KBRAEMESR - SR BEREEBASETER -

November, 2019

- We ask for your understanding if due to product improvements and the product in this catalogue
have not yet been update.

- We also ask for your understanding if due to printing limitations the objects and colors in this
catalogue do not match the actual products exactly.

- The products in this catalogue have been registered with the patents office.

- The reprinting of this publication in any from or the imitation of any of the products described within

is expressly forbidden without the express permission of the LI MING MACHINERY CO., LTD.

125



High Accuracy & Efficiency Profit

& LIMING

FISE WD BERAT

LI MING MACHINERY CO., LTD.

BfmEFEES R 16858

No. 168, SEC. 1, Tan Fu RD.,

Tan Tzu DIST., Taichung City 42753, Taiwan
Tel:886-4-25314888 Fax:886-4-25338982
http://www.li-ming.com E-mail:info@li-ming.com



